AGIOGD

5)) 7] & 58
25 H R B ]
HENMERT 2T

POWER CHUCKS ROTARY CYLINDERS CLAMPING SERIES

www.autogrip.com.tw



FESEN SRS RV N s SRR RSN BN NS VEE SN BN )

EEEIROARAS  AUTOGRIP MACHINERY COMPANY

EEEH 1989 FMIUNREE - LI AUTOGRIP mRETIHEIK - SERENNKEE - ZMEEEIHEBHERFRIERDN
MERARE - RTHRGRERBICABRT RERT -

AUTOGRIP machinery was established in 1989 in Taiwan. Our product lines focus on the power chucks,
rotary cylinders and automatic clamping series. We provide the optimized solutions and services for our
customers worldwide.

RERIE LOCATION OF AUTOGRIP

EEREANREE(E L, AN 4000 MERICELIR - EEER —RAemENER °
PREIWIUES - EMERYE - BASEFREE -

Our factory locates in the middle part of Taiwan, the campus occupies 10,000 square meters.

AUTOGRIP makes world-class high-quality products and services with high customer satisfaction.

A AUTOGRIP www.autogrip.com.tw



AGTIOG >

K== AUTOGRIP'S BUSINESS PHILOSOPHY

FEMEHEET  BOIRREHREREENERERT -

With integrity and commitment, we provide the most professional products and services for the customers.

BMREEE \WEARE FROM TAIWAN

EEBHRAENERESER ML - ERTERE - FIEILRRRMNERBRBNSER® - 2EMA -
EAESHMASBEENSMmE - RMNEREFRFREAEFOE  EERIRREHEBCN THRSERT RERT -

All the products of AUTOGRIP are designed and made in our hometown-Taiwan. You can find that our
products have a strong Taiwan spirit- solid and durable, with high rigidity and high precision.

Our company has a good reputation in the industry. AUTOGRIP is devoted to providing the optimized
solutions and service for the workpiece clamping needs.

www.autogrip.com.tw AUTOGRIP B



cd
e
=

EERMMEEANSERE

AUTOGRIP MECHANICAL TESTING LAB.

1*””1%*%&’&/%5555 ENi S A 1%5—1
it - REmmBERERBEBNESE - Em LA -
m?ﬂ-@%iﬁfﬁ“ﬂ’]ﬂaﬂ ““‘EHJ—DDD’T&“':&*%}*??SEQEHE
- Em A*JLLEEF‘TL’ SRR BRERNERS
BE—  BEFNERIEE  REHEEFRZLONEMR
s AR -

AUTOGRIP mechanical testing lab. continues to
develop reliable test equipments and technique for
controlling the product quality. Before the new product
is launched to the market, the products will go through
a series of tests to ensure that the performance and
accuracy meet the design specifications. Products in
the manufacturing process are also tested regularly to
ensure the products are of good quality and consistent.

The Lab controls the quality for the customers and
provides customers with the most satisfied experience
when using the products.

C AUTOGRIP www.autogrip.com.tw



BRI A

Dynamic Gripping Force Test
o FIRRFHRAE  SRERESHEBILEADT - RERRFOEEHMERAEE -

e The curve of gripping force against rotary speed is obtained via force sensor at a given test

condition.

ENEERIZ HH4EE  Gripping Force Graph

-0 Autogrip 3H-206
- ENHEER

‘1\\
i~

@
8
o

F&#5 7 Clamping force(kN)

o 1000 2000 3000 4000 5000 6000
#3% speed (r.p.m.)

.
ek R =Rl
Dynamic Oil Leaking Test
o SHHBIIEARERTIERE  BREFSHE -
e The oil leaking of cylinder is measured at different rotary speed to ensure it is within
engineering specification.
R REFHEMARE Total Leakage Characteristic Graph
> AASRE W BILLREE Model THAS36
31
3
< 29
E 28
T 27
g 2
g 25 /-/.
= 24
S 23 i
@ 22
® 2
0 1000 2000 3000 4000 5000 6000 7000
##3% speed (rp.m.)
v

www.autogrip.com.tw AUTOGRIP D



www.autogrip.com.tw




www.autogrip.com.tw

TERREARMENERE
Why AUTOGRIP?

1. PR HEEEARETEI4E Custom design service
ERIEERN : BEERFARBRMNEIRSR - RIAZHEL - BB REAOEE
B8 BRI - DB EMRBATKEHRTE -
Example: Solution of automatic workholding and workpiece seating confirmation,

special requirement on air/hydraulic cylinder, rotary valve, rotary joint, or
customized soft jaw/hard jaw.

2. BIEE) NARGEN 2R LEEFL  Variety of chucks & cylinders
BOKER : BN~ AN, BRNTE , BN, UEN , GRKELASAERNBEER
F&5 -

WEE : Rz - PE - TREH  EK/OER CHEBR/RE - Bl SR HEBREES
BESREE -

Chuck: 1-jaw to 6-jaw chuck from 3" to 79", Extra long stroke, Pull back, Stationary
chucks, Collet chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke control, Coolant/air connection, Air
cylinder, Double rod, Compact style.

3. RIENREM =R FASTER DELIVERY AND SATISFIED SERVICE.

AUTOGRIP F



SWING TYPE THREE-JAW CHUCK
1B B R 14 — T\ AR BB -~
[ ]
AUTOGRIP [
NG

BEEMS 2020
TAIWAN EXCELLENCE
W IR BN A B = T 5 A
SWING TYPE THREE-JAW CHUCK

Y58 | FEATURES

o BERFILHE  BIEFEUNE -

- BEoBRHREHNEHERRE AEEK20E -

o RMEARAK 5 ERTRERHERHT -

o BFKRRBIBRE -

Grip the work piece in radial direction and then pull down.
Gripping on forging or casting part with taper up to 20°
Jaw equalizing: 5°Max.

Anti-dust and Seal proof for cutting fluid,easy to maintain.

G AUTOGRIP www.autogrip.com.tw



LARGE THRU-HOLE AIR CHUCK

AAEPERE) KA

AUTOGRIP

8215 m2018
TAIWAN EXCELLENCE

=M SHERAM
- PATENTED AIR FEED SYSTEM
chZo #U - SMHTERSA - BARE C WEMER -

o BAMAMKE  JRAMAMENRRE - EiR

” REFLE -
&h‘@: | FEATURES e Built-in cylinder / Check valve.

o BABALE - @52mm-@375mm - = Pressure detection [ Unique design.
waABEMMNL -

SMiRz%  ARREM -

BERERRRR HELRREENE -

Large thru-hole : @52mm~@375mm.

No distributor ring needed.

Easy to install.
Less maintenance.

E =5 PRODUCT PATENTED

=B US8770222 B2(U.S.A)

5%  M440159 / M415011 (Taiwan)

1= 20.2011.101.818.4/20.2012.102.498.5(Germany)
HZA 3169457/ 3178706(Japan)

Ei88  EP 2517822 B1(EU)

ARBE  ZL 2011 2 0141324.9/ZL 2012 2 0274549.6(China)
FAF  0000278076(ltaly)

www.autogrip.com.tw AUTOGRIP H



POWER CHUCK FOR VERTICAL LATHE

B BB KHKE) T 5RER

AUTOGRIP

3 Vs;?;i“

AN E O] The maximum diameter is

2000mm(79")
Y5t | FEATURES |
o EMASE/RT: B3, 48 6MFHT -

o BEZMpEEE - o HE:12-79" EEEZ -

o FMOIFERETE, URITHKD - o EFEENEL - RE Z5 -

- BEtIBREIKSRET  BRESERR ISR - « Various Models | Size:

e It's a WEDGE-HOOK type 3-jaw high speed power chuck. Available in 3, 4 and 6-jaw versions .

e With manual radial setting of master jaws for the * with sizes 12 to 79 inch diameter.
workpieces centering. = Rotary cylinder : RE series .

= Sealed against swarf, chips and coolant, suitable for
vertical lathe.

| AuTOGRIP www.autogrip.com.tw



POWER INDEXING CHUCK

H &) E 38R

AUTOGRIP

1S

EHEN7 E 38

Power Indexing Chuck

Y5t | FEATURES

o THEBBRPETHEERNF IRZELFMZEBETREES -
o REASHIOERCREBME  TEEE?E -

o BKRBIBRET -

- SHMERBRBEERE -

- BENDERRANBRELZGE  KEAEBNBAKE  JRUS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.

www.autogrip.com.tw AUTOGRIP J




STATIONARY CHUCK BASE PLATE

17 & AR GR R

AUTOGRIP

MP4 e
MULTI-PLATE.4-PLATE

Y5t | FEATURES

o BARIEK/ HREMI PO -

o ERMIIIOETH (JE]8E2,3,6 THEMEH) -
o TOJ#f¢ SP/SD/SU/SE 11 & 758 -

- BAHER RE -

o BEARERBIDEE -

o FKHIEERGT UREXREIFASE -

- REBRE (k) -

- [EWH (ER) -

= For milling machine / machine center.

e Allow simultaneous machining with up to 4 grippers.
(Order can be customized for 2,3,6 grippers).

e Work with SP/SD/SU/SE vertical chuck.

= Driven by Hydraulic or Pneumatic.

e Individual circuit for each chuck.

e Special design and reduce the height of working
surface.

e Lock valve unit (optional).

= Air tight detection function(optional).

7 E T HGEZ 5] STATIONARY CHUCK SERIES

SP - B = /T35 SD - T E BT SU - T ERME & KE SE - T B NsRE I IR
SP-STATIONARY CHUCK SD-STATIONARY PULL DOWN CHUCK SU-STATIONARY PULL LOCK CHUCK SE-STATIONARY EXPANSIBLE PULL LOCK CHUCK
o R - . B/ EHI / RERA . BHE / EH / RERE - o B AR | RERA -
. Wedge-hook type. . Pull down [ Heavy duty machining . Pulllock / Heavy duty machining . Pulllock / Inner dia. clamping /
[Air tight detection. [ Air tight detection. Air tight detection.

K AutocriP www.autogrip.com.tw



RUBBER GRIP COLLET
ESASEN

AUTOGRIP

?EEE I EHRaYEE RS ?

ERE *% iz ,-l=,l-

BRH

=iaE PtlE RN

PIARA : AZH (R) 6l

ENT SR

SCB RG

E—RERSEHETE +0.5mm

AuTOGRIP L



ROTARY CYLINDER & LINEAR POSITION SENSOR

BRI ZE | DB EHEBR I AR T BN A A HEE

AUTOGRIP

45t | FEATURES

- TR -

- ERTHBAFTFERBIIERRE -

o B/DEHERE - BIN TR -

o EEH5ZEMEEET] o2 -

= Entire stroke range position monitoring.

e Position setup by teach-in function.

= Manual adjustment for proximity switch is unnecessary
when changing workpiece.

e Suitable for sub-spindle or vertical lathes with limited
space.

e Reduce idle time, increase throughput.

THER
hie: )il

M AutoGrIP www.autogrip.com.tw



HYDRAULIC CYLINDER WITH ROTATING JOINT

A0 B8 132 B O 432 B 0 BEH [RR T

AUTOGRIP

RC-125S-F2

R/ BER / ERE

Proximity switch with bracket

With double paths rotating joint(Fixed type)

series

30§83 BA M= B T B BA ]

HYDRAULIC CYLINDER WITH ROTATING JOINT

Y5t | FEATURES

- qﬂgi’ﬁﬁki}ﬁ}?ﬁl

- OJSMEEREN OEER - [ wERBIRRAK P OEKFEK -
- WLLJJ:FE]E&Q&H%

- EZEEFEE\LEI’JF%%EJF%_W? EHXZ&FZ?EJ%%L%‘T?‘T%E%U .
MEMRAAIIMNEREREN SR EOERERERM -

Medium and solid hydraulic cyllnder with channel.

Can choose an external rotary joint with either single or double paths.

It meets the demand for coolant through spindle and airtight pressure detect function.
Has a buil-in check valve for safety.

The proximity switch and single or double paths rotating joint are optional.

Stroke control via proximity switch or linear positioning system.

www.autogrip.com.tw AUTOGRIP N



e IR i
Ab’&‘?ﬂ@, gﬂ%aci? ?H%(n)ﬁE S PROPOSE LIST

( N\
RAZERR N| (semEmas
L Seating confirmation not required) L Frequent replacement of jaws

B 7% 5% 55 HME B 8
Gripping round figure (" e N N\ O.D. (Outer Diameter) based
EEER Y
L Seating confirmation required ) L W 1§T.§ E 2%
1.D. (Inner Diameter) based
|
4 — == N |
3R AL ;
\Buﬂt—ln air cylinder ) |
|
|
|
P, e |
WEETH .
5 - \ |
(THZBEMIL) P |
Shaft-type workpiece — 7 i e . |
Pipe-type workpiece AHEA T AHEEER :
(Insertion of workpiece Gripping taper Seating confirmation not required |
axis into chuck required) Irregular workpiece |
~ 1
|
|
( N |
AR - B |
Large-sizedshatt (0 TTTTTTTT T
Pipe-type

_{xmg@ﬁ% )

Seating confirmation not required)

__[E%m% }

Gripping round figure

( )
HMITRF
3 =
= F=|=7 EE Aty 1 Rough machining operation
Seating confirmation required \
( )
WBWIMLITRE
Finish machining operation )

Bk EMBETLH |

Plate-type workpiece b ﬂ’ I 14: w
. 277
Flange-type workpiece Easily deformed workpiece J

__{mﬁmﬁ_
B xR _[ mOEETH } Gripping on 2 sides

jF ;ﬁ EU I 14: Center-based workpiece
__{mﬁm% }______
Grippping on 4 sides

Gripping taper
Irregular workpiece

{EEE%(@EH’\) )

Single-side-based (Fixed jaws) )

(famITr )
L Rough machining operation J
ELEETH
Center-based —
workpiece
(EmITr )
Finish machining operation J

O AUTOGRIP www.autogrip.com.tw



(BREESTHE )

E>_<ceed specific_ations > 3 H

\dlameter workpiece )

( _
BAERES - 3L
Gripping exceed big diameter

- J

a o+ e EF I e )
REFHEERE - 3Q
Stable gripping precision

- J

> 3U-K
-
o H T A
RIFEEER/N > AP-15LLF

L Gripping position diameter small )

( >
RIFETHRA > AP-1450) I
Gripping position diameter large e —

N J B AR A J Aps

Gripping exceed big diameter J =
-
— — " 2H /4H
BRBEETH -
L Exceed specifications diameter workpiece ) -
( . - ~ ) o
BARERSE > 2L
L Gripping exceed big diameter
_______________ - - 2 - 3P
“““““ K BN 7 ma
: | Jaw lift reduction ) > 3N
| 4 N 1
] U E > 3V
[ Vertical spindle
| - J
| ( )
! BAREER - 3M
| - -
: L Gripping exceed big diameter )
- . - 3w
A =+ | Q
_ (svmms (ks THERTRTS .
q Outer diameter gripping ) : When not clamped, the workpiece = 3D
Ve | and the jaw do not interfere
aEEESE: v i o
h _ KEBEEE > 3U
& Inner diameter gripping J Stable gripping precision
> 3E
El T - 2 /3)
End surface gripping allowed ) -
N
| FTHAEEER -
Seating confirmation not required) = 2 P / 2M
B A S T35 ) _
Gripping exceed big diameter J 2M
N
= EETER - 2W
Seating confirmation required ) o
— - 4T
— > 1L
— [ mEEER ) .
[ Gripping round figure J 3W_ C
Bl RS - FRATH - oW
Gripping taper Irregular workpiece
> 3R

*ARRPOABTMBEEN - BASTEA -

*The contents in this chart are subject to change without notice for further improvement, etc.

www.autogrip.com.tw

AUTOGRIP P




I N D EX [Product Description]

I &) 758 Power Chucks

8 8FHE B A Pneumatic rotary TYPE

A

Q AutoGRIP

3H-2/3H-2A 3H/3H-A 2H/[2H-A
thZEE) 5888 tHZE ) ) 3%8R thZE B 3R ER
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
PZER THRU-HOLE % ZEA THRU-HOLE PZERS THRU-HOLE
=T 3-JAW g =T 3-JAW 4 T 2-9AW 4
4H/4H-A 3P/3P-A 2P/2P-A
thZE & ] 3EER hE &) 35 hEE)HIER
THRU-HOLE POWER CHUCK POWER CHUCK POWER CHUCK
hZE A THRU-HOLE P& A NON-THRU-HOLE pE A NON-THRU-HOLE
POIT 4-JAW A =/ 3-3AW A T 2-9AW 4
1L 3L/3L-A 2L/2L-A
BRMITIZE N3kEE BRMITIE8HIKEE BRMITIZE N3EE
EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE
POWER CHUCK POWER CHUCK POWER CHUCK
hEE NON-THRU-HOLE tpZE R THRU-HOLE hZEE THRU-HOLE
BT 1-JAW =/ 3-JAW N 2-3AW
3M 2M 3V-A
hERNITIZRIE PERMITIEKRE VBB EN KR
LONG JAW STROKE POWER CHUCK LONG JAW STROKE POWER CHUCK FOR
HET NON-THRU-HOLE POWER CHUCK VERTICAL LATHE
=T\ 3-JAW 4 P EE NON-THRU-HOLE 4 P E A NON-THRU-HOLE 4
T 2-JAW =/ 3-3AW
4V-A 3PS
VU ERAPEE R — NP ERREENKIE
POWER CHUCK FOR FULLY SEALED TYPE POWER CHUCK
VERTICAL LATHE 2ZHT fully sealed type
PEE NON-THRU-HOLE =JT 3-JAW
PO 4-JAW 4
d: — L]
¥%55%8) /13258 Special Purpose Power Chucks
3Q 3N 4T
RIFTOEN FI 2R TE RN P E = M 3ER VT EE Eh AU 3 gE
QUICK JAW-CHANGE CHUCK INCLINED MASTER JAWS FOUR-JAW TWO MOTION
hZ0 % THRU-HOLE / =T\ 3-JAW POWER CHUCK TYPE POWER CHUCK
g P # E NON-THRU-HOLE g P FE NON-THRU-HOLE g
=T 3-JAW TITL 4-JAW
3D 2D 3U
BRI EN IR BRI IR BHEHIEN I EE
PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK PULL LOCK POWER CHUCK
P EA NON-THRU-HOLE P E NON-THRU-HOLE P ZEF THRU-HOLE
=T 3-JAW g M 2-3AW g =T 3-JAW g
3U-K 3E 3w/3w-c
BRIE I E) 2GR AsRERI TN EN I3 TR BB AL — /TR
PULL LOCK POWER CHUCK EXPANSIBLE PULL LOCK SWING TYPE 3-JAW POWER CHUCK
hEE NON-THRU-HOLE POWER CHUCK EENEL SWING TYPE
=T 3-JAW g P #EE NON-THRU-HOLE ﬂ =T 3-JAW ﬂ
=/1 3-JAW
3R 3J 2J
B (5L = TSR PR8I 5 SPEER B/ 5
SWING COMPENSATING TYPE FINGER POWER CHUCK FINGER POWER CHUCK
3-JAW POWER CHUCK PEE NON-THRU-HOLE PEE NON-THRU-HOLE
#{HE COMPENSATING TYPE =T 3-JAW T 2-0AW
=JT 3-JAW
AP APS IS
__ _ Rohves g _
AR AEhZe R B R ASLEPERENTR B85 ETE
LARGE THRU-HOLE AIR CHUCK (ZEBRA1TE) POWER INDEXING CHUCK
Z2 A THRU-HOLE LARGE THRU-HOLE AIR CHUCK
=/T3-JAW g (DOUBLE SPEED JAW STROKE) ﬂ g
thZEA) THRU-HOLE / =11 3-JAW
RAP
ERARE=TRE
PNEUMATIC ROTARY CHUCK

www.da utogrip.com.tw



AGIOGI»

&3 3zgE Collet Chucks

CcL CL-A cB/CB-A
EEESE EEea R SRR TR

COLLET CHUCK COLLET CHUCK DRAW BACK COLLET CHUCK
thZ2 A THRU-HOLE ! thZeE THRU-HOLE thZ2E THRU-HOLE

BHIEN 5 B2 5 3R BUHEEE T BB 5 3R U EABURRIER

END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK STATIONARY DRAW COLLET CHUCK
thZE A THRU-HOLE a hZ2 A THRU-HOLE thZ2 ) THRU-HOLE

RG DIN6343
BB RE MR

RUBBER GRIP COLLET STEEL COLLET

g 381453 STEEL COLLET

I CBE/CBE-A CBD/CBD-A SCB

IIEKFE Stationary Chucks

VH VP SP
AV B WY PEITEAKRE UEHN =/

STATIONARY CHUCK WITH
THRU-HOLE STATIONARY CHUCK STATIONARY CHUCK

R FEIIEN NON-THRU-HOLE P EE NON-THRU-HOLE
hrEt B THRU P
ZI=m 2/3-T;'A'?ALIJ HoLe STATIONZ S:T )/ATEI(J)T,:‘);ZLAW 4 =T 3-JAW ﬂ
SM SD SuU
UEXRTREMKE U EXEIUREE BTN IREE

LONG JAW STROKE TWO- STATIONARY PULL DOWN CHUCK STATIONARY PULL LOCK CHUCK

JAW STATIONARY CHUCK #H NON-THRU-HOLE B% NON-THRU-HOLE

% A NON-THRU-HOLE =/3-0AW =/ 3-9AW

I 2-0AW

SE MP4 VH-201
T EXARENIRE 17 & AR AR FENIRAE

STATIONARY EXPANSIBLE STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
PULL LOCK CHUCK

P A NON-THRU-HOLE ZAH ACCESSORIES
=JN 3-JAW

F&)7x58 Manual Chucks

3MF
SERIFBIR/O =T\ HeER

SELF-CENTERING 3-JAW
MANUAL CHUCK

%E= 2 NON-THRU-HOLE
=/ 3-JAW

FEJ]#E &8 FACING HEADS

FA FD

)R EnEJEER
SINGLE-SLIDE FACING HEAD DOUBLE-SLIDE FACING HEAD
& @)% SINGLE SLIDE /@A DOUBLE SLIDE

www.autogrip.com.tw AUTOGRIP R



I N D EX [Product Description]

I B E SYNCHRONOUS CLAMPS

CcP

EEZ3=!
SYNCHRONOUS CLAMP

#AE CRANK TYPE

ZE B

25 ROTARY CYLINDERS

TK

B8 AL Th 22 30 0 BR
SHORT TYPE ROTATING HYDRAULIC
CYLINDER WITH THRU-HOLE

TS
AFE B AR B cp 22 0 8 B L

SHORT TYPE ROTARY HYDRAULIC

TH
22 3@ 8% ER ]

ROTATING HYDRAULIC CYLINDER

CYLINDER WITH BIG-BORE WITH THRU-HOLE

AND SAFETY DEVICE THRU-HOLE AND SAFETY DEVICE AND SAFETY DEVICE
pZe A THRU-HOLE hZER THRU-HOLE hZeA) THRU-HOLE
JHi/E HYDRAULIC JHIE HYDRAULIC JHi/Z HYDRAULIC

K 3 =) 3t [BR =3 h =%
i e 2 PR B0 ] b BB ]
CYLINDER WITH THRU-HOLE ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER
AND SAFETY DEVICE WITH SAFETY DEVICE FE NON-THRU-HOLE
h 22 THRU-HOLE P E NON-THRU-HOLE JHi/# HYDRAULIC
JHi/E HYDRAULIC JHi/# HYDRAULIC
P& EE M ER A thEmEEZe BT B3 | FREF TR 2RI L g BR £ T
ROTATING HYDRAULIC CYLINDER ROTATING AIR CYLINDER ROTAS?‘R%';E%RAUUC <L3YUNDER
B A NON-THRU-HOLE A NON-THRU-HOLE ,AJ\'QS,EAT‘E'YDEV'CE
JHi/E HYDRAULIC Z2 [ AIR j%%}ﬁféﬁfJﬁgKE CONTROL

pisil-"3

T A5 AL A 4 ER

ROTATING HYDRAULIC CYLINDER

ROTATING HYDRAULIC CYLINDER

JE 7K AU 3 4 JER T

ROTATING HYDRAULIC CYLINDER

WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION
17721 STROKE CONTROL AND SATETY DEVICE JE7KEL COOLANT CONNECTION
/B HYDRAULIC 7£7KZE COOLANT CONNECTION H/EE HYDRAULIC

JH/E HYDRAULIC

S R 8 EEE SRR R AT e pol

ROTATING HYDRAULIC CYLINDER HYDRAULIC CYLINDER WITH MPACT STYLE HYDRAULIC CYLINDER
WITH AR CONNECTION ROTATING JOINT WITH STROKE CONTROL
FE53% AIR CONNECTION TSRS @;D;AAFEJUY DEVICE
SH/EE HYDRAULIC 5E COMPACT STYLE

Rotating Joint 3HI/EE HYDRAULIC

- — - iz A S A AT X N N E N N N )

W4T B S AL R 0 AL TBREEES G HE L 335 | R A2 7030 8 3ph R T
COMPACT STYLE HYDRAULIC COMPACT STYLE HYDRAULIC DOUBLE ROD ROTATING CYLINDER
CYLINDER WITH AIR CONNECTION CYLINDER WITH COOLANT

AND SAFETY DEVICE
B2 5 E COMPACT STYLE
JH/E HYDRAULIC

RD-N
L1RREE MR

DOUBLE ROD ROTATING CYLINDER

#4124 DOUBLE-ROD
JHi/# HYDRAULIC

A

CONNECTION AND SAFETY DEVICE

B SR COMPACT STYLE
JH/E HYDRAULIC

A

308558 COOLANT JOINT !

S AuTOGRIP

COOLANT ROTATING JOINT WITH
AUTOMATIC ON/OFF SEAL
J@#E 8 COOLANT JOINT

WITH SAFETY DEVICE

£424) DOUBLE-ROD
JHi/# HYDRAULIC

W% 4> 778 [ IMiEEEE ROTARY VALVIES /[ ROTARY JOINTS
RV RV-A
R DEE SRR ZE B mEE
HYDRAULIC ROTARY VALVE AIRROTARY VALVE
piithipal i ! ZEER AR !
OIL CIRCUIT DISTRIBUTOR
RJ-80 RJ-92
RANR RS R AR RS B gE AT
COOLANT ROTATING JOINT JJ:7J< B e E

www.da utogrip.com.tw



AGIOGI»

ZfFEHE th PARTS AND ACCESSORIES

SJ HJ T-NUT
e RERT TRz

STANDARD SOFT BLANK JAW STANDARD HARDENED JAW T-NUT

a5 TRAERE T SR
IRELE]T STANDARD SOFT JAW ! STANDARD HARDENED JAW g T 4208 T-NUT a

I FL CT/CT-S CT-SB/CT-SBS

HXGEERE SXEBRTEREREE SEXERTREREKE

CHUCK ADAPTORS COOLANT COLLECTOR COOLANT COLLECTOR WITH
STROKE CONTROL

hRE WITH STROKE CONTROL o
/I ADAPTOR Q £K&E COOLANT COLLECTOR é fEKR COOLANT COLLECTOR ﬂ

FV
TRl B HE

STATIONARY CYLINDER LOCK VALVE

FOR AR STATIONARY CHUCK

=PC+ ACCESSORIES A
DRAW TUBE DRAW BAR
PR REERE PENENEERE

THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH

ZE DRAW TUBE g ¥ DRAW BAR

www.autogrip.com.tw AUTOGRIP T



ZMBARAIER=E

=) /] 3KER

LARGE THRU-HOLE POWER CHUCK

A 3H-2[3H-2A

B =TBREBAL -
BEEIKBCRBEME - WEEBEE -
SEMERRSRIFEE -

WEDGE-HOOK type 3-jaw with the extra large through-hole.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J ERELIRERERBIRZ ALK,

K Default (E&RFRIEE R 2 HR{E,

K mox B A E4L IR v] SR SR OF 7 iR KFRAK, Al R B R R RETR,

J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

Serration Pitch BF&5EE 1.5

3H-215 A8 G H M ,/ 3H-221,3H-224,3H-232 3.0
3H-215 A1l | /
Refer to Fig.A CH T
2@ A 74%23 T i )
[ 1 Z
e Ll e}
|
1 gz s
N T ©o| K
S| Y Ol LI M w o
= S8 g RIS g
] L1 || Bl 9 &)
L 1 = RS
——t— TS \
L1 B / 1/
T L 3H-204 {£3% 842
Fig.A =/ 3H-205 Only 3 bolts
A L1 B L E ]
B 15°  15°
3H-BA,3H-2A 3H-B,3H-2
RBRRIELHIER)
Subject to technical changes
AR FRH& SPECIFICATIONS
vy moR (G ST BRRAAD  BARRN | REEER | BE AR RAGRES
Plunger Jaw stroke &mAK &/ Max. Clamping Moment of )
Model STEe (Dia.) Vere | ViR Max. D.B. pull o Max. speed - Weight Tl Max. pressure
mm mm mm  mm kN (kgf) kN (kgf) min(rp.m.) kg *m? kg MPa (kgf/cm?)
3H-204 A4 13 5.5 13 7 13.7(1400) ~ 36.0(3670) 8000 0.012 422 534 TK-A528 2.0(20)
3H-205 A4 13 5.5 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 71 | TK-A533 2.5(25)
3H-206 A5 14 6 170 13 233(2375) 66.8(6810) 6000 0.06 131 | 149 TK-A646 2.5(25)
3H-208 A6 18 7.6 210 17 | 31.9(3250) 107(10900) 5000 0.15 218 234 TK-A853 2.6(26)
3H-210 A8 21 8.9 260 37 | 491(5010) 152(15500) 4500 032 375 43 TK-Al075 3.2(32)
3H-212 | Al 25 10.6 315 43 58.8(6000) 157(16010) 3700 074 58.6 647 TK-AI512 1.9(19)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 28 127 149 TK-2114 21(21)
3H-215 Al 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 1433 TK-2114 2.1(21)
3H-215 Al5 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 135.6  TK-2114 21(21)
3H-18B  Al5 23 10.6 456 79 71(7240) 180(18350) 2000 48 1624 173.4 TK-2416 1.9(19)
3H-221 Al 28 12.9 530 105 90(9175)  234(23860) 1800 7.5 223 234 TK-2416 2.4(24)
3H-224 |A20 28 12.9 610 135  100(10200) 240(24500) 1500 15.8 270 284 TK-2820 2.1(21)
3H-232 A20 34 18 800 205 100(10200) ' 240(24500) 1200 47 546 560 @ TK-2820 21(21)

1 ALEBEES 3H-2A. 3H-BA BLZ <H% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

1 AuTOGRIP



’ 3H_2I3H_2A 28 A EE = TUBATL A
LARGE THRU-HOLE POWER CHUCK
9MER~F DIMENSIONS 3
Model A (& D D1 D2 E El F G max. G min. H J ?j
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 | -95 | 185 17.5 12 %
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 81 91 140 104.8 8256 116 5 15 53 13 28 -1 14 17.5 20
3H-208 A6 210 91 103 170 133.4 106.38 150 5 17 66 165 | 335 | -15 15.5 20 30
3H-210 A8 260 102 115 220 7.4 139.72 190 5 18 86 105 | 285 -105 7.5 25 45
3H-212 AN 315 no 126 = 300 235 | 196.87 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 132 159 380 | 3302 13972 1714 6 33 145 1 44 -14 19 39 60
3H-215 Al 405 132 166 380 @ 330.2 196.87 235 6 40 145 1 51 -14 26 39 60
3H-215 A5 405 132 153 380 @ 330.2 28578 330.2 6 27 145 1 38 -14 13 39 60
3H-18B A5 456 145 166 @ 380 | 330.2 28578 330.2 6 27 165 18 45 -5 22 40 60
3H-221 A5 530 140 161 380 @ 330.2 28578 330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 145 | 166 | 520 | 4636 412.78 463.6 6 27 210 15 42 -13 14 41 80
3H-232 A20 800 150 170 520 @ 4636 412.78 463.6 6 27 275 24 51 -10 17 42 100
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. R min. S T U
3H-204 A4 M38x1.5 M32x1.5 3~MI0 160 15 24 52 14 1275 675 25 2225 23 10  3~MI0
3H-205 A4 M45x1.5 M40x1.5 3~MI0 145 145 31 62 14 2025 675 295 268 25 10 3~M6
3H-206 A5 M60x2 M55x2 6~MI0 160 16 37 73 20 2125 925 36 33 31 12 3~M6
3H-208 A6 M75x2 M60x2 6~M12 170 15 | 38 95 256 | 237 102 457 419 35 14 3~M6
3H-210 A8 MO5x2 M85x2 6~M16 200 22 43 1N0 30 322 127 565 5205 40 16 3~M8
3H-212 AN M115x2 M115x2 6~M20 30.0 28 51 130 30 4475 1475 678 625 50 21 | 3~MI0
3H-215 A8 MI55x3 MII5x2 MI55x3 MI00x2 6~M24 36.0 24 63 165 43 4975 1975 90 847 62 255 6~MI6
3H-215 Al M155x3 M155x3 6~M24 360 31 63 165 43 4975 1975 90 847 62 255 6~M20
3H-215 AI5 M155x3 M155x3 6~M24 36.0 34 63 165 43 4975 1975 90 847 62 255 3~MI2
3H-18B AI5 M175x3 M175x3 6~M24 380 36 63 165 43 64 205 102 967 62 255 3~MI2
3H-221 AIS MI190x3 M190x3 6~M24 330 36 73 180 60 695 245 1N35 1071 65 25 3~MI2
3H-224 A20 M225x3 M225x3 6~M24 350 33 | 73 | 180 60 935 245 128 12156 65 25 3~MI2
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 73 180 60 1505 245 166 157 65 25 3~MI2

I ooy semms m BATLER S, FHER 4410 (RS EB AR R i
S 2 JeTH, BRI BB RN R R E 2 R, BB 6 B
EE TR i, S A AT R,

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4°~10" are
common used in the industry.

If you find that you need different bore size or installation interface, please just contact
us. We have many standard and customized rotary cylinders for option and meet your
needs.

Please contact AUTOGRIP for more detailed information. Thanks.

1 AT RS 3H-2A. 3H-BA BLZ <H% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

AUTOGRIP 2



_ A = KEE = Misigenzsy
’ 3HI3H A ok rower chuck i

o ME=ZTABBAIKE-
o REEHKE(CRIBERME WEEEE -
o SHIMEEBASHIFBE -
® WEDGE-HOOK type 3-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J BAEEIZIERERIR TR 2 ALK,
K Default EAKIEE R Z HREE.
K mox [BAEAIZIE T EERR O 7 SRR KR, AT IRE R H KT,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.
G Serration Pitch s
e
E1 | HregiE 15
3H-15 A8 = I ol
Refer to Fig.A ] 1=z
2EE A 1 O
© o
O « T
Eq Q 8 0 -
o Q
g U
7 4
L 1
L1 B L
Fig.A
(S 3H-A 3H
RERRIELHIETR)
Subject to technical changes
FEATHRHE SPECIFICATIONS
B goR  (gh ool BEEANY BARSH  BEEEN 2 ERESE  BAERES
voer | nger oggtgke B BR woxompun MOLZATANG youspood MOMERL weight oo Mo pressure
mm mm mm  mm kN (kgf) kN (kgf) min® (rp.m.) kg * m? kg MPa (kgf/cm?)
3H-12 A8 25 10.6 304 34 54.9(5600) 143.7(14650) 3300 077 56.6 59.3 TK-A1291 2.5(25)
3H-15 A8 25 10.6 381 20 71(7250) | 179.8(18350) 2500 228 120 134 TK-AI512 2.3(23)
3H-15 Al 25 10.6 381 20 71(7250) | 179.8(18350) 2500 239 120 127 TK-AI512 2.3(23)
3H-18  All 23 10.6 450 50 71(7250) | 179.8(18350) 2000 478 164 178 TK-AI512 2.3(23)
SMEYR<F DIMENSIONS
Model A B @ D DIl D2 E El F G max. G min. H J
3H-12 A8 304 10 122 | 220 1714 13972 190 6 18 9l 10 28 -15 3 28 50
3H-15 A8 381 132 | 159 | 300 235 139.72 1714 6 33 120 n 44 -14 19 39 60
3H-15 Al 381 132 | 148 300 235 196.87 260 6 22 120 n 33 -14 8 39 60
3H-18 Al | 450 133 | 149 @ 300 235 196.87 260 6 22 120 n 33 -12 10 39 60
Model K max. K Default L U Mm N~ p Q QR R s T u
3H-12 A8 M100x2 M100x2 6~M16 23 25 513 130 30 4475 1475 613 56 50 21 3~M8
3H-15 A8 MI30x2 MII5x2 MI30x2 MI00x2 6~M20 30 24 63 165 43 4975 1975 775 722 62 2550r22 6~MI6
3H-15 Al M130x2 M130x2 6~M20 30 28 63 165 43 4975 1975 775 722 62 2550r22 3~MIO
3H-18 Al M130x2 M130x2 6~M20 30 28 63 165 43 835 205 80 747 62 2550r22 3~MIO

1. AT B EEA 3H-A B2 1% (The dimensions and the specifications of 3H-A type are in red data.)
3 AUTOGRIP



HR =S8 /] 3K EE

THRU-HOLE POWER CHUCK

BE_MABBEAE  FRESEEYNRIE -

REEIKIBCRIBEIME - WHEEE -

BHMEERSRFBE -

WEDGE-HOOK type 2-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EAEEIEIE R BERIR TR 2 7L,

K Default (& RIETE SR 2 HHE,

K mox B4 41218 A B RUR T 7 S KA, AR B RS
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

A 24/2H-A

3
7
x
2]

%]—@0

Serration Pitch
Hreagh

i sesn
§ 12
2H-208 A5 e « @
2H-15 A8 § o " - @7
Refer to Fig.A ©
SR9E A ! ﬂ @
RN FAA 1 L E So0s Bam
Subject to technical changes B Jll_,
TR SPECIFICATIONS 2H-A ~ 2H-2A 2H ~ 2H-2
gk o MBS KEEE  auei s BAKSH  BeESK | B8 EREHE  BAGEEH
(Ef®)  Chucking Dia.
- Pslgr% gr Jq‘e’D?g ke E’ig)f ﬁlrj]f Max. D.B. pull Clomg:gg R Max. speed g’;?:;?t?; Weight m—— Max. pressure
mm mm mm =~ mm kN (kgf) kN (kgf) min® (rp.m.) kg * m? kg MPa (kgf/cm?)
2H-204 A4 13 5.5 n3 7 9.2(940) 19.4(1980) 8000 0012 42 48 TK-A528 1.3(13)
2H-205 A4 13 5.5 138 10 1.4(1167) 32(3260) 7000 0.02 68 7.6 TK-A533 1.6(16)
2H-206 A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 131 149 TK-A646 1.6(16)
2H-208 A5 18 7.6 20 17 23.1(2360) 57.3(5840) 5000 017 213 242 TK-A853 1.8(18)
2H-208 A6 18 7.6 20 17 23.1(2360) 57.3(5840) 5000 017 213 224 TK-A853 1.8(18)
2H-210 A8 21 8.9 260 37  32.9(3355) @ 101.9(10385) 4500 031 335 362 TK-Al075 2.2(22)
2H-12 A8 23 10.6 304 34  36.7(3740) 95.8(9780) 3300 070 59.7 627 TK-AI129] 1.7(17)
2H-15 A8 23 10.6 381 50 @ 46.9(4790) @ 119.6(12200) 2500 242 15 | 129  TK-A1512 1.5(15)
2H-15  All 23 10.6 381 50 | 46.9(4790) | 119.6(12200) 2500 234 15 122 TK-AI512 1.5(15)
4MEYRST DIMENSIONS
Model A B (© D DI D2 E El F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -95 185 175 12
2H-205 A4 138 60 71 10 82.6 63.51 96 4 15 39 1 B’ -2 3 20 12
2H-206 A5 170 8l 9l 140 | 1048 @ 8256 16 5 15 53 13 28 -l 14 175 20
2H-208 A5 210 9l 109 170 1334 8256 | 1048 5 23 66 165 395 -15 | 215 20 30
2H-208 A6 210 9l 103 170 1334 | 106.38 150 5 17 66 165 335 -15 155 20 30
2H-210 A8 260 102 15 220 1714 139.72 190 5 18 86 105 285 -105 75 25 45
2H-12 A8 304 110 122 | 220 1714 13972 190 6 18 9l 8 26 -5 3 28 50
2H-15 | A8 | 38l 133 160 = 300 235 139.72 | 1714 6 33 120 n 44 | -12 2 39 60
2H-15 Al 38] 133 149 300 235 196.87 260 6 22 120 n 33  -12 10 39 60
Model K max. K Default L L M N P Qmax. Qmin. Rmax. Rmin. S T u
2H-204 A4 M38x1.5 M32x1.5 4~MI0 16 15 24 52 14 1275 675 25 2225 23 10 3~MI0
2H-205 | A4 M45x1.5 M40x1.5 4~MI0 145 145 31 62 14 2025 675 295 2675 25 10 3~M6
2H-206 A5 M60x2 M55x2 6~MIO 16 16 37 73 20| 2275 925 36 33 31 12 3~M6
2H-208 A5 M75x2 MB0x2 6~M12 17 18 38 95 25 237 102 457 419 35 14 6~MI10
2H-208 A6 M75x2 MB0x2 6~MI12 17 15 38 95 25 237 102 457 419 35 14 3~M6
2H-210 | A8 M95x2 M85x2 6~MI6 20 22 43 110 30 322 127 565 5205 40 16 3~M8
2H-12 A8 MI100x2 M100x2 6~MI6 23 25 51 130 30 458 158 613 56 50 21 3~M8
2H-15 A8 MI30x2 MII5x2 MI30x2 MIO0x2 6~M20 30 @24 63 165 43 473 182 80 747 62 2550r22 6~MI6
2H-15 Al M130x2 M130x2 6~M20 30 28 63 165 43 473 182 80 747 62 2550r22 3~MIO

1 ATEEIES 2H-A, 2H-2A BLZ<F5% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.)

AUTOGRIP 4



A P=EENSIKIE T ez R
’ 4HI 4H-A THRU-HOLE POWER CHUCK o

o MENMABEBAL  HHESRLYHINS -
o BENEMIKELRIBEME UTHEES -
o SHMEBRERGEE -
e WEDGE-HOOK type 4-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J EREGIRIERERIB TR Z FLIE,
K Default (B2 RIBERIE Z HEIE.
K max EREEIRIE ] SRR T 2 AR, AHREIRFRTH,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.
4H-208 A5 G ggrraﬁtﬁion P1itch s
4H-210 A6 G, ,H M BE 5
4H-15 A8 U = | | T N B
Refer to Fig.A EEIIRS
SHEA s Gl s ﬂ, T ©-
o — i [ I ﬂ7 1z %%
= B 1 C
R E= B L
ola| 5 <| & sl w £ JANYZN @b
S§| § | 3 SIS NANZ NNZ
J - L1 [y 7 g \\/
| ﬁ 1 8= & &
Fig.A L/ )
A L1 B L E
5 T

1RBIARIELB1EF Subject to technical changes

e 4H-A ~ 4H-2A 4H ~ 4H-2
#R1& SPECIFICATIONS —_— _—
1) o Nt 1= 1712 \E’ETS_ 7 = = = = > N =
v moge R CERE smeiog  mausn | BEmem EE  EGEEE BARRES
Plunger | Jawstroke | &K &/ Max. Clamping Moment of )
o stroke (Dia.) Max.  Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min”' (r.p.m.) kg * m? kg MPa (kgf/cm?)

4H-206 | A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125 | 16.7 | TK-C646 2.5(25)
4H-208 | A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 | 254 | TK-A853 2.8(28)
4H-208 | A6 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 | 243 | TK-A853 2.8(28)
4H-210 A6 21 8.9 260 @ 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 44 | TK-A1075 (32)
4H-210 | A8 21 8.9 260 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 | 42.3 | TK-A1075 .2(32)
4H-12 | A8 25 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 | TK-A1291 2.5(25)
4H-15 | A8 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.5 123.7 | 137.7 | TK-A1512 2.3(23)
4H-15 A1 23 10.6 381 50 71(7250) 179.8(18350) 2000 242 123.7 | 130.7 | TK-A1512 2.3(23)
4H-18 | A11 23 10.6 450 | 50 71(7250) 179.8(18350) 1700 4.85 170 184 | TK-A1512 2.3(23)
YR~ DIMENSIONS

Model A B Cc D D1 D2 E E1 B G max. G min. H J
4H-206 | A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
4H-208 | A5 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 395 | -1.5 | 215 | 20.5 30
4H-208 | A6 @ 210 91 103 170 133.4 106.38 150 5 17 66 16.5 335 | -1.5 155 | 205 30
4H-210 A6 | 260 102 | 122 220 171.4 106.38 133.4 5 25 86 10.5 | 355 | -10.5 | 145 25 45
4H-210 | A8 | 260 102 | 115 220 171.4 139.72 190 5 18 86 105 285 -105 75 25 45
4H-12 | A8 | 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 S 28 50
4H-15 | A8 381 133 | 160 300 235 139.72 171.4 6 33 120 1 44 -12 21 39 60
4H-15 A1 381 133 | 149 300 235 196.87 260 6 22 120 11 & -12 10 39 60
4H-18 | A11| 450 133 | 149 300 235 196.87 260 6 22 120 1 33 -12 10 39 60

Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T u
4H-206 | A5 M60x2 M55x2 4~M10 16 16 37 73 ' 20 21.25| 9.25 36 33 | 31 12 3~M6
4H-208 | A5 M75x2 M60x2 4~M12 17 18 | 38 95 25| 23.7 102 457 419 | 35 14 6~M10
4H-208 | A6 M75x2 M60x2 4~M12 17 15| 38 95 25| 23.7 | 10.2 457 419 | 35 14 3~M6
4H-210 A6 M95x2 M85x2 4~M16 | 20 18 | 43 110 30 | 32.2 12.7  56.5 52.05| 40 16 6~M12
4H-210 | A8 M95x2 M85x2 4~M16 20 22 43 110 30 32.2 | 12.7 H 56.5 52.05 40 16 3~M8
4H-12 | A8 M100x2 M100x2 4~M16 | 23 25 51.3 130 30 44.75 14.75 61.3 @ 56 | 50 21 3~M8
4H-15 | A8 M130x2  M115x2 H M130x2 M100x2 4~M20 30 24 63 165 43 475 205 80 | 747 62 2550r22 6~M16
4H-15 | A11 M130x2 M130x2 4~M20 30 28 | 63 165 43 | 475 205 80 | 74.7 |62 25.50r22  3~M10
4H-18 A1 M130x2 M130x2 4~M20 30 28| 63 165 43 | 83.5 205 80 | 747 |62 2550r22  3~M10

1. AL EIES 4H-A BLZ <1 (The dimensions and the specifications of 4H-A type are in red data.)
AUTOGRIP



VAR

o ME=TUNEIPEREE - )|
o REEEIILE(ERBEME  WHEHES - V|
o BAFARS LR - §
® WEDGE-HOOK type 3-jaw mini power chuck. =
® Matching surfaces of all parts hardened, ground and lubricated directly.
® Suitable for bench lathe.
3~M8x20L
3 35 22/
Nl |
gpmmil -
Ll | =
max.15 7‘%77f7:§7ﬁ 0 o~
min. 5 i Ng| 2
M8x40L oo
— ®© =
[To] L < © S E
[ee] (::'): 0 N L |
Q| K| 9 §
Q
— |
] \_3~M8x35L
1"
36
RBIRSERBIEF]
Subject to technical changes
FATHRHE SPECIFICATIONS
g NG Mz BB augiAh  RAKES  BSESH | B8 ERESI  BAGRES
" A (B1E) Chucking Dia, =°"™ B el = L2
Plunger Jaw stroke = &K &) Max. Clamping Moment of )
— Siee (Dia.) Mox.  Min, Max.DB. pull ra— Max. speed . Weight edilEe Max. pressure
mm mm mm = mm kN (kgf) kN (kgf) min”(rp.m.) kg m? kg MPa (kgf/cm?)
3P-03 10 46 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 12(12.4)
BEZ 1244 T Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03
-
|
— - ——
| | |
[
11 \
40
Mounting Hole 20
M8 44 [——‘
/ |
{ T T
‘ \ \ \
©
| v \ - \ ‘ \
MR | \ [ \
71 it
‘ [ 0
i 1 ‘ [ ©

|
E“j JQ&L

AUTOGRIP ©



EfIRE(Z = MissgehmEa
A 3p[3P-A FEEZER(=) s

o =N EKE -
o RBEHHLIELEBEEINE WEEBEES -
o SHIUAEBESRIFREE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H . G M H G =1 H G M HEE 15 S
3P-10A6 U D E— -
3P-12A6 P m | P
Refer to Fig.A = I n L *—: AL a
smi | gl - i
o EL L\ T l ‘ ; x . S !7: TT‘F T 14
S u - aiim — o —
SSNLLS Be— T H— = S
] g o K K U
o { =1 87— 2 | g &S
4 8 — <o . <|T - ?
u s g\ w 8| 8§ 7T] 5|8
Fig.A L/ Jul| e L/ | B Lo e S0 EIAEE
A B B
REIUREHRENER 3P-04,3P-05 3P-A 3P
Subject to technical changes
FEATHRHE SPECIFICATIONS
= S 4748 TRFER D = = O o RAER
AU5R BULTHE (H§)  Chucking Dia. BEFRANS RARFES eIl E I B8 bE)zEpEL= TN BH
Plunger  Jawstroke &K &/ Max. Clamping Moment .
— o (Dia) Max. | Min. Max. D.B. pull ra— Max. speed Flireia) Weight i el Max. pressure
mm mm mm  mm kN (kgf) kN (kgf) min” (rp.m.) kg * m?2 kg MPa (kgf/cm?)
B RK-75(N) 2.2(22)
3P-04 15 6.4 10 5 8.1(830) 22.5(2300) 6000 0.01 4] RA-130 0.6(6)
RK-75(N) 2.2(22)
3P-05 15 6.4 135 14 8.1(830) 25(2550) 5500 002 62 - A 0.6(6)
RK-100(N) 2.6(26)
3P-06 A5 20 85 165 16 17.9(1830)  52.4(5350) 5250 0.05 13 14 BAT70 0.6(6)
RK-125(N) 2.3(23)
3P-08 A5 21 8.8 210 21 25(2550) = 74.5(7600) 4750 014 @ 24 28 S 05(5)
RK-125(N) 2.3(23)
3P-08 A6 21 8.8 20 21 25(2550) = 74.5(7600) 4750 014 24 27 B A-290 05(5)
RK-125(N) 2.6(26)
3P-10 A6 25 8.8 254 24  289(2950) 107.8(11000) 4000 0.3 35 | 42 e 0.6(6)
RK-125(N) 2.6(26)
3P-10 A8 25 8.8 254 24  289(2950) 107.8(11000) 4000 03 35 40 RA-290 0.6(6)
RK-150(N) 2.6(26)
3P-12 A6 30 10.5 304 24 41(4180)  155.8(15900) 3360 073 59 @ 65 A 0.8(8)
RK-150(N) 2.6(26)
3P-12 A8 30 10.5 304 24 41(4180)  155.8(15900) 3360 073 59 63 R A-270 0.8(8)
9hEI R~ DIMENSIONS
Model A B @ D DIl D2 E El F G max. G min. H J
3P-04 1o 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 = 80 100 = = 7 = = 9 = -6 = 35 28
3P-06 A5 165 74 84 140 1048 8256 16 5 15 21 1026 876 826 676 35 34
3P-08 A5 210 85 103 170 | 1334 8256 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 133.4 106.38 150 5 17 25 127 10 106 89 36 38
3P-10 A6 254 89 109 220 1714 106.38 133.4 5 25 34 158 133 133 108 36 45
3P-10 A8 254 89 102 220 1714 13972 190 5 18 34 158 140 133 115 36 45
3P-12 A6 304 106 125 220 1714 106.38 133.4 6 25 34 163 138 133 108 36 50
3P-12 A8 304 106 18 220 1714 13972 190 6 18 34 163 145 133 115 36 50
Model K L L M N P Qmax.  Qmin. R max. R min. S T u
3P-04 M10x1.5 3~M8 12 - 24 52 14 1.2 6.7 23.6 20.4 23 10 -
3P-05 MI2x1.75 = 3~M8 14 - 31 62 14 15.7 5.2 30.4 27.2 25 10 -
3P-06 A5 MI6X2 6~MI1I0 14 14 37 73 20 18.25 925 3825 3375 31 12 3~M6
3P-08 A5 M20x25 @ 6~MI2 20 17 38 95 25 2525 @ 175 46.3 419 35 14 6~M10
3P-08 A6 M20x2.5 6~M12 20 18 38 95 25 25.25 1.75 46.3 41.9 35 14 3~M6
3P-10 A6 M20x25 6~MI6 18 18 43 110 30 3525 1275 51.1 46.7 40 16 6~M12
3P-10 A8 M20x25 6~MI6 18 25 43 110 30 35625 1275 511 46.7 40 16 3~M8
3P-12 A6 M20x25 6~MI6 18 18 51 130 30 4875 1275 61 55.75 50 180r21 6~MI2
3P-12 | A8 M20x2.5 6~M16 18 25 51 130 30 48.75 12.75 61 55.75 50 18or21 3~M8

1 AL 2 3P-A B2 <3 (The dimensions and the specifications of 3P-A type are in red data.)
7 AUTOGRIP



= *eE (= =M
A 3p[3P-A FERZE(S) s

B =M B KR -

RENEIKIBCRIBEIME - WHEEE -

SHtERRSREEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
2]

Serration Pitch  #FEEEE

3P-215,3P218 - 15 " S
3P-215A8 3P-221,3P-224 : 3.0 «—»‘ ‘H‘
3P-221A8
3P-221A11
3P-224A11 e @
Refer to Fig.A ] S
2MmE A o= @
E1 S L | =
i E
< o] N —
v 8| o S‘
(S N .

1 Joll 14
%(J_i L1 B e ”’lLE

B | [a5°)
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
BA
R IEDLBIHER]

Subject to technical changes

FTRRE SPECIFICATIONS

B BUTER (fR b SHEAND  RARES  REESH 8 EADEE  BARAES
Plunger Jaw stroke &K = &/ Max. Clamping Moment ;
N s (Dia) Max. | Min. Max. D.B. pull r— Max. speed of fineriiia Weight el el Max. pressure
mm mm mm | mm kN (kgf) kN (kgf) min”(rp.m.) kg * m? kg MPa (kgf/cm?)
3P-215 A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 1224 RRE__;S&ES 2.8(28)
RH-200 or
3P-215 Al 35 16 381 50 @ 82(8360) 249(25390) 3000 1.8 1099 116 RK-200(N) 2.8(28)
RH-200 or
3P-218 Al 35 16 450 60 @ 82(8360) 249(25400) 2800 2.32 124 130 RK-200(N) 2.8(28)
RH-200 or
3P-221 A8 35 16 530 59 @ 82(8360) 272.6(27800) 1900 49 177 = 200 RK-200(N) 2.8(28)
RH-200 or
3P-221 Al 35 16 530 59 = 82(8360) 272.6(27800) 1900 49 177 194 RK-200(N) 2.8(28)
RH-200 or
3P-224 Al 35 16 610 = 152 82(8360)  272.6(27800) 1750 7 230 246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 A5 35 16 610 152  82(8360) 272.6(27800) 1750 7 230 2386 RK-200(N) 2.8(28)
4N R ST DIMENSIONS
Model A B © D DIl D2 E El G max. G min. H J K
3P-215 A8 381 na 14 300 235 13972 1714 6 33 104 71 69 36 55 60 M30x35
3P-215 Al 381 n4 130 300 235 | 196.87 | 260 6 22 104 82 69 47 55 60 M30x35
3P-218 All 450 14 130 300 235 | 196.87 | 260 6 22 92 70 57 35 55 60 M30x35
3P-221 A8 530 125 152 380 | 3302 | 13972 1714 6 33 97 64 62 29 55 60 M30x35
3P-221 Al 530 125 146 380 | 3302 196.87 235 6 27 97 70 62 35 55 60 M30x35
3P-224 Al 610 125 146 = 380 | 3302 196.87 235 6 27 97 70 62 35 55 60 M30x35

3P-224 Al5 610 125 146 380 330.2 | 285.78  330.2 6 27 97 | 70 62 35 55 60 = M30x3.5

Model L L M N P Q max. Q min. R max. R min. S T U
3P-215 A8 6~M20 30 24 63.3 165 43 51.25 18.25 775 69.5 62 255 6~M16
3P-215 | Al 6~M20 30 88 63.3 165 43 51.25 18.25 77.5 69.5 62 25.5 3~MI0
3P-218 Al 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 25.5 3~M10
3P-221 A8 6~M24 31 24 71 180 60 96.5 245 86 78 65 25 6~MI16
3P-221 ATl 6~M24 31 28 71 180 60 96.5 245 86 78 65 25 6~M20
3P-224 ATl 6~M24 31 28 7 180 60 96.5 245 125 n7z 65 25 6~M20
3P-224 AI5 6~M24 31 34 71 180 60 96.5 245 125 n7z 65 25 3~M12

1 AT BB 3P-A B2 5F5% (The dimensions and the specifications of 3P-A type are in red data.)
AUTOGRIP 8



BE)/3EE ~ Mg
A 2P[2P-A FERIE

o M NhEKE -
o RBEEHILELLEEBME  WEHEES -
o SHMEEBRSRIFEE -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
gsrraﬂlﬁion Pitch
H__G H_,  _© F1 H G M HEE 1S
2P-08 A5 r -M. ol I
2P-10 A6 = I E g\l el
Refer to Fig.A ',ZZ%* ol = e
ZRE A | EF;‘ 5 = g[g>7 _| o
]
E1 ﬁ\_, I | 14 S j 4
(- -S| L
8u [ = ’ﬁ* = ~ N
Q#j :L i] { [a) K a K | L1 [a)
§ e < o\ Sl 2 ] S|
L §J — A 8 8 ‘ 818 2P-04 Only 4 bolts
L 2P-05 4% 8 12
L. B L/l E L/ L1 B L/ _|E
B B
Fig.A
B A 2P-04 - 2P-05 2PA 2P
RBRRIELHIET)
Subject to technical changes
BTHRHE SPECIFICATIONS
pu—— =
n3 mue | (f SR BEEXAN | RARESH  RBEEM BE  EPEME  BAGRES
Plunger Jawstroke &K &/ Max. Clamping Moment )
— SO (Dia.) Max. | Min. Max. D.B. pull P Max. speed af aital Weight sieliing e Max. pressure
mm mm mm ~ mm kN (kgf) kN (kgf) min”(rp.m.) kg *m? kg MPa (kgf/cm?)
_ RK-75(N) 1.5(15;
2P-04 15 6.4 110 5 5.3(540) 14.7(1500) 6000 0.01 38 RA-130 0.4(4
2P-05 15 64 135 14  53(540)  16.7(1700) 5500 002 58 - Rgz%g) ‘5(‘5g
RK-100(N) 1. 7(17;
2P-06 A5 20 85 165 14 12(1220) 35(3570) 5250 004 12 13 RA-T70 0.4(4
RK-125(N) 1. 5(15;
2P-08 A5 21 8.8 210 17  16.5(1680) 50(5100) 4750 0.13 22 | 26 RA-290 0.4(4
RK-125(N) 1.5(153
2P-08 A6 21 8.8 210 17  16.5(1680) 50(5100) 4750 013 | 22 25 RA-990 0.4(4
RK-125(N) 1.8(183
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 029 33 42 "o 0.4(4
RK-125(N) 1.8(18;
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 029 33 40 RA-220 0.4(4
2P-12 A8 30 10.5 304 22  27.4(2800) 103.9(10600) 3360 070 57 @ 61 RK-150(N) 1.7(17)
2P-15 Al 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 103 RK-200(N) 1.9(19)
ShEYR < DIMENSIONS
Model A B © D DI D2 E El F G max. G min H J
2P-04 nmo 52 - 60 80 - - 6 - - 18 - 3 - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - 6 - 35 28
2P-06 A5 165 74 84 140 1048 @ 8256 16 5 15 21 1026 876 826 676 35 34
2P-08 A5 210 85 103 | 170 | 1334 | 8256 104.8 5 23 25 127 | 104 106 83 36 38
2P-08 AB 210 85 97 170 | 1334 106.38 150 5 17 25 127 1o 106 89 36 38
2P-10 A6 | 254 | 89 109 220 @ 1714 | 106.38 133.4 5 25 34 158 133 133 108 36 45
2P-10 A8 254 89 102 220 @ 1714 13972 190 5 18 34 158 | 140 133 15 36 45
2P-12 A8 304 106 18 | 220 | 1714 | 13972 190 6 18 34 163 145 133 15 36 50
2P-15 Al 381 14 130 300 235 | 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N [ Q max. Q min. R max. R min. S T U
2P-04 MI0x1.5 4~M8 12 - 24 52 14 ns3 8.3 23.3 2011 23 10 -
2P-05 MI2x1.75 4~M8 14 - 31 62 14 135 6 30.4 27.2 25 10 -
2P-06 A5 MI6x2 6~M10 14 14 37 73 20 1825 925 3825 34 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 223 n.s 46.3 41.9 35 14 6~MI10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 223 ns 46.3 419 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 10 30 30.8 n.3 51.1 46.7 40 16 6~M12
2P-10 A8  M20x2.5 6~M16 18 25 43 110 30 30.8 n.3 51.1 46.7 40 16 6~M8
2P-12 A8  M20x2.5 6~M16 18 25 51 130 30 485 125 - - 50 18or21 6~M8
2P-15 Al M30x35  6~M20 30 @ 33 63 165 43 48.8 233 775 69.5 62 255  3~MI10

1 AT BES 2P-A B2 5% (The dimensions and the specifications of 2P-A type are in red data.)
AUTOGRIP



HBERMNITIZS) ) KEE

EXTRA LONG JAW STROKE POWER CHUCK

L

HRELES M B2k ER - B R/TYTAE -

[ )
)
o ERNEEHMER T HARET - |
o SMEERSRIFBE - ?6
® CRANK type single-jaw with the large through-hole and extra long jaw =
stroke.
Suitable for clamping the jig or irregular work piece.
® High rigidity and high clamping accuracy.
Serration Pitch
BEgERE 1.5 M
1L-08A5 E £
1L-10A6 3=
Refer to Fig.A %Eéﬁ
28 A gl ==
| H
©
3/5 o &
=D /D
SIS ag
K
Kl )
=1 B (fro balance weight) 7‘3
. BCE 1L
Fig.A —_—
REBITEER AR A 1L-A 1L
Subject to technical changes R —
FEARTHRH% SPECIFICATIONS
B RUEER R TR sERA ARy BBESM EE  ERUME  BARRES
Plunger =K =) Max. Clamping Moment of :
Model o Jaw stroke Ve | Min Max. D.B. pull . Max. speed - Weight Matching cyl. Max. pressure
mm mm mm | mm kN (kgf) kN (kgf) min® (rp.m.) kg *m? kg MPa (kgf/cm?)
1L-06 A5 20 16 168 5 12.3(1250)  27.3(2780) 3800 0.05 125  14.3 RK-100 1.7(17.5)
1L-08 A5 25 20 215 7 15.7(1600)  37.2(3800) 3000 0.5 242 271 RK-125 1.4(14.3)
1L-08 A6 25 20 215 7 15.7(1600) ~ 37.2(3800) 3000 0.15 242 253  RK-125 1.4(14.3)
1L-10 A6 30 24 254 | 17 21.6(2200) @ 48.5(4950) 2400 028 388 46 RK-125 1.9(19.5)
1L-10 A8 30 24 254 | 17 | 21.6(2200) @ 48.5(4950) 2400 028 388 443  RK-125 1.9(19.5)
4MEYRST DIMENSIONS
Model A Al B © D D1 D2 E F G max. G min. H J J1 K max. L L1
1L-06 | A5 168 95 80 90 140 1048 8256 16 15 21 37 17 25 46 54 M30xl5 MIO 16 16
1L-08 | A5 215 8 93 111 170 1334 8256 1048 23 21 46 21 32 52 70 M33xl5 M2 | 21 19
1L-08 A6 215 8 93 105 170 1334 106.38 150 17 21 46 21 32 52 70 M33xl5 M2 21 20
1L-10 | A6 254 135 108 128 220 1714 106.38 1334 | 25 30 47 17 30 62 90 M45xl5 MI6 25 20
1L-10 | A8 254 135 108 121 220 1714 13972 190 18 30 47 17 30 62 90 M45xl5 MI6 25 27
Model M N P  Qmaox. Qmin. Rmax. Rmin. S T U v(He) = vi(h9) = v2 w w1 X Y z
1L-06 A5 37 73 20 1975 775 46 30 31 12 M6 30 15 45 64 MIO 445 36 30
1L-08 A5 38 95 25 2525 1025 54 34 35 14 MI0O 35 18 45 70 M2 61 52 36
1L-08 | A6 38 95 | 25 2525 1025 54 34 35 14 M6 35 18 45 70 M2 61 52 36
1L-10 | A6 43 110 | 30 3375 1125 67 43 40 16 M8 40 20 5 90 M2 71 585 45
1L-10 | A8 43 110 | 30 3375 | 11.25 67 43 40 16 M8 40 20 5 90 M2 71 585 45

1 ATEEES 1L-A B2 <% (The dimensions and the specifications of 1L-A type are in red data.)

autocrip 10



A 3L/3L-A

HER/N{TIZE) /125

EXTRA LONG JAW STROKE POWER CHUCK

=Mepzssy

A =TBABBALE - BRITUTE -

RBEEIKB(CRBEME - WEEEE -

SHMERRSRISEE -

CRANK type 3-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGIRERESUR TR Z 7K,

K maox B4 4E 818 A B SRS 2 AR, IIKEIRFES
J is the hole diameter of blank draw nut .

K is the maximum thread specification and it could be customize.

EIEN

3L-208 A5 Serration Pitch
3L-210 A6 G BEEEEE 15
3L-215 A8 ~ M
Refer to Fig.A E1 G H ]
2EE A U ]
S\ N —IN ey
o~ R L Rl
a o K HI
S ~ © i \—v =
I
<l O
[SIRN
ggi;
3L-2
REBIREIERMIEF] Subject to technical changes
FARTHR4& SPECIFICATIONS
B BUAR (BB chimibie SEEAND  BARES  BEESH R ERENE  BARRES
Plunger | Jaw stroke = &K =2 Max. Clamping Moment )
Siaie (Dia.) Vier, Min. | Max.DB. pull ra— Max. speed of neritts Weight ) Max. pressure
Model Matchingcyl.
mm mm mm mm kN (kgf) kN (kgf) min”(rp.m.) | kg * m? kg MPa (kgf/cm?)
3L-205 A4 12 18 138 6 15.6(1590)  17.2(1750) 4200 0019 | 72 8 | TK-A533 2.3(23)
3L-206 A5 15 24 170 24  235(2400) 26.0(2650) 3600 0.063 147 159 TK-C646 2.7(27)
3L-208 A5 20 32 215 30 | 34.3(3500) 35.0(3570) 3000 018 | 23 257 TK-A853 2.8(28)
3L-208 A6 20 32 215 30 | 34.3(3500) 35.0(3570) 3000 018 23 246 TK-A853 2.8(28)
3L-210 A6 25 375 260 53  47.7(4870) | 48.0(4895) 2400 0.35 395 46.5 TK-Al075 31(31)
3L-210 A8 25 375 260 53 | 47.7(4870) | 48.0(4895) 2400 0.35 395 45 TK-Al075 3.1(31)
3L-212 A8 30 45 315 61 | 64.7(6600) 61.0(6220) 2100 0.827 673 70.5 TK-A1291 3.0(30)
3L-215 A8 35 52 405 52 | 84.3(8600) 85.0(8665) 1600 258 | 139 | 152 TK-AI5I2 2.7(27)
3L-215 | Al 35 52 405 52 | 84.3(8600) 85.0(8665) 1600 258 | 139 | 145 TK-AI5I2 2.7(27)

1 AT & B 3L-A B2 <15% (The dimensions and the specifications of 3L-A type are in red data.)

11 AutocriP




- HBEM1TIE8) 17KEE =MeeR
’ 3'-/ 3L-A EXTRA LONG JAW STROKE POWER CHUCK

4MEUR~F DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J %’]ﬁ
3L-2056 A4 | 138 65 76 110 826 | 635l 96 4 15 32 1 15 -1 3 20 12 7
3L-206 A5 | 170 84 | 97 140 1048 8256 116 5 18 45 = 65 | 245 -85 95 19 20 =
3L-208 A5 | 215 96 114 170 1334 | 8256 | 1048 5 23 52 7 30  -13 10 20 30
3L-208 A6 | 215 96 | 14 | 170 | 1334 | 106.38 150 5 23 52 7 30 | -13 10 20 30

3L-210 A6 | 260 108 128 | 220 1714 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45

3L-210 | A8 | 260 108 @ 121 | 220 1714 | 139.72 190 5 18 75 85 | 265 | -165 | 15 25 45

3L-212 A8 315 125 138 | 220 1714 | 139.72 190 5 18 91 15 33 -15 3 30 50

3L-215 | A8 | 405 150 177 | 300 235 139.72 | 171.4 6 33 120 125 | 455 | -225 | 10.5 39 60

3L-2156 | All | 405 150 @166 | 300 235 196.87 | 260 6 22 120 125 | 345 -225 | -05 39 60

Model K max. L L1 M N P Qmax. = Qmin. R max. R min. S T U
3L-205 | A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 38.5 295 25 10 3~M6
3L-206 @ A5 M55x2 3~M10 18 15 37 73 20 1525 7.75 51 39 31 12 3~M6
3L-208 @ A5 M60x2 3~M12 18 19 38 95 25 19.25 | 10.25 63.5 475 35 14 6~M10
3L-208 @ A6 M60x2 3~M12 18 | 20 38 95 25 19.25 @ 10.25 63.5 47.5 35 14 3~M6

3L-210 | A6 | M85x2 | M60x2 3~M16 24 20 43 110 30 | 2475 11.25 80 61.25 40 16 3~MI2

3L-210 | A8 M85x2 3~M16 24 | 2] 43 110 30 2475  1N.25 80 61.25 40 16 3~M8
3L-212 | A8 M100x2 3~M16 24 | 21 51 130 30 | 2975 | 1325 96.5 74 50 21 3~M8
3L-215 | A8 MI130x2 6~M20 33 275 63 165 @ 43 | 3475 | 1375 19 93 62 265 | 6~MI6
3L-215 | ATl MI130x2 6~M20 | 33 31 63 | 165 43 | 3475 1375 19 93 62 | 2565 | 3~MIO

1 AT & B 3L-A B2 5% (The dimensions and the specifications of 3L-A type are in red data.)
AuTOGRIP 12



- HBEN1TIE8) /17KEE = ey
’ 2LI2L A EXTRA LONG JTW STROKE—LPOWER CHUCK

AL A BALE - BRIUTE -

BENEIKIBCRIBEIME - WEHEEE -

SEMtEBRSRIFEE -

CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

JEREGIZERESUR TR Z AL,

K mox B3 2451208 ] B RUE T 2 AR, ATIRE IR E RETH,

J is the hole diameter of blank draw nut,

K is the maximum thread specification and it could be customize.

G Serration Pitch

<E_1> G H M BEEEEE 15 s

2L-15A8
Refer to Fig.A
2H5E A

fﬁ

o f
=

R QP

N

=
i
chen

TAT

7°7'30!

2D2

@C Heé

D2
oD1

il

!
L eo

L1 B L E
B
2L-A 2L
Serration Pitch -
HEeEEE 15
2L-208A5 G M
2L-210A6 .G, G_ . H |
Refer to Fig.B E1 T I
2@ B U an ][ S
— MMr-—- o
=) i1 o 2
N K |
~ Y \
© ad
T L
g 25| -+
o Q &77 j
L —= S
|5
L/ |
L1 B L E
T B
2L-2A 2L-2

{REBFRIEIEBIIRF] Subject to technical changes
A% SPECIFICATIONS

3 LD St ST SO P I e S EE  ERENE  BAGREN

Model P;;Jrr;?(zr Jo\(/\é)siggke si;f ilrjm\ Max. D.B. pull MR fCoIg:r;wping Max. speed :;/fl?::t?; Weight aiclilEE Max. pressure

mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg MPa (kgf/cm?)
2L-205 A4 12 18 138 6  10.4(1060) 11.4(1170) 4200 0018 69 77 TK-A533 15(15)
2L-206 A5 15 24 170 24 157(1600)  17.3(1760) 3600 0.063 144 156 TK-C646 1.8(18)
2L-208 A5 20 32 215 30 22.9(2330) 27.1(2760) 3000 0173 22 26  TK-A853 1.9(19)
2L-208 A6 20 32 215 30 22.9(2330) @ 27.1(2760) 3000 0173 22 242 TK-A853 1.9(19)
2L-210 A6 25 375 260 53 318(3250) 37.3(3800) 2400 0.33 40 455 TK-AI075 2.1(21)
2L-210 A8 25 375 260 53 @ 318(3250) 37.3(3800) 2400 033 40 44  TK-AI075 2.1(21)
2L-12 A8 30 45 304 30 @ 43.1(4400) 50.0(5100) 2100 0.8 60 655 TK-A1291 2.0(20)
2L-15 | A8 35 52 385 26 56.2(5730) 53.0(5400) 1600 252 133 147 TK-AI512 1.8(18)
2L-15 ATl 35 52 385 26 56.2(5730) 53.0(5400) 1600 252 133 140 TK-AI512 1.8(18)

1. AT EES 2L-A BLZ <% (The dimensions and the specifications of 2L-A type are in red data.)

3 AUTOGRIP



- BRN{TIE8) 17KEE Gt
’ 2I-I2L A EXTRA LONG JEEW STROKE—LPOWER CHUCK

4MEUR~F DIMENSIONS
Model A B Cc D D1 D2 E El F G max. G min. H J ?}J
2L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -1 3 20 12 ?5
2L-206 | A5 170 84 97 140 104.8 82.56 116 B 18 45 65 | 245 | -85 | 95 19 20 =
2L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30
2L-208 A6 215 96 | 114 170 133.4  106.38 150 ) 23 52 7 30 =S 10 20 30

2L-210 A6 260 108 128 220 171.4 106.38  133.4 5 25 75 8.5 33  -165 8 25 45
2L-210 A8 260 108 121 220 171.4 139.72 190 5 18 75 85 | 265 | -166 | 15 25 45
2L-12 A8 304 127 140 220 171.4 139.72 190 5 18 91 15 33 -15 3 28 50
2L-15 A8 385 | 1560 | 177 @ 300 235 139.72 171.4 6 33 120 125 | 455 | -225 | 10.5 39 60
2L-15 All 385 150 166 300 235 196.87 260 6 22 120 125 345 -225 -05 39 60

Model K max. L A M N P Qmax. Qmin. Rmax. R min. S T u
2L-205 A4 M40x1.5 4~M10 15 15 31 62 14 1575 525 385 295 25 10 3~M6
2L-206 @ A5 M55x2 4~M10 18 15 37 73 20 | 1525 | 7.75 51 39 31 12 3~M6
2L-208 A5 M60x2 4~M12 18 19 38 95 25 1925 1025 635 475 35 14 6~MI10
2L-208 A6 M60x2 4~M12 18 20 38 95 25 1925 1025 635 475 85 14 3~M6

2L-210 A6 M8bx2 M60x2  4~MI16 24 20 43 110 30 2475 11.25 80 6125 40 16 6~M12

2L-210 | A8 M85x2 4~M16 24 2] 43 110 30 2475 11.25 80 6125 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 4625 19.25 77 545 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275 | 63 165 43 bl25 2725 9425 6825 62 2455 6~M16
2L-15 Al M130x2 6~M20 33 31 63 165 43 Bl25 | 2725 9425 6825 62 255 3~M10

1. AT B85S 2L-A BLZ <34 (The dimensions and the specifications of 2L-A type are in red data.)
autocrip 14



3M PERMITIENRE (—) —

LONG JAW STROKE POWER CHUCK

B =M ERE - BRNTE -

RBEEIOKBCRBEME - WEEEE -

St ERRSRIFEE -

WEDGE-HOOK type 3-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch
M HiEEE 15 S

aJ

v
i

IA

H

=t
oo
<

L N L1 B
3M-05
Serration Pitch
M HEE 15 S
T —
! Camia
a1 o] <
|
|
s | ,
Q
L f
Q
L E
REB R IEREIER) B
Subject to technical changes
) 3M-06~3M-12
M SPECIFICATIONS
Jo S =i JJICREE TRFER P = [ = v = :
RIS BUOMTHZ (E1E) Chucking Dia. BEFEwRANS RAKEH e | i BRALEL SAERED
Plunger = Jaw stroke &K =/ Max. Clamping Moment of ;
Model - (Dic) Max. Min. Max. D.B. pull — Max. speed Aottt Weight ailE e Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min” (rpm.) = kg * m? kg MPa (kgf/cm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (3680) 4000 0.04 122 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4(3000) 72 (7340) 3500 0.13 230  RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 343 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26  54.0(5500) 150 (15300) 2500 0.71 59.4  RK-150(N) 3.6(36)
4MBIR<T DIMENSIONS
Model A B c(He) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 B 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 B 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L Ll M N P Q max. Q min. R max. R min. S T
3M-05 3~M8 14 31 62 14 15.5 5 329 27.45 25 10
3M-06 6~MI0 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 223 8.8 475 39.15 35 14
3M-10 6~M16 18 43 10 30 8243 12.8 53.9 441 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

15 AuToGrIP



M SRR M2 (=) I

LONG JAW STROKE POWER CHUCK

B =M ERE - BRINTE -

BENEIKIBCRIBEIME - WEHEEE -

SEMtERB RS RIFEE -

WEDGE-HOOK type 3-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
2]

Serration Pitch HFEi b
3M-215, 3M-218 : 1.5
3M-221, 3M-224 : 3.0

3M-215,3M-218 3M-221 3M-224
Gubioet i tachviool changes
FATHRHE SPECIFICATIONS
g goR | (@ JENE sEROg Baosh  EBEEM | BB ERERE RARPE)
— Pg':g?(ir JovE/Dsiggke 5?; %i/r{? Max. D.B. pull IAIER fCOIrog:ping Max. speed crﬂoi::t?ctx Weight Matching Max. pressure
mm mm mm  mm kN (kgf) kN (kgf) min? (rp.m.) kg * m? kg eyl MPa (kgf/cm?)
3M-215 35 25.4 381 20 91.0 (9280)  158.9 (16200) 2300 1.8 96  RK-200(N)  3.0(30)
3M-218 35 25.4 450 51 91.0 (9280)  158.9 (16200) 2000 2.32 124 RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280)  158.9 (16200) 1350 49 175 RK-200(N)  3.0(30)
3M-224 35 25.4 610 | 160 91.0 (9280)  158.9 (16200) 1250 72 225 RK-200(N) 3.0(30)
4N RSF DIMENSIONS
Model A B c(He) D E F G max. G min. H J
3M-215 381 na 300 235 6 2 104 69 55 60
3M-218 450 na 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60
Model K L L1 M N P Q max. Q min. R max. R min. 5} T
3M-215 M30x35 = 6~M20 30 63.3 165 43 4975 18.25 79 66.3 62 25.5
3M-218 M30x35 = 6~M20 35 63.3 165 43 51.25 18.25 109.5 96.8 62 255
3M-221 M30x35 = 6~M24 31 71 180 60 90.5 245 92 79.3 65 25
3M-224 M30x35  6~M24 31 71 180 60 90 24 131 n8.3 65 25

AUTOGRIP 16



M PERMNITIZKE = Mg

LONG JAW STROKE POWER CHUCK

B M ERE - BRNTE -

RBEEIOKBCRBEME - WEEEE -

St ERRSRIFEE -

WEDGE-HOOK type 2-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch s
M HreEgE 1.5

|
L JLT

N
o

o

o)
I
i

===y

%

w
)

|
e
@D

2M-05

Serration Pitch
M HkEEE 15 s

- |

] e 4

H G @Lj:%z 4
TS e

T &

1
)
I
%Q@

\ =l
< S| Ee=——7t- o
‘ i
E = B
L ]
RLIRARIEHRBOER B T
Subject to technical changes
2M-06~2M-12
B T#RH& SPECIFICATIONS E—
pa =
3 BuFE | (B OER BMEAAN  RAKSH  BBESM | BR  EROBE  RARRES
Plunger  Jawstroke &K =/ Max.Clamping Moment )
— ST (Dia) e Min. Max. D.B. pull — Max. speed o lrerdta Weight e Max. pressure
mm mm mm mm kN (kgf) kN (kgf)  min™ (rp.m.) kg *m? kg MPa (kgf/cm?)
2M-05 15 10.9 135 14 6.5(660) 1(120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 145 165 14 14.3(1460) = 24(2450) 4000 0.04 122 | RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000)  36.6(3730) 3500 0.13 230 | RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22  26.1(2660) 49.3(5030) 3000 0.30 343 | RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670)  66(6730) 2500 071 591 | RK-150(N) 2.4(24)
4N R~ DIMENSIONS
Model A B c(He) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5 160 133 36 45
2M-12 304 106 220 1714 6 70 40 46 50
Model K L 1 M N P Q max. Q min. R max. R min. S T
2M-05 MI2x1.75 4~M8 14 3l 62 14 15.5 5 329 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 387 31.45 3l 12
2M-08 M20x2.5 = 6~MI2 20 38 95 25 22.3 8.8 475 39.15 35 14
2M-10 M20x2.5 = 6~MI16 18 43 10 30 323 12.8 53.9 441 40 16
2M-12 M24x3 6~M16 18 51 130 30 478 133 625 51.6 50 21

17 AutocrIP



A 3v-A

EATEEAHKE(—)

POWER CHUCK FOR VERTICAL LATHE

=MAEHKEER

o MMEZNHERHE -
o PHtIBABAKEE - BRIBEERRIIRNER -
®  WEDGE-HOOK type 3-jaw high speed power chuck.
° Sealed against swarf, chips and coolant, suitable for vertical lathe.
3v-21
Serration Pitch g&gé
H o M_ BB F
u El ]
\ ST
"40"1/\ ‘ E =
{ o
) I . 7 .
§ gggéaﬂl 5| § ===
3V-15A8 . f N g
3V-15A15 =
3V-18A8 L;’V* J
N = — =g
Buiatia o A :
ZHEA Fig.A P e
BB B
Subject to technical changes 3VA 3v
FARTARH& SPECIFICATIONS
wg e | MUTE FHEE  aummkaNn | BAKES  BEEEH | 58 BREHL  BAERESD
(EE) Chucking Dia.
— P;;Z?(Zr Ja\(NDs.;tcrgke I?E/Toj: i’r{\ Max. D.B. pull Max.fcolraczping Max. speed M?g?t?é()f Weight sielhingen Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min”(rpm.) kg *m? kg MPa(kgf/cm?)
av-12 A8 30 127 | 304 30  41(4180) | 156(15900) = 3150 | 073 079 629 687 E'E(:]]gg 2.6(26)
3v-15 | A8 35 16 381 30 | 819(8360) 2451(25000) 2900 197 2.27 1055 1285
3v-15 Al 35 16 381 30 | 81.9(8360) 2451(25000) 2900 | 197 | 2.27 1055 127
3V-15 | A5 35 16 381 30 81.9(8360) 2451(25000) 2900 | 3.33 267 1055 142
3v-18 | A8 35 16 450 80 | 81.9(8360) 2451(25000) 2600 | 3.33  3.62 1327 1555
3v-18 | All 35 16 450 80 | 81.9(8360) 2451(25000) 2600 | 333 3.63 1327 1545 py_200 2.8(28)
3v-18 A5 35 16 450 80 | 81.9(8360) 2451(25000) 2600 | 6.83 4.02 1327 165 = RE-200K | 3.0(30)
3v-21 Al 35 16 530 62 | 819(8360) 271.6(27700) 1800  6.83 7.46 1965 227
3v-21 | A5 35 16 530 62 81.9(8360) 271.6(27700)| 1800 | 6.83 7.37 1965 221
3v-24 | Al 35 16 610 136 | 81.9(8360) 271.6(27700) 1700 | 119 11.83 2417 272.8
3v-24 A5 35 16 610 136 | 81.9(8360) 271.6(27700) 1700 119 1173 2417 | 266
3v-32 A5 35 16 800 136 | 81.9(8360) 271.6(27700) 1100  28.97 29.51 353.6 378
4N R~ DIMENSIONS
Model A B © D DI D2 2 E1l F G max. G min. H J)
3V-12 A8 | 304 107 | 141 | 220 @ 171.4 13972 190 6 40 1.5 n3 73 83 43 36 50
3v-15 | A8 | 381 | 116 | 164 300 | 235 | 139.72 | 171.4 6 54 15 153 99 n8 64 55 60
3v-15 | Al | 381 16 168 300 235  196.87 @ 260 6 58 1.5 153 95 ns 60 55 60
3v-15 A5 | 381 | 16 | 172 | 380 | 235 | 285.78 | 330.2 6 62 1.5 153 9l ns 56 55 60
3V-18 A8 450 | 116 | 164 300 | 235 139.72 | 171.4 6 54 1.5 n8 99 83 64 55 60
3v-18 | All | 450 | 16 | 168 | 300 | 235 | 196.87 | 260 6 58 15 18 95 83 60 55 60
3v-18 | A5 450 116 172 380 235  285.78  330.2 6 62 1.5 18 9l 83 56 55 60
3v-21 | Al | 530 | 127 | 167 | 380 | 330.2 | 196.87 @ 235 6 46 3 137 9l 102 56 55 60
3v-21 A5 530 | 127 | 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 9l 102 56 55 60
3v-24 Al | 610 | 127 | 167 | 380 | 330.2 | 196.87 @ 235 6 46 3 137 9l 102 56 55 60
3v-24 | A5 610 | 127 167 380  330.2 285.78  330.2 6 46 3 137 9l 102 56 55 60
3Vv-32 A5 | 800 | 127 | 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 9l 102 56 55 60
Model K L L1 M N P Qmax. = Qmin. R max. R min. S T U
3v-12 A8  M20x2.5 3~M16 24 | 24 54 130 30 475 16 81 5465 @ 50 21 3~M8
3V-15 A8 M30x35 | 6~M20 | 35 24 66 165 43 5125 | 1825 = 775 = 695 62 | 255 | 6~M16
3V-15 | All M30x35 | 6~M20 | 35 32 66 165 43 5125 | 1825 @ 775 = 695 62 255  3~M10
3V-15 Al5 M30x35 | 6~M20 | 35 26 66 165 43 5125 | 1825 = 775 @ 695 62 | 255 | 6~M24
3V-18 | A8 M30x35  6~M20 | 35 | 24 66 165 43 5125 | 1825 | 108 100 62 255 | 6~M16
3V-18 | All M30x35 | 6~M20 | 35 32 66 165 43 5125 | 1825 | 108 100 62 | 255 | 3~MI10
3v-18 | Al5 M30x35 | 6~M20 | 35 26 66 165 43 5125 | 1825 | 108 100 62 255 | 6~M24
3V-21 | All | M30x35 = 6~M24 41 | 35 74 180 60 935 | 245 89 8l 65 25 6~M20
3V21 | A5 M30x35 = 6~M24 41 | 35 74 180 60 935 | 245 89 8l 65 25 3~M12
3V-24 Al M30x35 = 6~M24 41 | 35 74 180 60 935 | 245 128 120 65 25 6~M20
3V-24 | Al5  M30x35  6~M24 41 | 35 74 180 60 935 | 245 128 120 65 25 3~M12
3V-32 | AI5 M30x35 = 6~M24 41 | 35 74 180 60 1895 | 245 128 120 65 25 3~M12

AUTOGRIP 18

3
7
x
2]




’ 3V-A U ERAREE)FRE () = MBSk B

POWER CHUCK FOR VERTICAL LATHE

B =M B KGR -

EMOEBFERETRE - LRIHERD -

FithiB KBhKEE - BB EARUNER -

WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

= 1 .
59,, B
& . 2
A il .
(Gl Nalyal b L. <| T .
8/8l8| 8 J—T%% 83
Ia) Q
| ] s
| I
L1 ‘ El
3V-40A20
3V-50A20
Refer to Fig.A B -
2B A — B
Fig.A 270 223
& A 76.2 76.2 90
— - - 76.2| 38.1
\
o
g | -
1903 19.03 |||
125 =
83
RERIRIELRIET)
Subject to technical changes 4 Soft jaw SJ-40~79 fE/Tl Hardened jaw HJ-40~79
Fi#T3R#% SPECIFICATIONS
B BUAE | (R b BEEAAD  EAEH  mmEEM R EBENE  BAGREN
Plunger Jawstroke A | &/ Max.Clamping Moment of :
— o (Dic.) Max. | Min. Max. D.B. pull — Max. speed T Weight el el Max. pressure
mm mm mm | mm kN (kgf) kN (kgf)  'min” (rp.m.) kg *®m? kg MPa (kgf/cm?)
3v-40  A20 57 46+(60) 1005 310  180(18350) 320(32620) 630 68 72 780 | 849 4.2(42)
RK-250
3V-50 A20 57 46+(60) 1250 290 @ 180(18350) 320(32620) 500 145 | 148 1000 1050 Rg-250 4.2(42)
3v-63 60 48+(80) 1600 390 200(20390) |360(36700) 400 500 - 1600 - RE‘A22558 4.6(46)
RE-L
3V-79 60 48+(80) 2000 440 200(20390) |360(36700) 320 1250 - 2500 - 4.6(46)
4N R ST DIMENSIONS
Model A B @ D D1 D2 E El F G max. G min. H J K
3V-40 | A20 1005 184 | 226 | 520 463.6 41278 4636 8 50 | 190 123 73| 66 16 65 65 M36x4
3V-50 A20 | 1250 184 | 226 | 520 | 463.6 | 412.78 4636 8 50 | 190 | 123 |73 66 16 | 65 | 65 M36x4
3v-63 1600 222 | - | 720 6476 - - 8 - 28 181 - | 7 - 65 - M36x4
3v-79 2000 240 - | 720 6476 - - 8 - 238 | 133 - | 73 - 65 - M36x4
Model L L1 M N P Q R max. R min. S T u Vv W
3V-40 A20 M24 37 10 270 76.2 295 457 404 6~19.03 = 7~M24  3~MI2 @ 42 84
3V-50 A20 M24 37 10 270 76.2 416 563 510 9~19.03 = 9~M24 3~MI2 = 42 84
3v-63 M30 46 10 270 76.2 540 738 674 12~19.03 | 13~M24 - 42 1o
3V-79 M30 48 10 270 76.2 740 914 850 16~19.03 | 17~-M24 - 42 10

1. AT B EEA 3v-A B2 <% (The dimensions and the specifications of 3V-A type are in red data.)
19 autocrip



MM Bk BE

ITERAREHHKRE(—)

POWER CHUCK FOR VERTICAL LATHE

A 4v-A

B M B3R -

Bl K MhKeE - FRIESEARIIAER -

WEDGE-HOOK type 4-jaw high speed power chuck.

Sealed against swarf, chips and coolant, suitable for vertical lathe.

3
7
x
2]

H G M Serration Pitch
HreasE F s
o A |
i } H
ST Z
B :

3 & SHE [ 3
4v-15A8 11— al ===\ | / e —
VABAS. a ® %
= o[
;eg;tZFig.A L L 3 ‘
Fig.A € T
&%ﬁég SPECIFICATIONS o -
we  mome OB (KEER  awexoan mimesn emEeR EE  ERESE BARRES
—— Pg“:;;?(ir Ja\szsi;rsJke ,\Ejig: E:‘ilﬂ\ Max. D.B. pull ek fCOIS:r:ping Max. speed M?{:th?;()f Weight sl Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min”(r.p.m.) kg * m? kg MPa (kgf/cm?)
4v-12 A8 30 12.7 304 | 48 41(4180) | 156(15900) 2520 | 072|079 | 59 @ 67 EE_’ES 2.6(26)
4v-15 A8 | 35 16 38l 36 | 81.9(8360)  2451(25000) | 2300 | 210 | 2.39 108 @131
4v-15  All | 35 16 381 36 | 81.9(8360) | 2451(25000) | 2300 | 210 2.39 108 @ 130
4v-15 A5 35 16 381 36  81.9(8360) 245.1(25000) 2300 210 | 279 | 108 | 139
4v-18 A8 35 16 450 60  81.9(8360)  245.1(25000) 2050 3.51 | 3.80 1393 | 162
4V-18 Al 35 16 450 60 | 81.9(8360) | 2451(25000) | 2050 | 3.51  3.80 139.3 160.9
4v-18 A5 | 35 16 450 | 60 | 81.9(8360)  245.1(25000) 2050 | 3.51  4.20 1393 172 EEjggK g'ggg%
4V-21 Al 35 16 530 62 | 81.9(8360) 271.6(27700) 1450 | 698 762 199 | 230 '
4v-21 A5 35 16 530 62 | 81.9(8360) 271.6(27700) 1450 | 698 753 | 199 2237
4v-24 | Al 35 16 610 | 152  81.9(8360) 271.6(27700) 1350 | 11.34 11.98 2438 275
4V24 A5 35 16 610 | 152 | 81.9(8360) 271.6(27700) 1350 | 11.34 11.88 243.8 268.3
4v-32 A5 | 35 16 800 | 152  81.9(8360) 271.6(27700) 880 |32.58 3313 | 396 419.9
SMBYR<F DIMENSIONS
Model A @ D D1 D2 E El F G max. G min. H J
4Vv-12 | A8 304 107 | 141 | 220 1714 139.72| 190 6 40 15 n3 73 83 43 36 50
4v-15 A8 38I ne 164 | 300 | 235 [139.72| 1714 6 54 1.5 153 99 n8 64 55 60
4v-15 | Al 381 ne 168 = 300 @235 |196.87 260 6 58 1.5 153 95 n8 60 55 60
4Vv-15 | A5 381 ne 172 | 380 | 235 28578 330.2| 6 62 1.5 153 9l n8 56 55 60
4v-18 | A8 450 116 164 300 @ 235 |139.72 1714 6 54 15 ns 99 83 64 55 60
4v-18 | Al | 450 @ 116 168 | 300 | 235 |196.87 260 6 58 1.5 ng 95 83 60 55 60
4v-18 A5 | 450 | 116 172 | 380 | 235 28578 330.2 6 62 1.5 ns 9l 83 56 55 60
4v-21 | ANl | 530 | 127 | 167 | 380 | 330.2 196.87| 235 6 46 3 137 9l 102 56 55 60
4v-21 | A5 530 127 | 167 | 380 330.2 285.78|330.2 6 46 3 137 9l 102 56 55 60
4V-24 | AN | 610 | 127 | 167 | 380 | 330.2 196.87| 235 6 46 3 137 9l 102 56 55 60
4V-24 | A5 610 | 127 | 167 | 380 330.2 285.78|330.2 6 46 3 137 9l 102 56 55 60
4V-32 | A5 | 800 | 147 | 187 | 380 | 330.2 285.78|/330.2 6 46 3 100 54 65 19 55 60
Model K L M N P Q max. Q min. R max. R min. S T u
4V-12 | A8 M20x25 3~MI6 | 24 24 42 | 110 | 30 51.75 15.756 61.3 54.9 40 16 3~M8
4Vv-15 | A8 M30x35 6~M20 | 35 24 66 | 165 | 43 = 4075 18.25 87.5 79.4 62 2565 | 6~M16
4V-15 | Al | M30x35 6~M20 | 35 32 66 | 165 | 43 @ 4075 18.25 875 79.4 62 255 | 3~M10
4V-15 | A5 M30x35 6~M20 | 35 26 66 | 165 | 43 = 4075 18.25 875 79.4 62 255 | 6~M24
4V-18 | A8 M30x35 6~M20 | 35 24 66 | 165 | 43 51.22 18.22 108 100 62 255 | 6~M16
4V-18 | All M30x35 6~M20 | 35 32 66 | 165 | 43 51.22 18.22 108 100 62 255 | 3~M10
4V-18 | A5  M30x35 6~M20 | 35 26 66 | 165 | 43 51.22 18.22 108 100 62 255 | 6~M24
4V-21 | Al M30x35 6~M24 | 41 35 74 180 60 72.5 245 89 8l 65 25 6~M20
4V-21 | A5 M30x35 6~M24 | 41 | 35 74 180 60 72.5 245 89 8l 65 25 3~M12
4v-24 | Al M30x35| 6~M24 41 35 74 180 60 935 245 128 120 65 25 6~M20
4V-24 | A5 M30x35 6~M24 | 41 | 35 74 180 60 935 245 128 120 65 25 3~M12
4V-32 | A5 M30x35 6~M24 | 36 35 74 180 60 189.5 245 128 120 65 25 3~M12

Autocrip 20



’ 4V-A U EARESIRE () T e B B R

POWER CHUCK FOR VERTICAL LATHE

RPN E RS -

FMOEBFFEFHETRE - DIRITHKD -

Bt B RBAKE&Er - BRIEEEMR ISR -

WEDGE-HOOK type 4-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

4V-40 A20
4V-50 A20
4V-63 A20
Refer to Fig.A
2HEA
E1l
L
N - - ‘J ©
S|8|8s = i 8| o &0
S
Pl .
G || Q
)
L1 L
 E— — | L
B
Fig.A
BA
REFIRIELHIETR)
Subject to technical changes
iR #% SPECIFICATIONS
1 smgm | TUTRZ RIFEE e = - — — =
B3 BRUTE | (Hf)  chuckingDia, BTRANT | BAKES  RECHH ! EE BRSO RARRESD
Plunger Jawstroke = ®A | &/ Max.Clamping Moment of )
Model stroke (Dicv) Max.  Min. Mox DB -pul force Max. speed inertia Wweight Matching cyl, Mo Pressure
mm mm mm | mm kN (kgf) kN (kgf) min? (rpm.) kg * m? k MPa (kgf/cm?)
4V-40 | A20 57 46+(60) 1000 310 | 180(18350) | 320(32620) 500 70 94 740|790 RK-250 4.2(42)
4V-50 | A20 57 46+(60) 1250 290 | 180(18350) | 320(32620) 450 222 | 224 | 1130 | 1180 Eg:iggo 4.2(42)
4V-63 60 48+(80) 1600 | 390 200(20390) 360(36700) 340 565 1800 RE-L250 4.6(46)
4N R<F DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J K
4V-40 | A20 1000 184 | 226 | 520 4636 41278 463.6 8 50 190 139 89 82 32 65 | 65 M36x4
4V-50 | A20| 1250 | 200 | 242 | 520 4636 41278 463.6 8 50 | 190 123 73 66 16 | 65 | 65 M36x4
4V-63 1600 240 @ - 720 647.6 - - 8 - 214 131 71 65 - M36x4
Model L L1 M N P Q R max. R min. S T U Vv W
4V-40 A200 M24 37 10 270 76.2 295 457 404 6~19.03 = 7~M24 = 3~MI2 42 84
4V-50 A20 M24 38 10 270 76.2 416 563 510 9~19.03 | 9~M24  3~MI12 45 84
4V-63 M30 46 10 270 76.2 540 738 674 12~19.03 | 13~M24 - 42 1o

1 ATEEES 4V-A B2 5F% (The dimensions and the specifications of 4V-A type are in red data.)

21 AUTOGRIP




’ 3PS =MPERFREE/IKIE ST

FULLY SEALED TYPE POWER CHUCK

EBHARE - BORBER  BRSEEVER -
HEEANE O RESEEE - BERILETIAIK - B EYHNBA - BERREFEE
B -

o HBEESEALMFRESS BHNERHNZIAMNMI SELARTMIME
- RRIEGERARIIINERK -

o ORBEFCEEFRRITRPLEKIER(ER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and
forgings; or when high-pressure coolant is utilized. Especially ideal for
vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

3
7
x
2]

Serration Pitch
BeeaiE 1.5

G1 ‘
f ﬁgi l
I QI NElla Q
=

gC H6

)

RBIIEIELEONER

Subject to technical changes

TR SPECIFICATIONS
mi7iz KIFERE BEFRK

\ =10 = = = s RAER
py | OTE (Em) N TIN mARS)  REEHH | EE O EMERE 2
PSI;Z?(S JG\?’DSictJr?ke RAMax. &/\Min.  Max. D.B. pull Mox.f((:)lfcrgplng Max. speed | Weight Matching cyl Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min”(rp.m.) kg m? kg MPa (kgf/cmz)
RK-150(N) 2.4(24.4)
3PS-12 30 12.6 304 22 38.5(3925) 160(16310) 3360 0.84 67 RA-270 07(7.4)
4MUR~F DIMENSIONS
G G
Model A B C D 5 [F F1 e iR Gl H d K
3PS-12 315 107 220 171.4 6 2] 67 72 42 57 39 48 M20x2.5
Model L u M N Q Q R R s T v v v v
MaXx. min. max. min. max. min. MaXx. min.
3PS-12 6~M16 21 52.3 130 30 7125  30.75 43 36.7 50 21 26 19.7 28 17

AUTOGRIP 22



=TURIFh =R

RIF TV EN ] 2E 5

QUICK JAW-CHANGE CHUCK

A 3Q

o RANEMNEREE BEBEREES -
o MEARBRAMBHIEERIBENE  LEEEE -
o SHMEBRSHRISEE -
o WMIFMEHELATEMS  TMEZEREAEN -
® The shortest changes time for soft jaw, it is the high repeatability
precision.
Chuck of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.
For safety system that master jaw will complete return when base jaw
and serration match up properly.
G M
E1 G H 1
3~U I P 1 :
|
- ( & I L!_F -
= — E I H o
N =
™ = = ‘ I o
g | j 5
O o - N x
S 8 § 38 s 8 -
1L 4
8 8§
= = =t
T I ‘ I ‘\ \’:”
L1 B L/ 11
3Q-A B
RBAEE LR
Subject to technical changes
i1 SPECIFICATIONS
g pome UITE BEEE  aupian BAKEH | BSESE 1 8 EREET BAGRES
(E) Chucking Dia.
Plunger  Jawstroke &K &/ Max. Clamping Moment .
Model stoke | (Dia)  Max  Min  MaxDBpul force Maxspeed ofinertia VeI \atching oyl M PreSsUre
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.)  kg:m? kg MPa (kgf/cm?)
3Q-08 A6 16 7.5 210 23 45.0(4590) 82.0(8360) 5000 015 245 26.0 TK-A1068 3.1(31)
3Q-10 A8 19 8.8 254 41 60.0(6118)  115.0(11270) 4500 041 440 46.0 TK-A1287 2.8(28)
3Q-12 A8 23 10.6 315 47 81.0(8259)  165.0(16825) 3500 096 73.0 75.0 TK-A1511 2.4(25)
ShES R <) DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J
3Q-08 A6 215 | 98 110 170 1334 106.38 150 5 17 66 14.5 32 -1.5 155 20 30
3Q-10 A8 254 | 119 132 220 1714 139.72 190 5 18 81 8.5 26.5  -105 | 75 39 45
3Q-12 A8 315 133 145 220 1714 139.72 190 6 18 106 8.5 265 -145 35 42 50
Model 1 K max. L L1 M N P Q R max. R min. S T u " W
3Q-08 A6 98 M75x2  M12 17 20 37 95 25 36 20.8~448 17.1~411 35 14 M6 264 80
3Q-10 A8 115 M90x2 Mle6 23 25 42 110 30 40.5 211~528 16.7~482 40 16 | M8 | 312 100
3Q-12 A8 140 M115x2 Mle 22 24 50 110 30 57  341~701 288~648 50 | 21 | M8 | 360 130

1 AIBEIER 3Q-A BLZ~F)% (The dimensions and the specifications of 3Q-A type are in red data.)

23 AUTOGRIP



=M ERTA

RN P E — [T\ KGR

INCLINED MASTER JAWS POWER CHUCK

A 3N

POMBEEREATERRE oIS IHEaENEEERH -
ARAENUEEBERWMBTENBHNR)  AE=TEREEZER - T
O e FRAREEAET -

The surface of the center through cover is grinding treated, it can be the
position base surface of the jig/workpiece.

The slideway of main jaws is inclined. It improves the clamping force and
reduces the upfloat situation of the workpiece.

Work with standard top jaws.

RERA (ERC) -
REEARTHIME -

Airtight pressure detect function is optional.
External gripping only.

Serration Pitch

Axial jaw stroke

PeElE 15 hEmiTiE
3~U
N
L il ,1 1
e\ [EEET S
|
HHE 512
H G =
| - L:
<| O] - - — = 1
QI Q Na=
/ | E—
K L1 ﬁ o)
i LJ
e g —
3~L
E
B
RIS ERRER
Subject to technical changes
1T AR 4% SPECIFICATIONS
B RLTE M BRER | mxexAn  BAKSS  BEEEN | 0 58 BREBI  BAERE)
o AT ER) Chucking Dia. BT A LAk = & =
= = g Mo-
PIun%er Jaw;_troke ;77‘: :j.d\ Max. D.B. pull Max,fCIampmg Max. speed | ment of Weight Max. pressure
Model stroke (Dia.) ax. in. orce e Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.)  kg:m? kg MPa (kgf/cm?)
3N-06 20 8.1 (Eha) 0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 111 RK-100(N) 2.6 (26)
3N-08 23 9.4 (BhE 1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245 RK-125(N) 2.2(22)
3N-10 25 10.2 (#h[@ 1.1) 254 22 29 (2950) 108 (11000) 4000 0.32 345 RK-150(N) 1.8(18)
SNEY R<F DIMENSIONS
Model A B C(H6) D E G max. G min. H K L
3N-06 165 72 140 104.8 5 54.5 345 36 34 M16x2 M10
3N-08 210 85 170 1334 5 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 1714 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N p Q max. Q min. R max. R min. S T V]
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 35 14 M6
3N-10 24 47 11 110 30 33.75 11.25 52.1 47 40 16 M8

AUTOGRIP 24



Y £\

PO/ E) B zlang

FOUR-JAW TWO MOTION TYPE POWER CHUCK

Mmepga

HREL RIS B E1F 2 TR IKEE -

R R A7 oA s LAt IR R A FZ AR T4 -

CRANK type with two pairs of 2 jaws self center independent of each

other.

® The 4T series is suitable for square bar and other nonuniform shaped

workpieces.

B EREMFE Patent numbers:
&% : PATNO.M359385 (Taiwan)

R/=

KPBE : PAT.NO.ZL200920009309.1(China)

DA
2C

REBRBIELAETR
Subject to technical changes

Fe i A48 SPECIFICATIONS

BI5E BT
Plunger
Model stroke

mm
4T-08 17
4T-10 20
4T-12 20
4T-15 25

4MLR <) DIMENSIONS

Model
4T-08
4T-10
4T-12
4T-15

Model
4T-08
4T-10
4T-12
4T-15

A
210
254
304
381

K1
M34x1.5
M45x1.5
M45x1.5

M55x2

H
Serration Pitch
G1 M HeEEE 15 ‘ S ‘
T
15 —
" HEE T
[l o
Gl WJ‘L@f o =
L N
S ]!
‘ o
2 I
a
- S
K1 L1 =a
i
f \ V=
H:f—g
/
E
B
lEE KERE | amaxAn | BANEH | BESSE 1 B8 EFENE
(EfX) Chucking Range
Jawstroke = &A =) Max. Clamping Moment .
(Dia.) Max. Min. BERER S force ERSETPEet of inertia it Matching cyl.
mm mm mm kN (kgf) kN (kgf) min™ (rp.m.) kg-m? kg
13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2  RD-120(N)
16 254 50 21.6(2200) 79.4(8100) 2100 0.35 443  RD-125(N)
16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6  RD-125(N)
19.6 381 60 27.2(2780)  105.3(10750) 1200 2.25 118.3  RD-125(N)
B C(H6) D E G max. G min. G1 max. G1 min. H H1 J
91 170 1334 5 32 15 2.5 -14.5 29 20 61
110 220 1714 5 36.5 16.5 10 -10 36 23 90
110 220 1714 5 36.5 16.5 10 -10 36 23 90
135 300 235 6 445 19.5 5 -20 45 28 125
L L1 M N P Q max. Q min. R max. R min. S
4~M2 20 38 95 25 25.25 13.25 46.1 393 35
4~M16 25 43 110 30 32.25 12.75 59 51 40
4~M16 25 43 110 30 54.75 15.75 59 51 40
4~M20 30 51 130 30 66.5 12,5 789 69.1 50

RAEREN

Max. pressure
MPa (kgf/cm?)
1.7(17)

2.2(22)
2.2(22)
2.7(27)

K
M14x2
M16x2
M16x2

M20x2.5

T
14
16
16
21

25 AUTOGRIP



’ 3D BT E) )25 UL 2
PULL DOWN POWER CHUCK

ORI THMEmFRmMmEn - TN Z T ERESELAR -
SHtECERENARREETBAEE  TABMABE  BERRSBER
mAE -

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

KEMA (Ek) -
Airtight pressure detect function is optional.

K
M S
jsz:ﬁ}j,,,
. ==l |
F G =
|
|
< 9 W I | | B
Q8 8§ 9y =
/ g -
1~J ‘ RS =i Q
L1 XA j
] I~ —
= -
F——— e
RIS B L s
Subject to technical changes B
¥ li#34& SPECIFICATIONS
m  moR LR Chﬁﬁi*ﬁial BHEANSN | BAKESH @ ESESY 1 £8 BERENE  BAGRED
Plunger = Jawstroke &KX = &/ Max. Clamping Moment )
Model " (Dia) Max. Min. Max. D.B. pull force Max. speed of inertia Weight Matching o/ Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg-m? kg MPa (kgf/cm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 45 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
ShE <) DIMENSIONS
Model A B C D E F Gmax. Gmin. H J K'max. Kmin. L L1 M N P
3D-04 110 60 85 70.6 25 20 22 15 25 M10 30 23 3~M10 15 19.5 50 22
3D-05 135 70 110 826 30 25 24 17 28 M12 35 28 3~M10 16 24.5 56 23
3D-06 165 85 140 1048 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 1334 45 36 38 28 38 M20 56 46 6~M12 15 41 84 31
3D-10 254 110 220 1714 55 46 47 32 50 M24 65 50 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 345 53 M27 70 55 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. Qmin. R S T T1 U V (h7) V1 W X Y(H7) Y1l Z Z1
3D-04 37 345 M3 25 22.5 - 3~M6 8 2.5 35 2 8 6 - M10
3D-05 46 43.5 M3 30 27.5 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 577 54.3 M4 35 35 20 6~M6 10 2.5 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 3 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 1019 96.5 M6 60 70 35 6~M10 20 3 90 12 17 7.5 36 M16
3D-15 135.6 1283 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 26



4 2o

BT E) ]38R

PULL DOWN POWER CHUCK

Mg

o] [E RS s TH IS @R SR EEN - FTHA DT EEESEER -
SHEECERNAREBEBHEE  TABMABE  BRESEE
HERE -

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

The body and the cylinder pull-down mechanism are heat-treated and
fine boring, which guarantee the clamping precision and durableness.
KREWA (EK) -

Airtight pressure detect function is optional.

T1

[ 7= N I
13
— BT |- ©
L5
T @ &)
o ! w
3
|
< ojlw/ = | _ _ _ L \ 4
ISR SIRNIRS = v
Q
1~J a
L1 X ] Q U
==, £
15 - _
4L B <] Vh7 Z1
Y B
ST T T
* [ ] |
REBRIBE AR e
Subject to technical changes
1T #34% SPECIFICATIONS
my  omogr R TBEE e BAREn | ssEsm EE  ETEEmO BAEREN
(=x9) Chucking Dia.
Plunger = Jawstroke = =&A | &/ Max. Clamping Moment
Model stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed of inertia ight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min (rp.m.) kg-m? kg MPa (kgf/cm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379) | 40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)
SNEY <) DIMENSIONS
Model A B C D E F G max. G min. H J K'max. = Kmin. L L1 M N P
2D-06 165 85 140 104.8 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 1714 55 46 47 32 50 M24 65 50 M16 24 46 100 38
Model Qmax.  Qmin. R S T T1 U V (h7) V1 W X Y (H7) Y1 z 71
2D-06 57.7 543 M4 35 35 20 4~M6 10 2.5 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 3 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 7.5 32 M14

27 AUTOGRIP



B[S = B ) 28R

PULL LOCK POWER CHUCK

=M pzER

A 3v

S B AR — T 22 368 -

SRFARSEE -

BRESERAREEETHINSGS -

Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.
High radial gripping force and high accuracy.

Suitable for heavy machining.

E
G L
|
<| O - S =T — L
S 8 |8 E8 |y ®
[m)
Q
T
L1
S e el changes B1
i #81% SPECIFICATIONS
‘ B muaEr ME ‘ REEE | muparnn | BAKESH | REESE I ‘ E8  EPEHE | BABEES
(B Chucking Dia.
mm mm ‘ mm ‘ mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? ‘ kg MPa (kgf/cm?)
3U-203 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 3 60 ‘ 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 ‘ 24 17.9(1830) 57.8(5900) 7000 0055 147  RK-100(N) 2.6(26)
3U-208 12 6 132 25  25.0(2550) 80.0(8150) 6000 014 255  RK-125(N) 22(22)
3U-210 10 5 163 ‘ 34 31.0(3160) 100.0(10100) 4500 0.36 435 RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0 RK-125(N) 3.1(31)
M R~ DIMENSIONS
Model A B Bl  CHe D E F Gmax Gmin. H ) L 11
3U203 8 | 545 42 70 54 35 25 18 14 22 38  M20xL5 3~M8 11
3U-204 110 725 55 8 | 706 4 30 16 10 245 42 M24x15 | 3~-M10 12
3U-205 135 845 63 110 826 4 35 6 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 ‘ 10 31 60 M38x1.5 3~M10 16.5
3U208 210 137 92 170 1334 5 52 23 1 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 1714 5 75 25 ‘ 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 1714 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Qmax Qmin R s T U(He) V. Wmax  Wmin. X
3U-203 12 26 M5 7.5 6.5 38 15 10 32 3.5 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 41.5 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 13.25 72 30 17 58 6 5 -5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3U-210 39 74 M14 2075 1825 107 40 17 93 6 5 5 M8
3U-212 44 74 M14 4425 41.75 130 40 17 114 6 5 -5 M10

AUTOGRIP 28



’ 3U-K B[S $H T B ) 28R Slike e

PULL LOCK POWER CHUCK

HIT BN — P B IR -

SRENRSEBE -

BRlEeEARBEETHNGS -

olaRZeH  ETHRUERR  BaRERIBENEK -
Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

Can work with the airtight detection device to perform axial position
confirm, suitable for the precision of large length size process.

OA
ac
aJ

KA1 ‘

b

L1

REBRABIELROER] B1
Subject to technical changes

i #21% SPECIFICATIONS

772 EISEI=KEd

it BT (E%) | Chucking Dia. BHFRAAN RARES R EEH I B8 T REE RAEREN
Model Psltjrggkzr JavEIDSitar.())ke 527; i/l%lli\ eSS Dl o) Max.gir:ping Max. speed C’\’/fki)F:T:tri]; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min (rp.m.) kg-m? kg MPa (kgf/cm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8  RL-100, RL-A100N 2.0(20)
3U-206K 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 149 RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.8 RL-125, RL-A125N 2.2(22)
3U-210K 10 5 163 34 31.0(3160) 100(10100) 4500 0.36 440 RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 | 81 35.0(3570) 100(10100) 3600 0.68 63.8 | RL-125, RL-A125N 3.1(31)

§hE R ~F DIMENSIONS

Model A B Bl C(H6) D
3U-205K 135 845 63 110 826
3U-206K 168 118 80 = 140 1048
3U-208K 210 137 92 170 1334
3U-210K 254 152 102 220 1714
3U-212K 304 157 102 220 1714

F F1(H8) Gmax. = Gmin. H H1 H2 J K K1 L

35 14 16 10 42 12 - 50 | M25x15 22 M10
45 14 20 10 48 12 30 60 M28x15 24 MI10
23 11 51 15 30 80 M35x15 30 M1l2
75 16 25 15 51 15 30 105 M38x15 34 Mle
100 16 25 15 51 15 30 135 M45x15 40 Mle

it L1 L1 A m
w1
)
=
[S)

Model L1 M N P Qmax.  Qmin. R S T T1 U(H6) Vv W max. W min. X
3U-205K 15 20 415 M8 13.25 1175 55 24 25 155 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 1575 13.25 72 30 30 26.5 58 6 5 -5 M5
3U-208K 18 34 63 M12 1625 13.25 82 35 30 325 68 6 5 -7 M6
3U-210K 23 39 74 M14  20.75 18.25 107 40 30 36.5 93 6 5 =5 M8
3U-212K 26 44 74 M14 4425 4175 130 40 30 36.5 114 6 5 -5 M10

29 AUTOGRIP



A 3k

AR BTV E) /] R 6

EXPANSIBLE PULL LOCK POWER CHUCK

=MpER

BRARAERE -

ORI THMEmRFEMmERN - IR DZUEMESEAER -
SEELEN  BamEREMmL -

Suitable for internal gripping.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

With high precision and stability that chuck suitable for end process.
KREWMA (ERK) -

Airtight pressure detect function is optional.

REBRBIELAETR
Subject to technical changes

Fe i AR 4% SPECIFICATIONS

3E-06 ~ 08~ 10 3E-05

Soft jaw : typeB
IRAELTBEY

Soft jaw : typeA
IRELE AR

3~P

—

=
—
=

‘ D | moE | O ‘ el ‘ BHEANN  BANES | REEME 1 EE  BRESL SAGRE)
‘ Model Psltjrr;?(gr Javzlljs.it;gke &AMax. &/J\Min.  Max. D.B. pull Max.f(ci)lracr:ping Max. speed gl?;gfg; Weight  Matching =~ Max. pressure
‘ mm mm ‘ mm mm ‘ kN (kgf) kN (kgf) min‘t (rp.m.) kg-m? kg ok MPa (kgf/cm?)
3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 ‘ 110 44 ‘ 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 ‘ 190 60 ‘ 35.0(3570)  100.0(10200) 3600 031 395 RK-150 2.8(28.5)
AhEYR<T DIMENSIONS

Model A B Bl (HCG) D E ‘ (HF8) ‘ mGax. mGin. H J K L L1
3E-05 135 98 72 110 82.6 25 18 18 12 25 8 M16 M10 15
3E-06 165 112 80 140 104.8 35 ‘ 18 22 12 30 8 M16 M10 16
3E-08 210 135 90 170 1334 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 1714 50 ‘ 25 25 15 48 10 M24 M16 23

type A type B 1

} Model M N P Q max.yp Qmin.  Q max.yp Q min. max. 3 min. R s T (p.t:J.d) (P-\éd)
3E-05 20 25 M6 68 50 83 67 50 29 25 M6x12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6x12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49 M6x12 170 100 170
3E-10 35 40 M10 127 110 190 125 110 60 59 M8x16 210 120 210

Autocrip 30



i
s
3]
7
L3
G|

A 3w/[3w-c

BN AR = TR EE

SWING TYPE 3-JAW POWER CHUCK

= Mg R

&
=N/

U

H#1E5m 2020
TAIWAN EXCELLENCE

o
4G
,Qo‘f :
v

=MEE S TH - (BEROE 3W)
BaBHLRESRMBETNL -

FRIEaERARBEEEHINEGS -

PERIHREZSE - ERETIEEMER -
BEEaRESHIUESMMMUBEIRECRE - DURAERFERSD -
MBS RS TH - (BOFED 3W-C)

IHROFBES2mm - POIREEM -

Swing and grasp the workpiece to three jaw. (3W is automatically
positioned to the center type.)

Suitable for such materials as the casting and forging to process.
Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when
maintenance.

Swing parts are to heat treatment hardened and ground for steel, in
order to improve products service life.

Swing and grasp the workpiece to three jaw.(3W-C is center
compensation type .)

The workpieces compensation of eccentric is 2 mm, fixed position for
the center thimble.

AIE TG, RIR TR =i mMAE =, (ERE R )

KRR IEHNR, MR IR eI e IRk,

Carbide gripper is optional. * The type of the carbide gripper is selected according to the work-piece conditions.
According to different processing requirements, 0.D. Gripping and |.D. Gripping can be interchanged.

$58f ME = Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1 i
1.2
10 /7.1 M5x0.8 14.2 71 M5x0.8 48 136 M5x0.8
" L £ TN
== — —_ == — — M = =~
N S I/ = ¥ e s
]50.‘;7‘ 15°j7_.7, ‘ ]ﬁ
SMEF$F 0.D. Gripping PIfE3EIF 1.D. Gripping B/)\E$58EE Min. Gripping range
SEER T
EifgClearance
5 min. 3(mm)
. i ATIEA
2 ) s tom
LY 1or
w f
e —— SRR
min. 7(mm)

31 AutoGRIP



’ 3wl3w_c HEEN B B hI = T\3EEA = Mg
SWING TYPE 3-JAW POWER CHUCK
M M1 T
U U 6~P3
L
H G 7J/
= — - 5
S8 g3 —t-—— .
‘ Vil
K X1 min. K
G|
F—F— 4
E
L1
B
{REB RIS AR
Subject to technical changes
BHIRRAE SPECIFICATIONS
vy mofe [WE (OFAE | SENEL smRin mxoEn  REEEM 1 BB ERESE WNE
mm mm mm mm kN (kgf) kN (kgf) (rnpl"r]nl) kg-m? kg o mm
3W-08 14.4 9.8 16~150 76~203 25(2550) = 85.0(8670) 3700 0.12 23 RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 25(2550) = 85.0(8670) 3700 0.12 23 | RK-100(N) 2
3W-10 1756 125 50~205 85~235 | 35.3(3600) 105.9(10800) 2500 0.37 | 48.6 | RK-125(N) -
3W-C10 17.5 12.5 50~205 85~235 | 35.3(3600) 105.9(10800) 2500 0.37 | 486 | RK-125(N) 2
3W-12 17.5 125 63~240 127~305 | 35.3(3600) 105.9(10800) 2400 073 65 | RK-125(N) -
3W-C12 17.5 12.5 63~240 127~305  35.3(3600) 105.9(10800) 2400 073 65 | RK-125(N) 2
3w-15 225 15.9 76~317 165~381 | 56(5600) | 168.2(16800) 2000 1.81 97 | RK-150(N) -
3W-C15 225 15.9 76~317 165~381 | 56(5600) 168.2(16800) 2000 1.81 97 | RK-150(N) 3
4R DIMENSIONS
Model A B C(H7) D E F m(Zx. Gmin. H J K L L1 M M1 N P Pl P2
3w-08 210 89 170 1334 5 34 519 375 40 50 MI8x25 MI2 19 193 | 565 527 16 38 | 80
3W-C08 210 89 170 1334 5 34 519 375 40 50 MI8x25 M2 19 193 565 527 16 @ 38 | 80
3W-10 254 106 | 220 1714 5 | 42 675 50 48 58 M24x3 M6 24 | 29 | 60.5 656 | 17.8 | 444 100
3W-C10 254 106 220 1714 5 @ 42 675 50 | 48 58  M24x3 MI6 24 29 605 65.6 178 444 100
3w-12 304 106 | 220 1714 5 | 42 675 50 48 58 M24x3 M6 24 29 | 60.5 656 | 17.8 | 444 100
3W-C12 304 | 106 220 1714 5 @ 42 675 50 | 48 58 M24x3 MI6 24 29 605|656 17.8 444 100
3W-15 381 120 300 235 | 5 55 625 40 46 @ 80 M27x3 M20 30 324 72 | 743 19 | 635 140
3W-C15 381 | 120 300 235 5 55 625 40 | 46 80 M27x3 M20 30 324 72 | 743 19 | 635 140
Model P3 Q R RI S T u v(h7?) W W (H7) | w1 | X(H7) X1 Y Y1 z 71 72
3W-08 M2 | 95 | 269 224 60 57 2 794 3 | 1268 7 34 | 35 46 M6 32 | 32 MIO
3W-C08  MI2 95 | 269 224 | 60 57 2 794 3 | 1268 7 34 | 35 46 M6 32 | 32 MIO
3W-10 M2 T2 | 403 226 72 70 | 25 127 3 | 1903 7 45 5 60 | M8 36 36 MIO
3W-C10  MI2 112 403 226 72 70 25 | 127 3 1903 | 7 | 45 5 60 M8 36 36 MIO
3wW-12 MI2 1325 403 | 226 925 70 | 25 127 3 | 1903 7 45 5 60 | M8 36 36 MIO
3W-C12  MI2 1325 403 226 925 70 25 | 127 3 1903 | 7 | 45 5 60 M8 36 36 MIO
3W-15 MI2 172 | 514 283 121 | 80 2 | 127 3 | 1903 7 | 56 3 90 | M8 36 36 MIO
3W-C15 M2 172 514 283 121 | 80 2 | 127 3 1903 7 | 56 3 90 | M8 36 36 MIO

AUTOGRIP 32



A 3R 1R B 1 0 = T35 =

SWING COMPENSATING TYPE 3-JAW POWER CHUCK

ITHROBES2mm - POIRFHEMN - = TUESRFIHE -
FRMIKBHE - BIEKRMIEIR - EfRELIFEMER -
BEERESHOUSSMMMUBREREERIE - LIEAERERS® -

The workpieces compensation of eccentric is 2 mm, fixed position for

the center thimble, swing and grasp the workpiece to three jaw.

® Special seal proof for dust and cutting fluid, it is more convenient when
maintenance.

® Swing parts are to heat treatment hardened and ground for steel, in

order to improve products service life.

M
G M1
i
H1 } a
0y~ | =z
(o4
L2
<| O Al | p—
Qv o l
~
e 3
S
L
RBIBIE SRR
Subject to technical changes
g #i1E& SPECIFICATIONS
Eidkr7 BT ﬂ'\ﬂjz %%Ef‘é‘ BIFEAAN BRAIS T ReEEYH I ES HEREE HES
(B) Chucking Dia.
Plunger | Jaw stroke BA =2\ Max. clamping Moment of . } )
Vodel — (Dia) Max. Min. Max. D.B. pull force Max. speed inertia Weight  Matching = Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) kg-m? kg &l mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
AhEYR<F DIMENSIONS
Model A B C(H6) D E F Gmax.  Gmin. H H1 J K L L1
3R-08 210 105 170 1334 5 57 26 6 42.5 36 104 M20x2.5 3~M12 20
3R-10 254 115 220 1714 55 64 36.5 11.5 25 39 15 M20x2.5 3~Ml6 225
Model M M1 N P Qmax. = Qmin. R S T (H7) u " V1 W W1 X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 3 40 7 M14

33 AuTOGRIP



’ 3J PEISHE) )R =MRe

FINGER POWER CHUCK

BRI ImERE - BlE T RSER - EaEET 4L -
REFMEEE  IXRFARANGE 2 TH -

Gripping at the end face and preventing deformation of workpiece.
Suitable for thin wall workpiece processing.

The gripping compensating mechanism can grasp the irregular surface
workpieces well.

RERA (Efk) -

B Airtight pressure detect function is optional.

Clampiggistroke Rotating Stroke
B8R A51T12 12:881712

Rotating Angle
G M \ 6p- BHEAE
5 S
e b = for 057,06”
— 4 -
—1—EHE - § ‘
|

i | Jaw is option
"71;{ 4 TU(ERL)

EA

DA
@C H7

®
RS
I
&
Q
REBABIBLHIER
Subject to technical changes for 05”,06” for 08”,10",12”
Fr 38 SPECIFICATIONS
By EEmER | AL MHEE Chﬁfﬁﬁia BHBANS BAKSEH BECEE 1 2  ERENET  BAGHEN
Rotating = Claming Jaw's BA &N Max. Clamping Moment g
Model stroke stroke  compensation | Max. Min. Max. DB pull force Max. speed of inertia Weight Matching cyl. s [DreEs Ui
mm mm mm mm mm kN (kgf) kN (kgf) min (rp.m.) kg-m? kg MPa (kgf/cm?)
3J-05 12 8 2 53 25 75(765)  6.0(612) 4000 002 110 RK-I00OR 4540
' : : 0 Rk-1000n) b
RK-100 OR
3J-06 12 8 2 79 55 900918)  7.5(765) 4000 004 | 120 |Qoomy| 1202
RK-100 OR
3J-08 12 8 2 106 75 180(1835) 16.5(1680) 3500 013 230 [idony  25@5)
3J-10 12 8 25 150 119 180(1835) 165(1680) 3500 = 030 330 RK100OR ;) g0g
RK-100(N)
3J-12 12 8 25 200 169 180(1835) 165(1680) 3000 056 440 RK-I000R ) 550
RK-100(N)
S5 2 ~<F DIMENSIONS
Model A ‘ B C D F G max. G min. J J1 K
3J-05 135 86 110 826 40 75 55 25 9 M12x1.75
3J-06 165 86 140 1048 45 75 55 28 12 M16x2
3J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
3J-10 254 95 220 1714 56 75 55 38 16 M20x2.5
3J-12 304 95 220 1714 56 75 55 38 16 M20x2.5
Model L L1 ‘ M max. M min. N p Q R S T U
3J-05 M10 15 56 36 20 M10 425 27 3~M6 50 -
3J-06 M10 15 56 36 20 M10 57.5 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 775 535 6~M8 104 20°
3J-10 M16 24 7 51 25 M12 995 755 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 1245 100.5 6~M8 190 20°

AUTOGRIP 34



“MeER

PEEH 8 /IKER

FINGER POWER CHUCK

o HITHIRERE BETHREER EEeEETEHEMT -
o IREMEWE RFAHRARE 2 TH -
® Gripping at the end face and preventing deformation of workpiece.
® Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular
surface workpieces well.
g N RERA (GER).
“ M Airtight pressure detect function is optional.
Vi)
L
i} Clamping stroke Rotating Stroke Rotating Angle
8L FFITIE 12081712 | 60 eEAE
S M 56
{ 2~P
HERID 2 o for 05”,06”
=== Iz
T <
- N
i s T g gy
12| 30 i 1 / T |
<% ﬁﬁﬁ%ﬁ%ﬂ — 5o ¢
S 8 Q’\ % | — Q k
< K;
é Q‘__ ‘ | @
E=—p
N\4~L S
B
10 8
< o
) R ~f 8
T o T
N [to) 1
g 5 @ S 2 g
5] N
REBIREIEREIET] ‘ 30 ‘
Subject to technical changes
. for 05”,06”
B SPECIFICATIONS
P OWGR JSTR TEHE  (JOUUT | SHBANN | BANEN EREEB | ER OORESE | RARAEN
Rotating | Claming Jaw's HE-ZE-U) Max. Clamp- Moment ;
——- ST comtpensq Max. | Min. Max. D.B. pull ing force Max. speed of loeidta Weight ) Max. pressure
Model on Matchingeyl.l
in-l
mm mm mm mm | mm kN (kgf) kN (kgf) (rn[;”r]n) kg * m? kg MPa (kgf/cm?)
2J-05 12 8 2 53 25 50(510)  40(408) 4000 0015 90 EE:}gg&F; 0.7(7)
2J-06 12 8 2 79 55 60(612)  50(510) 4000 | 0035 9.8 E'éjgg(%* 0.8(8)
2J-08 12 8 2 106 75 120(1224) = TMo(22) = 3500 012 | 203 EE:}88&§ 17(17)
2J-10 12 8 25 150 19  120(1224) = TMO0(22) = 3500 = 028 @ 307 E'é:}gg(?s 17(17)
24-12 12 8 25 200 169 120(1224) = 1.0(1122) 3000 052 | 412 E'é:}gg&r)* 17(17)
4N R<F DIMENSIONS
Model A B C D F G max. G min. J J K
2J-05 135 86 10 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 75 Bk 28 12 M16x2
2J-08 210 90 170 133.4 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
2J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
2J-05 M10 15 56 36 20 M10 425 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 5755 40 4~M8 64 30°
2J-08 M12 18 7 51 25 M12 775 53.5 6~M8 104 50 °
2J-10 M16 24 7 51 25 M12 99.5 75.5 6~M8 140 50 °
2J-12 M16 24 7 51 25 M12 1245 100.5 6~M8 190 50 °

35 AuTOGRIP




AP AAEPZERENHEE (—) =M=
LARGE THRU-HOLE AIR CHUCK
BABERDIE - NERE  EAEHIT -
SAERRA - TERESS - BEAIATHREENE  T6a%

RRBEERE -

® large through-hole 3-jaw power chuck with build in air cylinder.
® Patented air supply system, it is easy to install and maintain. No
abrasion issue of traditional sealed ring. Maintenance cost and time
can be saved.
B EFEMRFIN Patent numbers:
f8E : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
H7 : 3169457 / 3178706 (Japan) / BREE : EP 2517822 B1 (EU)
ARFE:ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)
A& : M440159 / M415011 (Taiwan) / 2B : US8770222 B2 (US.A)
FAA 1 0000278076(Italy)
2~RC1/8" F—'GO'S 2~TH3/8" . \1 6~97
U] Position for fix;crew '\\
= SREEEBHE \ 8
4~26.5 \\ —
/ \
=S i L |
T T B : i
4 semration Pi | o
L+ erration PItCl} i LS |
= HEEIEE 1.5%60 \ g
i 1/®
225 I;] M . g
- i _K
525 | |
|G \
. b — e —
B o @
\f;/,z
1l
5 J s -
S Sl g -
[a]
Q ﬁ
|| -,
L
IREBIRBIE LR = B
Subject to technical changes AP-A
1T #31& SPECIFICATIONS
g B TTREE | EE BAGEEN | BAKESH | BSEAY 1 e R
v - = Chucking Dia. > ) REAE = (5P /7 6kgf/cm?)
Model Thru-hole Dia. Javlesitar.())ke :/I_iaj; i/l_ilﬂ\ Max. pressure Max‘élracr:plng Max. speed M(i)r:]eftri]; @i Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min™ (rp.m.) kg-m? kg lit (at 6kgf/cm?)
AP-52 Ab 52 59 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 | 30 3.1
AP-66 A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 04 38 | 45 51
AP-86 A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 112 12
MBS R ~F DIMENSIONS
Model A B C D D1 E E1 F G H J K L
AP-52 | Ab 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 | A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 | A8 315 142 169 220 295 139.72 6.5 27 86 215 67 268 2 6~M10
AP-115 | A8 | 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. S T U \
AP-52 | A6 15 18 37 73 20 21.2 9.2 38 351 31 12 1455 | 6~M12
AP-66 | A6 16 18 38 95 25 237 8.7 50.2 46.4 35 14 1595 | 6~M12
AP-86 | A8 16 24 43 110 30 32.2 12.7 62.2 57.8 40 16 1845 | 6~M16
AP-115 | A8 16 24 51 130 30 447 14.7 77 717 50 21 212 6~M16

1 AL E IR AP-A B2 <13 (The dimensions and the specifications of AP-A type are in red data.)

AUTOGRIP 36




’ AP AFLIE o 2E B 3eEE () =z

LARGE THRU-HOLE AIR CHUCK

.}\'. o BRBEAKRENNE NEREL BaEMMI -

lo\f o REANREB"ENBH"HE - SERHMENEENIER - BREFZE
A5 2018 o FAERAM ZERERS FRERIREBHREBEEE  JHE
TAIWAN EXCELLENCE

LBERREEMR -
Large through-hole 3-jaw power chuck with build in air cylinder.
With build-in "pressure detection" device in chuck which can check the pressure is
lowered rapidly within the chuck, guarantee to the security of operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

== O =00

B EREMFI Patent numbers:
2B : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
HZ : 3169457 /3178706 (Japan) / BRER : EP 2517822 B1 (EU)
APE:ZL 2011 201413249 / ZL 2012 2 0274549.6 (China)
&% : M440159 / M415011 (Taiwan) / =B : US8770222 B2 (U.S.A))
EAF: 0000278076(Italy)

Position for fix screw

ZEEEBRHUE
Z-RCUE 2~TH5/8" 4285
- M
pressure detection |\ / &
(0.d clamping only) A AT
ENRARBRERIK) ,," LI e /
Ol e e
Kl 250N/ |
= /
B At (=
5 jﬁﬁ v !G # T / gi\r_%%%y device
2L *’t T o 2 N~ | B R
~ — \/\
T x
8 1l < E s
8
a E
Q| -
L2 ﬂ‘/\\i Q| ©
R —
L1 El ‘
B L1 H
REBRIBIELAETR ‘ L
Subject to technical changes AP-A B
i #31E SPECIFICATIONS
5 %7 i miTi2 THER = : = g = oy = ERHFEE
R BLE | @i | chuckmgDia | BAEREN | EATSH | REESH | EE | eEmd oot
Thru-hole = Jawstroke = &K =\ Max. Clamping Moment ) . .
Model Dial (Dia) M Mint Max. pressure m— Max. speed T Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min‘t (rp.m.) kg-m? kg lit(at 6kgf/cm?)
AP-145 | A1l 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 | 182 17.8
AP-185 A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 | 223 22
AP-230 A15 230 17 535 170 0.6(6.1) 150(15290) 1300 111 265 | 310 34
AP-275 | A20 275 17 580 200 0.6(6.1) 160(16310) 1100 15.5 301 | 346 39
AP-320 A20 320 17 658 200 0.6(6.1) 180(18348) 1000 27.2 415 | 505 45
AP-375 | A20 375 24 738 260 0.6(6.1) 210(21406) 900 44.2 530 | 545 55
ShEY <) DIMENSIONS
Model A B C D D1 E E1 F G H J K L L1
AP-145 Al11| 400 198 231 300 365 196.87| 8 33 145 34 120 420 35 9~M12 20 31
AP-185 A15 460 198 238 300 405 |285.78| 8 40 185 44 120 460 3.5 9~M12 20 35
AP-230 A15 515 226 266 380 483 28578 8 40 230 49 145 535 35 6~M16 24 35
AP-275 | A20| 560 232 272 380 528 41278 8 40 275 52 152 580 35 6~M16 24 35
AP-320 A20| 615 256 306 520 580 41278 8 50 320 55 116.5 | 658 3.5 9~M16 25 33
AP-375 A20| 690 272 322 520 650 |412.78| 8 50 375 55 127 738 3.5 9~M16 28 33
Model L2 M N P Qmax. | Qmin.  Rmax. = Rmin. S T u \ W X A
AP-145 All| 6~M20 63.7 165 43 535 235 98 91 62 25.5 57° 242 0° 38 20
AP-185 Al5| 6~M24 63.7 165 43 535 235 118 111 62 25.5 58° 272 7° 38 20
AP-230 Al5| 6~M24 717 180 60 48.5 18.5 145 136.5 64 255 30° 300 7° 33 15
AP-275 | A20| 6~M24 71.7 180 60 48.5 18.5 167.5 159 64 255 30° 322 7° 30 12
AP-320 A20| 6~M24 815 210 60 60.5 245 190 181.5 74 30 52° 350 7° 27 9
AP-375 | A20| 6~M24 81.5 210 60 66.5 24.5 2235 2115 74 30 52° 387 7° 27 9

1 AL BB A AP-A BLZ <3 (The dimensions and the specifications of AP-A type are in red data.)
AUTOGRIP



A Ars

AALIE

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

ERENNGE (_EBATE) SCEL

=3

BABACKEINRE - NEREE - BEEMMT -

REEARE"B OB S - BERHREAN SR ER - BRERELE -
BIIRASR  TERZRES  BERIKTHIRERLE 068
LBEREBEMA -

RIAA R A" REFRA "B - BEB R RN REMBTREPRE LG - EMER
WESS BT T RISt 28 - (RERARIMEKRE)

METTIE - OJENERFAARERE -

Large through-hole 3-jaw power chuck with build in air cylinder.

With build-in"pressure detection"device which can check the rapidly decreasing
pressure within the chuck, guarantee to the security when operating.

Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

The build-in "clamping detection" device can avoid jaws clamping the workpiece during
the rapid stroke stage. This mechanism can also prevent causing the damage of the internal
parts or flying out of workpiece.(only for external clamping)

Extended jaw stroke design can shorten the processing time when gripping.

AR RETERRBEERHEN 2R -

Notice : No clamping in rapid stroke period.

Position for fix screw
REREEEMUE

‘ 1-265 %
I}
D)
— = N
- o Lol 1 o
T M SR o7
i |
T vy | r— KT+
1
H‘m’_ﬁ Air supply device
j[[# o o
1 B L’—‘ Z
o
~
< I w| |
Q| o Q
Q
E S
r 1 |
o —
L L1
Rapid_st;oke
B .
| RRGE
I T T I
% 4,,, Rapidstroke  Clamping stroke
RETE REGTR
_ |
|
{REZIRABIS AR Subject to technical changes 7% -
i #31E SPECIFICATIONS
19 SE 7 72 1 EE =g =y = ERHFEE
sk B (EE) Chucking Dia. BAREET EaOEH I E (EEFRIES) bkgf/cm?)
Model Thrlgi-:ole Javzsit;gke A Max. &/\WMin.  Max. Clamping force Max. speed M?::S; ey Weight Air Consumption
mm mm mm mm kN (kgf) min(r.p.m.) kg-m? kg lit(at 6kgf/cm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
ShES R <) DIMENSIONS
Model A B C D E F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U Y W X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

AUTOGRIP 38



H &) 7y [E 38R

POWER INDEXING CHUCK

s

FTHEEBREPETOEERME - RS E TIrs 2 EETRREIR -
REABSHIIEEERIBERNE - WEEEE -

BaK K BRI BERET -

SHtEERSEERRE -

BENDERARRBLZE - KEEBRNRAEE R4S -

Indexing operates during the spindle rotation, can perform a quick change
between multiple working axles.

® All parts of chuck hardened, ground and lubricated directly.
® Sealed against swarf, chips and coolant.
® High rigidity and high repeatability precision.
® Unique indexing system and hydraulic system, with pressure detection
device in chuck, high reliability.
J
K
L T T
Clamp Stroke
RETE
6
,4'7
] o)
SIS E%i[ = -
|
=] >
Wil
4~M16
5
sl
(REBIBIEIELAOMT
Subject to technical changes
Fe i A48 SPECIFICATIONS
T pu— 5 gEEl (- SR =y = /B E
Btk DEAE miTie Chucking Area BEDHEET BAKSETS R EEY I - o) A
Index Angle | Jaw stroke EfEDia fHlen Max. pressure Vpe CEeiig Max. speed Nomen Weight T Speitele
Model Max. Max. force of inertia ROTATING JOINT Bore
Deg mm mm mm kgf/cm? kN (kgf) mint (rp.m.) | kg-m? kg mm
1S-254 4x90° 20 65 160 45 19.5(1990) 2400 0.41 41 IS-315 86+0.1
1S-275 4x90° 20 80 220 45 25.4(2590) 2100 0.61 52 IS-315 86+0.1
1S-315 4x90° 20 100 230 45 25.0(2550) 1800 113 76 IS-315 86+0.1
9N R T DIMENSIONS
Model A B Bl C(H6) D E F G H J K
1S-254 254 190 23 220 1714 60 13 47.5 18 155 48
1S-275 275 213 26 220 1714 60 13 58 20 171 48
1S-315 315 232 22 220 1714 60 13 71 18.5 187 50
Model L M N P Q(H7) R S(H7) T U Vv w
1S-254 13 M8 5 40 18 M10 20 106 57 46.5 55
1S-275 18 M10 6 80 18 M10 20 125 67 57 7
1S-315 18 M10 6 75 24 M12 25 125 85 70 7.5

* DERBE 8x45° SRR - BIEZAARATIERI - *Index Angle 8x45° or Specific Angle, Please contact AUTOGRIP for more detailed information.Thanks.

39 auToGRIP




{HS A= B T o 8 FA & BE Y
RAP BE0% FH R BR — [T\ Bk B8 R AR
PNEUMATIC ROTARY CHUCK
o NERI 7 HIVEMIKGE - Frihz=fE/) - BREVHISS - ol FRREE
MBLIREERST -
o BRANDEBLETHEMT -
o KEIRFIEMBRET  MIPLIBAZEARENA -
o RBENEIIKELCRIBEME THEEES -
® Rotary chuck with built-in pneumatic cylinder, compact design, suitable for
light machining, compatible to standard soft jaw/hard jaw.
Can be installed on a rotary table for indexing machining.
Sealed against dust and cutting chips.
® Matching surfaces of all parts hardened, ground and lubricated directly.
AR BREERRIREKREALS Z EieBEE - D ERNIREHE
WERBR FERMR -
Note: To overcome friction force between distubritor ring and chuck
body, the rotating torque of rotary table must be highr than the require-
ment shown in the table.
Serration Pitch S
HEEEEE1.5
M
— (e 1
= e
U\ﬁ_ ) d z
3l
e L Y x
3858 —
——= | 3~W
Hll /| ©
L mm 6-L
Kl U |V ~RC1/4” ai |
3 for doselopen " B8 B 2~RC1/4"
BEER 3L Open Close
REBRBIELAETR Bl
Subject to technical changes B
F2 i AR 4% SPECIFICATIONS
miT78 PISEAKES BAKSET) - o s ERHFEE
e = X B=m " =
2 (&) Chucking Dia. | SEE(EREAN6.0 kgf/cm?) LS | s B (EREN6OKgHcmy)
Jaw stroke 5PN =/ Max. clamping force Max Rotation Air consumption )
Model (Dia) Max  Min. | Pneumatic(at6.0kgf/cmy | aX Pressure  Maxspeed o qciance torque (at 6.0 kgf/cm?) SeIght
mm mm mm kN (kgf) (kgf/cm?) (rp.m.) Nm lit (kgf/cm?) kg
RAP-306 55 170 25 21.0(2141.4) 7 72 40 31 16.2
RAP-308 6.8 215 37 34.2(3487.4) 7 60 60 31 30.6
RAP-310 7 254 53 48.0(4894.7) 7 53 85 4.2 424
ANEYR<F DIMENSIONS
Model A B Bl C (H6) D E F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N p Q max. Q min. R max. R min. S T u Y W
RAP-306 6~M8 11 36 73 20 10.75 475 395 36.75 31 12 195 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 35 14 195 14 3~M8
RAP-310 6~M8 14 42 110 30 2325 1275 64.5 61 40 16 195 14 3~M8

Autocrip 40



CI_ %%mgﬁ RKE
COLLET CHUCK
BUETUE M 2 2eeE - BMECNCER - ERE - siE MR -
%‘?r‘%ft“* SERKRSHIMEEE -
B NEPERE—1K - BolE AT -
’E\Eﬁ)ﬁ7j<us4u’r B LELDEIKEA F SR ALE -
PUSH type collet used mainly on turning, CNC, special purpose machines,
ect.
High clamping accuracy, high speed and high rigidity.
® The installation is the same as "Thru-hole power chuck" and they are

replaceable with each other.
® Sealed against swarf, chips and coolant.

R B M B IRERS DIN 6343 #7350 -
The collet used must accord with DIN 6343.

B SEFRERFES Patent numbers:
&7 : PATNO.M380842(Taiwan)
APE : PATNO.ZL201020113762.X(China)

Lock Screw
5 E 121

L
T [

DA
aC
@D
K
@J
|
i
|
]K
|
:|
[
_oF
DAL

TREAMRABIELROER El

Subject to technical changes B
Fe i AR 4% SPECIFICATIONS
RAREH

18 F=iC] RAKRFFHEN = = + =S 2 & AR
Ri5R b Max. Chucking Capacity BHRBAAN | BAREN ESEEH I ) ERER plaE bk Tl BA

N : Mo-
Model Pslrrgglizr Ru%d H/e;?;?m Sizjre stk Tl Max.ff)lscn;pmg Max. speed Tneer%i:f Weight  Matching steel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) = kg-m? kg collet MPa (kgf/cm?)
CL-26 4.5 3~26 4~22 4~18 17.6(1800) 37.9(3870) 8000 0.040 43 161E TK-A533 24(24)
CL-30 4.5 3~30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 22.5(2300) 48.5(4950) 6000 0062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42  6~36 6~29 24.5(2500) 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52  8~45 7~36 27.4(2800) 59.0(6020) 6000 0101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.098 141 185E TK-A1068 1.8(18)
CL-6022 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0126 163 185E TK-A1068 1.8(18)
CL-80 6 20~80 18~69 15~56 34.3(3500) 71.5(7300) 4000 0.108 17.8 193E TK-A1287 1.6(16)
ShEYR < DIMENSIONS

Model A Al B C(H6) D E El Fmax. Fmin. Gmax. Gmin. H J K max. L L1 M
CL-26 120 85 100 110 826 4 23 26 3 7 25 15 12 M40x1.5 3~M10x25 16 4
CL-30 120 85 100 110 826 4 23 30 3 7 25 15 12 M40x1.5 3~M10x25 16 4
CL-36 155 100 120 140 1048 5 23 36 3 7 1 175 20 M55x2  3~M10x25 18 4
CL-42 155 100 120 | 140 1048 5 23 42 3 7 1 175 20 M55x2  3~M10x25 18 4
CL-562 185 130 1455 170 1334 5 27 52 5 9 3 24 30 Mé0x2 = 6~M12x30 20 5
CL-6017 185 130 1455 170 1334 5 27 60 5 9 3 24 45 M75x2  6~M12x30 20 5
CL-6022 234 | 130 142 220 1714 5 32 60 5 13 7 24 45 M85x2  6~M16x30 20 5
CL-80 234 156 163 220 1714 5 32 80 20 155 95 22 45  MI100x2 6~M16x30 20 5

4] AUTOGRIP



oK EY

EEYSL

COLLET CHUCK

4 cL-A

AUHETUSEME B 2R REE - MAECNCERK - SR - stE thies & -
lafrar SEEKNSBIMERE -
BEHAAPERE—X - BOIBRZABEE -

’E\Eﬁﬁﬂ(ux:ﬁ B LEtDEIKEA F 8B ALE -
PUSH type collet used mainly on turning, CNC, special purpose machines,

ect.
High clamping accuracy, high speed and high rigidity.

® The installation is the same as "Thru-hole power chuck" and they are
replaceable with each other.
® Sealed against swarf, chips and coolant.
BECE M EIART S DIN 6343 #E -
The collet used must accord with DIN 6343.
B FFEmMFI Patent numbers :
&7 : PATNO.M380842(Taiwan)
ABE : PATNO.ZL201020113762.X(China)
L1 E
‘ L Lock Screw
— $4 9218
1 1
e = o=
alelae| |- EI—=br—ulz
\/7\'\4 < L
ﬁs - Tl
¥ fJ
Subjec 0 tochca changes B
1T #R1& SPECIFICATIONS
g =2 Maxi’jﬁzﬁz}padty giik BAKEN REEER 1 EE | GRER  EmesE Spn
Model P!:lr';?(:f Ru%d H/e_\i?;?m S;‘j;?re kv D1zl Max.fgfcneﬂping e GipeEe rrr:\e:rilgf it sl e Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.)  kg-m? kg colet MPa (kgf/cm?)
CL-26 A4 4.5 3~26 4~22  4~18 17.6(1800) 37.9(3870) 8000 0.040 4.2 161E TK-A533 24(24)
CL-30 A4 4.5 3~30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 41 163E TK-A533 2.7(27)
CL-36 A5 6 3~36 6~32 6~26 22.5(2300) | 48.5(4950) 6000 0.058 6.3 171k TK-C643 2.3(23)
CL42 A5 6 3~42  6~36 6~29 24.5(2500) @ 52.9(5400) 6000 0.057 6.1 173E TK-C643 2.5(25)
CL-42 A6 6 3~42  6~36 6~29 24.5(2500) | 52.9(5400) 6000 0.061 7.5 173E TK-C643 2.5(25)
CL-52 | A6 6 5~52  8~45 7~36 27.4(2800) 59.0(6020) 6000 0.093 138 177E TK-A853 2.0(20)
CL-60 A6 6 5~60 8~52 | 7~42 29.4(3000) 63.7(6500) 5000 0.091 135 185E TK-A1068 1.8(18)
CL-60 A8 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.104 145 185E TK-A1068 1.8(18)
CL-80 A8 6 20~80 18~69 15~56 34.3(3500) 71.5(7300) 4000 0.120 198 193E TK-A1287 1.6(16)
SNEY <) DIMENSIONS
Model A Al B D D1 E Fmax. Fmin. Gmax. Gmin. H J K max. L L1 M
CL-26 A4 110 85 108 826 6351 25 26 3 9.5 5 15 12 M40xl5 3~M10x30 15 4
CL-30 A4 110 85 108 826 6351 25 30 3 9.5 5 15 12 M40xl5 3~M10x30 15 4
CL-36 A5 135 100 130 104.8 8256 27 36 3 14 8 175 20 M55x2 4~M10x30 14 4
CL42 A5 135 100 130 104.8 8256 27 42 3 14 8 175 20 M55x2 4~M10x30 14 4
CL42 A6 165 100 130 1334 10638 32 42 3 17 11 175 20 M60x2  4~M12x35 16 4
CL-52 A6 170 130 154 1334 106.38 27 52 5 10.5 45 24 45 M60x2  4~M12x35 20 5
CL-60 A6 170 130 154 1334 106.38 27 60 5 10.5 45 24 45 M75x2  4~M12x35 20 5
CL-60 A8 210 130 1475 1714 13972 35 60 5 3.5 -2.5 24 45 M85x2  4~M1lex40 22 5
CL-80 A8 210 156 175 1714 139.72 35 80 20 7.5 15 22 45 M100x2 6~Mléx40 22 5

AUTOGRIP 42



’ CBICB'A Bz B 2 HRER &3t
DRAW BACK COLLET CHUCK
. EHAEAIE BECNCER - SRR - AEMRARE  FEH
LWITA -
. EEE. EHREEMES -
. REEEHRADERE— I - BURZAEEA -
o SEBKEE - L DHAEA EHELE -
[ ]

DRAW BACK type collet chuck used mainly on CNC turning machines,
special purpose machines, etc. Suitable for machining bar material and
mandrel.

® High clamping accuracy, high speed and high rigidity.

® The installation is the same as "Thru-hole power chuck" and they are
replaceable with each other.

[ ]

This is a completely sealed design, which prevents coolant and chips
from entering the spindle.

JERBFBEERERBIRHOAE -

Kmax EREFZIZEoSERBF 7 HEARE - alRERFKTH -
Jis the hole diameter of blank draw nut.

K'is the maximum thread specification and it could be customize.

L1

773 @/
X B <‘ -
35 E 588 E 3 g 3
G = t
f 7
E1 ‘ N
M

RBIBIE SRR 2
Subject to technical changes
B {3848 SPECIFICATIONS CBA_ cB

mg EBTR | o cok ey | SHRAAN | BAKEN  REEMN  EE | GRER | ARERT  RAEAE)

Model Psltjrg?«eer ijd H/e;?z;gm S;?E'e Ee DL foull Max.fglfcr:plng Max. speed | Weight | Matching steel Matching Cyl. Max. pressure

mm mm mm mm kN (kgf) kN (kgf) min™ (rp.m.) kg ol MPa (kgf/cm?)

CB-42 4.5 4~42 | 7~36 | 7~30 @ 34.3(3500) 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 4.5 4~42 | 7~36 | 7~30 @ 34.3(3500) 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 45 4~42 | 7~36 | 7~30 @ 34.3(3500) 78.4(8000) 7000 74 RG-42 TK-B846 2.8(28)
CB-52 4.5 4~52 | 7~36 | 7~45  39.2(4000) 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 4.5 4~52 | 7~36 | 7~45 39.2(4000) 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 4.5 4~52 | 7~36 | 7~45  39.2(4000) 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 45 4~52 | 7~36 | 7~45  39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 45 4~65 | 8~56 | 8~46  44.1(4500) @ 103(10500) 5500 15 RG-65 TK-A1068 3.0(30)
CB-65 A6 4.5 4~65 | 8~56 | 8~46  44.1(4500) = 103(10500) 5500 13.6 RG-65 TK-A1068 3.0(30)
CB-65 A8 4.5 4~65 | 8~56 | 8~46  44.1(4500) @ 103(10500) 5500 17.6 RG-65 TK-A1068 3.0(30)
CB-80 5.5 5~80  8~68 | 8~56 = 50.0(5100) & 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 ‘ A8 5.5 5~80 8~68 | 8~56  50.0(5100) | 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
SNEY <) DIMENSIONS

Model A Al A2 B | C(H6) D1 E El F | Gmax. Gmin. H J K max. L 11 M N
CB-42 150 | 125 | 102 815 140 104.8 - 5131 43 105 6 175 30 | M55x2 3~M10x25/ 11 60 4~M8
CB-42 A5 140 125 102 915 - 11048 8256 - 415 43 255 21 175 30 M55x2 4~M10x25/12 70 4~M8
CB-42 A6 165 125 102 915 - 11334 10638 - | 45 | 43 29 245 175 30 M55x2 [4~M12x35/18 73.5 4~M8
CB-52 150 | 125 | 102 83.5 140 104.8 - 5315 53 11 6.5 175 30 M60x2 4~M10x25 16 62.5 4~M8
CB-5217 180 | 125 | 102 87 | 170 1334 - 5135 53 145 10 |17.5] 30 M60x2 4~M12x30 18| 66  4~M8
CB-52 A5 | 140 125 102 935 - 11048 8256 - 415| 53 26 215 175 30 M60x2 4~M10x30 16 72.5 4~M8
CB-52 A6 165 125 102 99 - 11334 10638 - | 47 | 53 315 27 17530 M60x2 6~M12x35|18 78 @ 4~M8
CB-65 185 | 145 | 120 100 | 170 1334 = 6 50 66 135 9 215 32 M75x2 6~M12x40| 20 73.5 4~M8
CB-65 A6 165 145 120 | 111 - 11334 10638 - | 61 | 66 305 26 21532 M75x2 4~M12x40| 20 84.5 4~M8
CB-65 A8 | 207 145 120 107 - 1714 13972 - | 57 | 66 265 22 21532 M75x2 4~M18x40| 24 80.5 4~M8
CB-80 235 | 175 | 150 | 112 220 1714 - 51 37 825 135 8 25 | 45 | M85x2 6~M16x30 22 | 87 6~M10
CB-80 \A8 210 | 175 | 150 | 125 - 117141139.72| - | 50 825|265 | 21 25 | 45 | M85x2 |6~M16x50 24 100 6~M10

43 AUTOGRIP



CBEICBE'A BRIEM 2B E IR IE Ceabdney
END STOP COLLET CHUCK
o BHKS . RANKRMN  TRERNTHEARES  GEERREHE
A -

ERIREEET B RERES

End stop clamping.

® With backgauge block mechanism, positioning and the length control of
the workpiece can be more precise.

® Backgauge block and cover are interchangeable. The chip-proof function

can also be achieved.

JEREEIZEARBERBET AL -

Kmax BRELBIEDERIET THEARE  oIKE
Jis the hole diameter of blank draw nut.

K'is the maximum thread specification and it could be customize.

- FEREARH B ThEE O] DAFRRR -

R EE S

1
R o ) ET% °

Block
G M12 Block set E

TR
MI12iE KRR R E AL -
B 0

7“7'30'L
T

Block
M12 Block set

MlZ}’éHE?ﬁEﬁ@}L

i}

fi
=L
O
%

oD1
K max
A1

OA

@C

@D
K max

aJ

|

@A
@D

=1l
Collet set bolt A Collet set bolt
M L1 E1 BRE M RR i _ ESEEgE
L :
REBIEERAERR 2 :
Subject to technical changes
CBE-A CBE
i #R1E SPECIFICATIONS - -
% EETR o ety | BFBAAN | BAKRN AEEWH EE  @RER | BREWI | BARMEN
Model Psltjrg o ijd H:a;(?;?m S;‘)‘j:g'e Max. DB. pull Max.fcolﬁcrgplng Max. speed | Weight Matcch(;ﬂgtsteel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min‘t (rp.m.) kg MPa (kgf/cm?)
CBE-42 45 4~42 7~36  7~30  34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 45 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 45 4~42 7~36  7~30  34.3(3500) 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 45 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 74 RG-42 TK-B846 2.8(28)
CBE-52 45 4~52  7~36  7~30  39.2(4000) 92.1(9400) 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 4.5 4~52  7~36 7~30 39.2(4000) 92.1(9400) 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 4.5 4~52  7~36  7~30  39.2(4000) 92.1(9400) 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 A5 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CBE-52 A6 45 4~52  7~36  7~30 39.2(4000) 92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 45 4~65 8~56 8~46  44.1(4500) @ 103(10500) 6000 8.6 RG-65 TK-A1068 3.0(30)
CBE-6514 4.5 4~65 8~56 8~46  44.1(4500) @ 103(10500) 6000 9.3 RG-65 TK-A1068 3.0(30)
CBE-65 A5 45 4~65 8~56 8~46  44.1(4500)  103(10500) 6000 10.8 RG-65 TK-A1068 3.0(30)
CBE-65 A6 4.5 4~65 8~56 8~46  44.1(4500) | 103(10500) 6000 9.5 RG-65 TK-A1068 3.0(30)
CBE-65 A8 4.5 4~65 8~56 8~46  44.1(4500) @ 103(10500) 6000 9.5 RG-65 TK-A1068 3.0(30)
MBS <) DIMENSIONS
Model A Al A2 B C (H6) D D1 E El FGmax. Gmin. H J K max. L L1 M
CBE-42 150 132 100 95 140 104.8 - 5 20 48 55 1 17 45 M55x2 4~M10x25 19.5 58
CBE-4212 132 | 132 100 95 120 100 = 5| - | 48 | 55 1 17 45 M55x2 4~M10x25 19.5 58
CBE-42 A5 | 132 | 132 100 105 - 1048 8256 - - 48 205 16 17 45 M55x2 4~M10x30 16 68
CBE-42 A6 160 @ 132 100 105 = 1334 10638 - 35 48 205 16 17 45 M55x2 4~M12x35 18 68
CBE-52 150 @ 140 107 99 140 104.8 - 5 - 52 55 1 17 56 M60x2 | 4~M10x20 145 60
CBE-5212 140 140 @107 99 120 100 - 5 - 52 55 1 17 56 M60x2 4~M10x20 14.5 60
CBE-5217 180 | 140 | 107 109 170 1334 - 6 - 52 145 10 17 56 M60x2 4~M12x30 18 70
CBE-52 A5 140 140 107 109 - 1048 8256 - - 52 205 16 17 56 M60x2 4~M10x30 16 70
CBE-52 A6 160 140 107 109 - 1334 10637 - - 52 205 16 17 56 M60x2 4~M12x35 18 70
CBE-65 180 157 122 114 170 1334 = 6 24 56 15 105 175 68 M75x2 4~M12x30 18 72
CBE-6514 157 | 157 | 122 116 140 1048 - 6 - 56 17 125 175 68 M75x2 4~M10x30 18 74
CBE-65 A5 157 157 122 114 = 1048 8256 - - 56 21 165 175 68 M75x2 4~M10x25 16 72
CBE-65 A6 157 157 122 112 - 1334 106.38 - - 56 19 145 175 68 M75x2 4~M12x35 185 70
CBE-65 A8 202 157 122 116 - 1714 13972 - 38 56 23 185 175 68 M75x2 4~M1l6x35| 24 74

AUTOGRIP 44



B8 0 = A 2 2 5 B —
ICBDICBD-A DEADLEN,EEETEtCOLLETCHUCK e

o IR ESERREE  SRMEASWAEMUS oBEEUIGF
ABRE  SREBEZERIEINEE -

o HEEAUTOGRIPEEBER - RFHBEERMO - AFEE—REBMUEHR
15 THERTERIE R -
BRIREERE D DIRERER - BA RN EIhEE T LISkRE -
Clamping push with the backgauge block mechanism, collet will not be
pushed, can precise positioning for workpiece length, make the precision
of the length control more precise.

® Match AUTOGRIP's Rubber collet(RG series), clamping direction
perpendicular to axis, never occur that situation of collet push workpiece.

® Backgauge block and cover able to interchangeable use, as well as
application and chip-proof function.

JEREFIZERBRHBTHGRALE -

Kmax BRELBIEOSERIET 7THEARE  REREKTH -
Jis the hole diameter of blank draw nut.

K'is the maximum thread specification and it could be customize.

o~
-
— =] —
|
ol =l % = ol ol 3 = < <
S8 §| E| 8 H = R IS S/ 8 8 g © 8 =
S | H] X
(&
:
7T L
Mu El
1
M
. B
REIEIEBEOHR CBD-A CBD

Subject to technical changes
15 {f 38418 SPECIFICATIONS
B EBTR o oo oty | BFBAAN  BAKEY BSERY BB ERER | ERERH BAERE.

Plunger = [El#& NEM Tt

Max. D.B. pull Max. clamping Max. speed  Weight Matching Max. pressure

Model stroke  Round Hexagom | Square force coIIetSteeI Matching Cyl.
mm mm mm mm kN (kgf) kN (kgf) min‘t (rp.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52  7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 73 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52  7~36 | 7~45  39.2(4000) @ 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52  7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 109 RG-52 TK-A853 3.0(30)
CBD-52 A5 4.5 4~52  7~36 | 7~45 | 39.2(4000) @ 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52  7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 8~56 | 8~46 44.1(4500) 103(10500) 6000 8.6 RG-65 TK-A1068 2.7(27)
CBD-6514 4.5 4~65 8~56 | 8~46 44.1(4500) 103(10500) 6000 9.3 RG-65 TK-A1068 2.7(27)
CBD-65 A5 4.5 4~65 8~56 | 8~46 44.1(4500) 103(10500) 6000 10.8 RG-65 TK-A1068 2.7(27)
CBD-65 A6 4.5 4~65 8~56  8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-A1068 2.7(27)
CBD-65 A8 45 4~65 8~56 | 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-A1068 2.7(27)
SNEY <) DIMENSIONS
Model A Al A2 B C (H6) D D1 E E1 F Gmax. Gmin. H J K max. L 1 ™M
CBD-52 150 140 116 99 140 104.8 - 5 - 52 7 25 17 56 M60x2 4~M10x20 14.5 57
CBD-5212 140 140 116 99 120 100 = 5 = 52 7 2.5 17 56 M60x2 4~M10x20 14.5 57
CBD-5217 180 140 116 109 170 1334 - 6 - 52 16 115 17 56 M60x2 4~M12x30 18 67
CBD-52 A5 140 140 116 109 = 104.8 8256 - = 52 22 175 17 56 M60x2 4~M10x30 16 67
CBD-52 A6 160 140 116 109 - 1334 10638 - - 52 22 175 17 56 M60x2 4~M12x35 18 67
CBD-65 180 157 132 112 170 1334 = 6 24 54 155 11 175 68 M75x2 4~M12x30 18 70
CBD-6514 157 157 132 114 140 1048 - 6 - 54 175 13 175 68 M75x2 4~M10x30 18 72
CBD-65 A5 157 157 132 112 = 104.8 8256 - = 54 215 17 175 68 M75x2 4~M10x25 16 70
CBD-65 A6 157 157 132 110 - 1334 10638 - - 54 1195 15 175 68 M75x2 4~M12x35 185 68
CBD-65 A8 202 157 132 114 = 1714 13972 - @ 38 54 235 19 175 68 M75x2 4~M16x35 24 72

45 AUTOGRIP



’ SCB VA= NE S YL E

STATIONARY DRAW COLLET CHUCK

BEER - SRSTIEIROEER -
SEERSHILERS -
HESIMERIITUB BT -
ZERAS - B LEE0ETMT -
BERGHMEBER - MERBERE -
REAZEEERREDHERMERED -
Build-in cylinder, ideal for drilling machines, milling machines and
machining centers
®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
runtime.
® Two modes for the media supply: side-supply mode or baseplate-
supply mode.

L1 K
I @ /
- —
< O w (U - o
Q
Q9 Q 3 g 0O
2~OfIE N [ b = e N
Tfin:l\l\ i Unclamp Clamp AN
B! JJ»« P
& ||
1 1 B ] %
2-MEmsmEA | |G | H Unclamp Clamp
Baseplate T R
Presspure Port B 2~RC1/4" RE 4R
Side Pressure Port
REBRIBIELAETR
Subject to technical changes
R ili#31% SPECIFICATIONS
e BARSBEES S - - - o
s MTRER) Max. Chucking Capacity BAHEEN 858 fERBR BAERAES
& ) Bt NEM A ! :
Jaw stroke(Dia.) o) Hexagom Square Max. clamping force Weight Matching steel collet Max. pressure
Model mm mm mm mm kN (kgf) kg MPa (kgf/cm?)
SCB-52 +05 4~52 7~45 7~36 80(8150) 8.6 RG-52 4.0(40)
SCB-65 +0.5 4~65 8~56 8~46 105(10700) 10.2 RG-65 4.2(42)
ShESR <) DIMENSIONS
Model A (gb) Al B C D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 24.5 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S
SCB-52 10 515 4~M10 12 42 p7 3~M6x12 160 42 69.5
SCB-65 10 615 4~M10 125 4.2 P7 3~M6x12 175 50 77

AUTOGRIP 46



RG 1% B2 K FIEp
RUBBER GRIP COLLET

o TARATHET BT RET R IR -
o VREEIZEBRFNEN  EEEHHRES -
BEABSEETH -
BRE—HEIHRT -
BRI EEEL0.5mm -
BIRRIESE -
FhEERA B RR AT -
Rubber grip collet for push type or draw type collet chucks.
Full griping area: high rigidity, more gripping force.
Gripping smoothly: prevent to damage the workpiece.
® More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.
®  Grip Range: +0.5mm.
Quick change and easy.
® Dust-proof and swarf-proof design.

o | [a) - o ()
Q N} Q Q
ododd
15° \/Lls"
L A L
{REBRAB SRR
Subject to technical changes RG_RT RG_R
i #R4& SPECIFICATIONS
T BRATFFRE -
B Max. Chucking Capacity BEBIR
[E# Round ¢ e - )
Model Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 4~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65

A D(S,H) L ADIN
L

Test Bar D(S,H) mm Class1 Class2

3.0~6.0 16 0.015 0.020

6.0~10.0 25 0.015 0.020

10.0~18.0 40 0.020 0.030

— — 'f 18.0~24.0 50 0.020 0.030

s 24.0~30.0 60 0.020 0.030

30.0~50.0 80 0.030 0.040

;‘\/ 50.0~60.0 100 0.030 0.040

1 —RMABKIBEER DIN &

i 2 AAEGBE ML DIN — R miRE

Notel : Collets chuck are conformed to DIN 6343 Class2.

Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

47 AUTOGRIP



o8 M ) A TR
STEEL COLLET

oD1
oD

|

—1
L — 15

DIN 6343 Collet standard

B FRE
RERIE IS B AOHER
Subject to technical changes
MBS R ~F DIMENSIONS
BRAKFFEET] A S A
‘ SE MR A Max. Chucking Capacity (mm) d D ‘ D1 L BERERRE
‘ Collet i AL FH ‘ Matchi
atching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
‘ 163E 3~30 4~26 4~20 35 48 ‘ 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
‘ 173E 3~42 6~36 6~29 48 60 ‘ 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
‘ 185E 5~60 8~52 7~42 66 84 ‘ 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
‘ HI#ED(S H) ‘ ADIN
L mm
‘ Test Bar D(S,H) ‘ Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~16 6 ‘ 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 M
10.0~18.0 40 ‘ 0.020 0.030 L/,J\J\
18.0~24.0 50 0.020 0.030 i i
24.0~30.0 60 ‘ 0.020 0.030 /
I
30.0~50.0 80 0.030 0.040 W 1%}
50.0~60.0 100 ‘ 0.030 0.040 a

7 —MRARIR BES DIN Z4&
Note: Collets chuck are conformed to DIN 6343 Class2.

AuTOGRIP 48




=5 37 B 5 =

STATIONARY CHUCK WITH THRU-HOLE

o UEXNPZEENKE - BEER - BRI IH P OMKER -
BIME=NmEr -
VH2-22002 S0 Frfc Y 2 SRBE A 18 R A 2H-2 BT AE E) -
VH2-32008 50 i 2 EBRARAS K~ AE3H-28U A AH[E) -

® Stationary Chuck with two or three jaws for drilling, milling and other
machines.

® Specification and size of matching chuck for model VH2-2200 is the
same as model 2H-2.

® Specification and size of matching chuck for model VH2-3200 is the
same as model 3H-2.

Y Al

L BEEHEE
*’—‘* Serration 1.5
"ﬂ—ﬁ— m
=15 |
s awa D=
”-“L‘ti,
ir
% [ NGINa) LL
N Qe 1 Q8 T 1T
x —
88 =g Q
£
e
&
i

RBIFIEIELEONER

VH2-3204,VH2-3205
{37122 0nly 3 bolts

VH2-2204,VH2-2205
£45212420nly 4 bolts

Subject to technical changes

TR SPECIFICATIONS

Higg SEEEFEES. Piston area MITRR(EX) BAERES B8
- 5{HlExtend fifllRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 467 5.5 2.0 (20) 9.5
VH2-3204 52.4 467 5.5 3.0(30) 9.5
VH2-2205 63.7 57.9 5.5 2.0 (20) 13.1
VH2-3205 63.7 57.9 5.5 3.0 (30) 12.6
VH2-2206 971 88.5 6.0 1.8 (17.9) 215
VH2-3206 97.1 88.5 6.0 2.7 (26.8) 215
VH2-2208 128.9 n3.6 7.6 21(20.7) 329
VH2-3208 128.9 13.6 7.6 2.9 (28.6) 334
VH2-2210 189.2 174.3 8.9 1.9 (19.2) 55
VH2-3210 189.2 174.3 8.9 2.9 (28.7) 59
4MEIRST DIMENSIONS
Model A B © D(H7) E F G H J K L M N P Q
VH2-2204 13 155 137 50 5 27 23 34 59 122.5 12 9 26 62 | RCl/4
VH2-3204 n3 155 137 50 5 27 23 34 59 122.5 12 9 26 62 | RCl/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 | RCl/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 | RCl/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 m 26 62 | RCl/4
VH2-3206 170 194 176 80 5 45 25 36 8l 143 14 m 26 62 | RCI/4
VH2-2208 210 217 195 80 5 55 29 44 9l 160 14 135 30 75 | RC3/8
VH2-3208 210 217 195 80 5 55 29 44 al 160 14 135 30 75 | RC3/8
VH2-2210 260 | 266 = 246 100 6 76 32 47 102 192 17 135 30 75 | RC3/8
VH2-3210 260 | 266 = 246 100 6 76 32 47 102 192 17 135 30 75 | RC3/8

49 AuToGRIP




A

VP

PEIZETKE

STATIONARY CHUCK

UEAPEHNRE - BHER - SRS P ORER - BZMKR=/M

MmER -

VP-2008 0 PR 7 JRERAR I8 K <A 2P RV AR -
VP-300Z U FRECHY 2 JRBRARAE R~ /EHA3PRIAEE -

Stationary Chuck with two or three jaws for drilling, milling and other

machines.
® Specification and size of matching chuck for model VP-200 is the same
as model 2P.
® Specification and size of matching chuck for model VP-300 is the same
as model 3P.
T ’3‘_[ T =S
1 | |
s 88 7 # — <
‘ S
c g
S 1l
il p—
I =
FIGH VP-3040nl
1 J VP-305 ££3
K

REBIFIEIELEOIER

Subject to technical changes

FARTHR4& SPECIFICATIONS

sk JEZEMEEES. Piston area T2 (E1E) RAERERN g8
Vodel #AlExtend fifllRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VP-204 28.0 24.9 6.4 21(21) 7.1
VP-304 28.0 24.9 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 53.5 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 336
VP-210 1531 1335 8.8 1.5(15) 52.8
VP-310 153.1 1335 8.8 22(22) 54.5
4N R<F DIMENSIONS
Model A B c D(H8) E F G H J K L M

VP-204 10 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-304 10 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 45 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 45 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 145 125 74 125 mn RC1/4
VP-306 165 178 160 40 5 12 145 125 74 125 mn RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 mn RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 n RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

Autocrip 50

S 2 B m




SP VBN =/T\3KEE =B

STATIONARY CHUCK
o AEMEL - EEARBHAK/ENIRE - JERREEANY -
o /HEAK  BEBRERMEMMI -
o ZEARS . EIRERIYETMI -
o HEKS(LRET - WA EMREEMITERM -
o UIHEVERB\ERMASETMNL -
[ ]

Build-in hydraulic cylinder; it can also work with lock valve and be driven
by air pressure.

With small thru-hole and suits for long bar workpiece processing.
Easy to install. Installing the tubes and then operating.

Thin and compact design. Use standard soft jaws or standard hard jaws.
Can work together with multi-plate.

_F - ]
ne—
] et o
5 ‘LL: T "
e =
j <| Q| < >
" - b [SIRSIES]
I SEREE
B — 3
= d Is
5 ]
. e LB
'J-E f A“‘ = k) L
B- || o Close [ F;i pen\ v 0 2~RC3/8” airsupplypgrltO - i
e 2-RCYA airsupplyport. T I} D, DI for open/close |_ /e8| |\ ®EAI(EFV-03)
E_J [ legcﬁo?‘sf ‘ |45 f%@ﬁ%ﬁi%EEFV;Ol) 35 [ileabeEatil 105 Lock valve(Option)
40 70 Lock valve(Option)
5 56, RCL/4 S BEHEEMETL
B hetord ;tpr‘étection
SP-304~SP-312 sP-316
F
[ THT =
I
T o
=
J y
58 L E
R ﬂ; _ e ,
| | |o1 B RC/E airsupplyport B e (i v-03)
35 BARAERFL 105 Lock valve(Option
- RCl4 BB
hole for dust protection
1%%*%%1@Eﬁzsﬁ$§ﬂ
Subject to technical changes SP'320/SP—324
TR 1% SPECIFICATIONS
. T2 RFFEE RAKEEH RAERED = TRHME =
]
B (=) T aE | e g @ ae | EOERED e opeokgifom: R
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . .
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic | Hydraulic Min. pressure | Air consumption | Weight
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) MPa(kgf/cm?)  kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 10 10 75 (765) | 22.0 (2243) 0.6 (6) 1.3 (13) 2 0.5 7
SP-306 5.5 168 30 210 (2142) | 52.0 (5303) 0.6 (6) 1.3 (13) 2 1.4 16.5
SP-308 6.8 210 42  33.0(3365) 74.0 (7546) 0.6 (6) 1.3 (13) 2 25 28.7
SP-310 7 254 52 | 48.0(4895) 107.0 (10911) 0.6 (6) 1.3 (13) 2 4.2 42
SP-312 9.3 304 60 | 61.3(6246) 132.8(13532) | 0.6 (6) 1.3 (13) 2 6.4 52.8
SP-316 145 400 30 96 (9789) - 0.7 (7) - 2 10.6 147.8
SP-320 16 500 45 | 104 (10605) - 0.7 (7) - 2 15 2327
SP-324 16 600 140 153 (15602) - 07 (7) - 2 22 3387

51 AutocrIP




’ SP T EIN=/T3KEE =meE

STATIONARY CHUCK
4B R<T DIMENSIONS
Model A(h7) Al B c D DI E F G H J max. J min.

SP-304 148 1o 84 130 15 13.5 - 25 52 14 3.75 0.75

SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 475

SP-308 248 210 108 230 15 13.5 32 4] 95 25 12.25 8.75

SP-310 300 254 12 280 16 13.5 54 46 110 30 23.25 12.75

SP-312 350 304 130 330 18 135 65 54 130 30 30.75 12.75

SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25

SP-320 540 500 170 500 22 20 - 74 180 60 875 245

SP-324 640 600 175 600 24 20 - 74 180 60 87.5 245

Model K max. K min. L M N P Q R S T Tl U Y

SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -

SP-306 47 4425 31 12 M10x1.5 ll 139.5 104.5 55) 18 - - 6~M8x1.25

SP-308 57 53.6 35 14 M10x1.5 il 160.5 125.5 68 25 - - 6~M8x1.25

SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5

SP-312 775 72.85 50 21 M12x1.75 13 207.5 172.5 100 35 - - 6~MI10x1.5

SP-316 70 62.75 60 255 M16x2.0 17.5 271 236 15 45 80 110 12~M10x1.5 o

SP-320 825 745 65 25 M20x2.5 22 301 266 165 - - 130 3~M16x2.0 %

SP-324 129.5 1215 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0 )
xR
L

AUTOGRIP 52



T EIVRITIZZRER

LONG JAW STROKE STATIONARY CHUCK

i sm

o BEDERE RMITE -

o WNEMEL -  ECAREBUB/ENRR - clERFREMAY -

o LKA HIRERJETNI -

o SHAVKCE(LRRET - WOlERRELE TEIZERE -

o UESRTRM - ETHMOUSER -

o EEBMI FPEE-

® WEDGE-HOOK type power chuck, and long jaw stroke.

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
qir pressure.

® Easy toinstall. Installing the tubes and then operating.

® Thin and compact design. Use standard soft jaws or standard hard jaws.

[ ]

Air-tight pressure detect function is optional.

ARG (B ).

Airtight pressure detect function is optional.

— F
1|_L L1 1 -
% () 1 - I
it = | 1) (0]
. T
g I& h4
G|
< O ¢
Q9§ g
=T | |
DI 135
%J 2~RC1/4” air supply port
40 for opgn/close Lock valve(Option)
B FEAER AL RIERIGREFV-01)
RIS IECLBIHER)
Subject to technical changes
BTG SPECIFICATIONS
M S BAKHN BAEAEN SREAE
Hgh (8i75) - - RAEERES B8
& BX B RE SHIEE RE SHIEE fERIEE16.0 kgf/cm?
Jaw stroke Chucking Dia. Max. clamping force Max. pressure
(Dic.) Min. pressure Air consumption Weight
Model I Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SM-306 13.1 168 11 15.9(1621) | 27.2(2780) 0.7(7) 1.2(12) 2 15 18.7
SM-308 16 210 13 26.2(2670) | 45.0(4590) 0.7(7) 1.2(12) 2 2.7 325
SM-310 19.6 254 18 37.0(3772) | 63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4N R~F DIMENSIONS
Model A(h7) Al B C D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 18.25 1.75
SM-308 248 210 127 230 15 41 95 25 25.25 11.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R S T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 35 14 M10x1.5 11 160.5 125.5 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

53 autocrIP




=G

i BIURNIZEER

STATIONARY PULL DOWN CHUCK

REHEL - 2ERREMRENRE - cRRRERES -
oJE s TH SRR EmE &Y - ETHA DFURRESEER -
SHME(CEENARRELRUKE  WELBMARE ERESREREE
BMAE  BaEUHISEE -

o OJHEUERBERMASETML -

® Build-in hydraulic cylinder; it can also work with lock valve and be driven by
qQir pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

® The body with heat treatment and the organization of cylinder pull-down
and fine boring, which guarantee to the high clamping precision and
durableness, it’ s suitable for heavy duty machining.

® Can work together with multi-plate.

gEEA (RE ).
Airtight pressure detect function is optional.

SD

S 6~W
= 4~@K i
| S x
‘ =
6~J1
¢ Bro x
1 B
< | o |4l e A A
SIS § % T ¢
| B H0) )
™
-
- — < =D
[ )
T 2~RC1/4" air supply port
F JM\U 135 }?ﬁ';ﬁ”gﬂ"f o FOden
7 P E R | iR Hj
27 RC1/8" air supply port
for gripping-confirmation ‘ 45 ‘ Lock valve(Option)
40 ZEQBIBHA TRIEERI (3EBCFV-01)
B
REBIIEIEHAIEF)
Subject to technical changes
FH#AME SPECIFICATIONS
. 752 RIFER RAKEH RAEREN - TRHMEE -
4 2 ESS
— (E) BA B FE | HE TR, T =
Jaw ?troke Chucking D!CL Max. c.lamplng force ‘ M0)~<. pressure : I SR A SRR Weight
Model (Dia) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?2)|MPa(kgf/cm?)  kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 10 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3 (13) 2 0.26 8.1
SD-306 7.2 165 Sh) N5 (M73) | 25.0 (2550) 0.6 (6) 1.3 (13) 2 0.58 20.6
SD-308 7.2 210 28 217 (2213) | 47.0(4793) 0.6 (6) 1.3 (13) 2 1.02 341
SD-310 10.8 254 40 | 36.0(3680) @ 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55
4N R~F DIMENSIONS
Model A(h7) Al B c D(H7/h7) E F G H Ji K L max. L min.
SD-304 148 10 93.5 130 35 2 15 M3 225 10 Mb5x0.8 9 30 23
SD-306 206 165 16 188 52 7 18 M4 35 20 M6xI1 ll 45 8h
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 n 56 46
SD-310 300 254 151 280 75 12 20 M6 55 30 M8x1.2 13 65 50
Model M N P Q max. Q min. R S T U V W
SD-304 19.5 52 19 37 345 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 85 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

AUTOGRIP 54



TEAMERERKE =MeEas

STATIONARY PULL LOCK CHUCK

A sv

NEMEL - EEAREBURBNRE - JELFREREY -
UYEARFEC R THHEERGEMEEL  ETHEADFURMES
BEEH - BEER - KRNI OKER -

o SHIMEEEENAERBTRBAKE LABMARBE BESKIFEE
HMAE  BEEUHISE -

o TIHAVERBENMASETMNL -

® Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

® Suitable for drilling, milling and other machines.

® The body with heat treatment and the organization of cylinder pull-down
and fine boring, which guarantee to the high clamping precision and
durableness, it's suitable for heavy duty machining.

® Can work together with multi-plate.

R (EE ).

Airtight pressure detect function is optional.

K
- = M e w
= 7 =&~
—
it G min. L pd @
8
R 1
A g of t==—ald g
| g o N
Al
s
135 gid
Ry \ TN
LT SN > e
:4‘ l\' .\.\ ‘ 2~RC1/4" air supply port 1 nwﬁwu I EiClose |FOpen
for open/close & 50
. I »7 I BRI AClosé: FiOpen rh F
L |
Ao
RC1/8" air supply port —i— L
40 for gripping-confirmation 45 Lock valve . SU-303
E e (Option)
REBATHAE MR Bl 05 FERERAL 70 {RERRE (= AZFV-01)
Subject to technical changes
SU-304,306,308,310
FEH#AME SPECIFICATIONS B
. 4752 RFFEE RAKIFH RAEREN - TREME -
& 7 N N =3 E
- (=) 8k 8 SE  HE B | HE RIEERED om0 kgtfom =
hucking Dia. Max. cl ing f Max.
ey s:troke chucking {G x c.umplng orce. cn.( e . Min. pressure Air consumption Weight
Model (Dia) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SU-303 2 42 4 5.2(530) | 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 6.7 (683) 16.0 (1632) 0.6 (6) 1.3 (13) 2 0.26 7.4
SU-306 5 105 31 18.6 (1886) | 40.0 (4079) 0.6 (6) 1.3 (13) 2 0.58 18
SU-308 5 132 32 | 37.0(3773) 80.0(8158) | 0.6 (6) 1.3 (13) 2 1.02 315
SU-310 5 163 44 | 46.2(4710) 100.0(10100)  0.6(6) 1.3(13) 2 21 53
4MBIR<T DIMENSIONS
Model A(h7) Al B B c D(H6) E F G H(H6) J K L max.  Lmin.
SU-303 122 85 80.5 68 104 28 22 12 35 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 45 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 15 230 55 45 18 156 M6 4~11 17
SuU-310 300 254 181 131 280 65 53 20 187 M8 4~13 9 -1
Model M N P Qmax. | Qmin. R S T U % w X (p.c.d) Y
SU-303 12 30 7 3.5 25 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 /515 10.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~MI10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 7 5 125.5 160.5 M12 6~MI10x1.5 95 6~M6x12
SU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M4 6~MI12x1.75 15 6~M6x12

55 autocriP




=G

7 BEIUPTREAIRER

STATIONARY EXPANSIBLE PULL BACK CHUCK

SE

o WEHAERG  BSERKREBHURENIRE  olERREBEAE -
o BERAMAERS -
o SREEZTEY  BEmEREML -
o DJEIVERGEERASETML -
® Build-in hydraulic cylinder; it can also work with lock valve and be
driven by air pressure.
® Forinternal gripping.
®  With high precision and stability.
® Suitable for the precision large length size process.
® Suitable for end process.
® Can work together with multi-plate.
w o REEE (R ).
I Airtight pressure detect function is optional.
J
. El E  F N
= 6~M6x123%
Js . 5, -
8 81t —3 8 5l 3 iz
i = 8§ B
) b2
| 13.5 - ?5
U : -
D 27
2~RC1/4" air supply port
40 ‘ for op?n/close
L_. B R
B1 9 ‘ Lock valve(Option)
RC1/8" air supply port 14 REER(EECFY-01)
B for gripping-confirmation
EBRBRAL
Soft jaw : type A R .
REBIEAER MR
Subject to technical changes
BHIRRAE SPECIFICATIONS
. miE FHFEE RAKEES RAEREAN o _ SRUHMER -
] M =
BE | @m®) Bk mE | e e oam CEERED e eokgiome TR
Jaw ?tmke Chucking D?q. Max. c':lqmping force : Mco.(. pressure : T S e Weight
Model (bia) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN (kgf) kN(kgf) MPa(kgf/cm?) MPa(kgf/cm?)|  kgf/cm? lit (at 6.0 kgf/cm?) kg
SE-305 3 83 29 14.3 (1459) 410 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 10 44 | 200 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 | 32.0(3263) @ 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4B R<T DIMENSIONS
Model A(h7) Al B BI c D E El Fmax. = Fmin. G type A - type B -
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 =B 40 90 70 10 89
SE-308 248 210 164 n9 230 18 30 -5 49 (0] 90 150 108
H1
Model - J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 275 275 3~M6 M8x1.25
SE-306 70 44 31 l 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 il 125.5 160.5 50 35 3~M8 M10x1.5

AUTOGRIP 56



MP4 A B AR BERER
STATIONARY CHUCK BASE PLATE

OJARBAREMIF O E - RIS E I -
OEEZRIUARIARER -

olET&2 - 3 6 LHHMER -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

P

i
B
X
x
B}

|
N N NI

16~oL

o

w

Lock valve(Option)
TRERF(EECFV-01)

B S A /s

JopEll | =T,

| [
o g E=—p=—ie—tn o
REMIEIEDLBIHER] 24
Subject to technical changes
U
4R DIMENSIONS
Model A B Cl Cc2 Cc3 c4 D E F G
MP4-06206 460 580 400 320 250 200 544 210 220 120
Model H J K L M N P Q R S T U
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206

*B I BRATARBCIRERALSR 2 ~0A B -

The dimension *B: Please refer to the dimension B of the chuck model assembled.

-l: E
’ VH -201 ir?? o)ggR%E?D AIR VALVE

Suoct 1o tachnicl changes
RABFEN BRIERE REDR
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90° Rcl/4

57 AutoGRIP



’ 3MF BEIFE) K0 = TSR =R

SELF-CENTERING 3-JAW MANUAL CHUCK

BRRAKSERAAIBARAMY EREAFKHMIE IR EBINFRZR -
DO EERE - RUBAZEAKBAL - DEFARKBHERSD A

® Thin and lightweight design and increase the z-axis machining range.

®  With the center hole cover and dustproof design for the accuracy and
service life of the chuck.

® For 5-axis indexing plates and milling machines.

RRFEMIATERLRRANH ISR - IR3F
BERMtERE RN Eivie TZE -

3MF series are not designed for the vertical or horizontal lathes,
unless there is a rigid plate and provid-

ing adequate support rigidity and strength.

1
[(e]
<| IT|
&OQ
Q

REBRABIELRORER]
Subject to technical changes

Fe i #21% SPECIFICATIONS

BUSR MTREE) 7&f5 B Chucking Dia. BRABFFHRE RARE S RSB 8

Model Jaw stroke (Dia.) BA Max. &/)\ Min. Max. allowable torque = Max. clamping force Max. speed Weight
mm mm mm N - m (kgf - m) kN (kgf) min™ (rp.m.) kg
3MF-20 80 500 142 170 (17.3) 71.2 (7300) 1150 121
ShES R <) DIMENSIONS

Model A ‘ B C(H®6) D E ‘ B G H J(H7) ‘ K L L1 M
3MF-20 500 85 160 465 12 155 o019 381 19.03 4~M16 6~M16 23 80
Model N ‘ P1 P2 P3 Q max. ‘ Q min. R max. R min. S ‘ T (h8) U Y N
3MF-20 192.5 295 76.2 135 254 214 139.7 99.7 50 12.7 15° 40 30

AuTOGRIP 58



RJJEZEE(—) SR ED

SINGLE-SLIDE FACING HEAD

A FA

o EAKMEBRLUEREINENANADY  EREERTE  ELEEHRETE
NHEEFEES -
R EOLBECRBERENE - BMENAEEERY -
o EMIEE:+0.03mm -
® Feed mechanism is Wedge Plunger, with steady feed speed. Simple
adjustment for feed speed and stroke.
® Matching surfaces of all parts hardened, grounding and lubricated
directly. With rigidity and durability.
® Stopper accurancy: £0.03mm.
w o BTIEALEEH B AT AR -
n BREAEJEVBEERSERABEREHEER NI -
m  Suitable for using with RS type cylinder.
m  For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.
BRI EE
WEDGE PLUNGER
FA-408 Max.26 . o4
Min.12 4 1
I = = Lo gy B T 1
S 3[iTe
30 ho, Al 1a~Mpx10 & i &
| I
T = &) 1 @
SHHEIR HVANENE =¥ 42708 =
NEIESIES |~
; 5 L e
wizars [ = ] éj < [*
E— S — & |[&
W i —
58.5 4~M10x60 10 H7
69 36
BRI EE)
WEDGE PLUNGER
FA-610 FA-812 L N orR Q1
} ﬁﬁ?ﬁmﬁ{ - S i 5\
K R N || i A = I L PN A
\ “ ‘M T SESP
‘ —
L
<9 EII%%—R(X _ % —jel ! w[¢ 1 F
~ iy
e ™
| o @ | o8
: i /% o :D«E}éi?/
|
E
4, - o
IREBRIBIE AR
Subject to technical changes B Q
i #R4& SPECIFICATIONS
Bisg BTR BEAE EREEY BRBAAN £ BREEL SREREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight ) . Max. pressure
Model I Matching cylinder
mm mm min-i(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)
BisR BOTHE BETE e AEH BHEAAN g EREE G BAERES
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . . Max. pressure
Model Matching cylinder
mm mm min-i(rp.m.) kN(kgf) kg MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
ShEY R <) DIMENSIONS
C F | G| G R
Model ALB 4 DB ) max min T K L M N P QA S T U
FA-610 156 110 140 [107 5 20 66 | 48 |£5/20 M12x1.75 4-M10x90 12 2-M10x45 104.8| 45 28 8 4-M10x16 40 40
FA-812 198 130 170 |127 5 25 84 63 [£6 25 M16x2.0 4-M12x105 12 2-M12x60 133.4| 54 32 10 4-M10x16 50 50

59 autocriP




& JJEEEE ()

SINGLE-SLIDE FACING HEAD

o ERMBENEREEREH TS  ERREEETE  ERFEREHNRTE
HREIFEES -
REEIABE(ERBERME BB IEERLF -
EMREE:£0.03mm - FREREEMIER -
Feed mechanism is transmitted by Rack and Pinion with steady feed
speed. Simple adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated
directly. With rigidity and durability.

® Stopper accurancy: +0.03mm , work with stoper screw.

w o BTIRRLGE AR AT FEACE AT -

m  Suitable for using with RS type cylinder.

| t%526% @8 RACK AND PINION
FA-615 FA-830 FA-1570

iR1E Keyway

6B x4 %
|
 je o
H |
K AP DY AN
o= | [ r] gel s
NIESIE ] @ f & & S A
H|e ot —
@ \%ﬁg} | . D
% & R A &
L/ E
B
REREERAER
Subject to technical changes
iR 1E& SPECIFICATIONS
Bl BOTE BETRE EEAEH BHEAAN £ HEREE G EAERESN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min-(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 239 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
HhEYR < DIMENSIONS
Model A B C(H7) D E F (H7) G max. G min. H J K
FA-615 150 107 110 102 5 25 40 25 35 20 M12x1.75
FA-830 198 126 140 121 6 30 54 24 45 25 M16x2
FA-1570 400 200 300 192 6 60 110 40 75 50 M30x3.5
Model L M N P Q R S T U \Y W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 - +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 RS 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 - +17.5 -

AuTocrip 60




EmfE/JEBR

DOUBLE-SLIDE FACING HEAD

R EE

o EANBREIHMMNES ALY  ERRERTE &
BES -

REEIABE(ERBERME BB IEERLF -

EMREE : +0.03mm - FREEMIER -

Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

Stopper accurancy: £0.03mm , work with stoper screw.

BT LR B B R ER -

Suitable for using with RS type cylinder.

mEERTENEEIF

| #4788 CRANK TYPE
FD-632 FD-840 FD-1060

H
1
=
[ I |
L LW
- ¥ e
N B x_
<l Ol W — | . o
88 & 1 { 8 £
L] ‘ s
s e
I -ee=—-
= 7):i§5 S |
! r
6~L
5
B N
RBIRIE SRR
Subject to technical changes
iR 1E& SPECIFICATIONS
BI5E BLLTIE BETRER ReEEH BRFEAATD B8 e E ERAEREN
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
HhEYR < DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 1334 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 1714 38 110.5 325 -2.5 4 36 M20x2.5
Model L M N P Q R S T U v W(HS8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

61 AuToGRIP




’ CP EEZ = TMESE
SYNCHRONOUS CLAMP
o MME_MNEL®EE  MITEE -
o RBENEIIKELCRIBEME THEES -
o SRFHEE  MEMREFLE -
® CRANK type 2-jaw synchronous clamp with long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
[ ]

High rigidity and high clamping accuracy.

‘ W1 |
xf:ik \%w\_l
| i B | B
hid ‘ © | @ ‘ ¥ ;-
- 1 N
= @@@J‘ \}'\@@@ =Sz
ore | el L
8~L ‘ U ‘ 2~08(H7)
V; Master hole E#7|,
U1 B1
G N Adjusting hole D
‘ R M NFEEREH# E.
|l arpr,_ 23K ] ‘ ‘
= i A =i iz{ ;
L L A AL L L A L ~—
T F RCM‘&‘Lubncategus?‘va;“é;“\LE;ﬂ T g T J LL@L
A,/ g EEER \,g. S @
2 I & [
o
| | LY~
A
N VZ
= S
é 2 —
. = 2~RC1/4” e
— b pon s,
¥ 1li#R & SPECIFICATIONS
il SEZEEE Eff. Piston area MTRER) BRAHFFRE BAHEEN BAERES B8
Model 18 Extend HIfA] Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
ode cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 11
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) 3.5(35) 30
ShEL R <) DIMENSIONS
Model A B B1 C D F Gmax. Gmin H H1 J J1 J2 K L M
CP-20 215 88 96 53 40 4 249 229 75 13 94 76 835 M10x1.5 MI10 12
CP-30A 250 88 96 53 40 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 4 327 297 75 13 94 76 96 M12x1.75 M10 14
CP-40 270 88 96 53 40 4 331 291 75 13 94 76 110  M12x1.75 M10 14
CP-50 300 110 115 65 50 5 369 319 90 15 105 | 105 | 120 M12x1.75 M™M10 16
CP-70 346 | 120 126 89 55 5 430 360 114 15 115 115 146 M14x2 M12 16
Model N P Q R T U Ul u2 Vv W W1 W2 X Y A
CP-20 M6x1 18 20 66 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 22 102 190 60 156 20 120 65 156 22 6
CP-30 Méx1 20 24 98 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 32 105 = 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 52 120 275 95 240 42 155 90 210 34 235

AUTOGRIP 62



’TK B4 71U oh 22 3 8 BR T (— ) BEHEEE

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

R RAGIGEER R - = RESWRIMN2Z/3 -

PRI L B SRS R R TR RS -

LR HEREE 2

Super short form, light weight large Through-Hole, just as 2/3 of typical
model length.

Built-in safety check valves and pressure relief valves.

® (Can screw it from the rear end of the cylinder when mounting.

CIF INAR M RE AL 2 A A4HE - (BB )

Linear sensor can be attached.(optional)

B EFERFI Patent numbers:
&7 : PAT.NO.M491534(Taiwan)
ARPE : PATNO.ZL201420584274.5(China)

w1 3~Mounting Hole 6~X2
“ -
o °3 ol x ol o am
ol 8 § 8§ s§ 8 8 ¥ ®
2x2~Q3
Pressure Port
i, 4/
_4~v2 |, | L
7 Zl
) \ (i
RCL L] 3 o | I L] e
Drain Port M+l = P = 3
233 Alle 12 K
(REBIRIEIELAOR
Subject to technical changes
B i #i1E& SPECIFICATIONS
-
S pidhr7 JEZEETEES piston area 718 ReOEY BeEREN I E8 wERE
i Vodel # R (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure  Moment of inertia Weight = Total oil leakage
0| odel
;E cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
41 TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 124 39
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 39
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 11.7 39
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 174 4.2
TK-A1075 170.1 1553 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 1553 25 5500 4.5 (45) 0.065 174 4.2

63 AuTOGRIP



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK A g Y chZe e s BR T (— ) B ERED

9N~ DIMENSIONS

A E Gl G2
Model Al B C D F H J K L L1 L2 M1 M2 M3
I DI h7 max. min. max. min.

TK-A528 105 141 125 125 110 45 12 0 38 26 49 775 123 6~M8x20 M8x55 | 14 M38x15 25 13
TK-A533 105 141 125 125 110 45 12 0 38 26 49 775 123 6~M10x20 M8x55 | 14 M38x15 25 13
TK-C643 128 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 = M50x2 25 13
TK-A646 128 162 147 147 130 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 = M55x2 25 13
TK-B646 128 162 130 147 100 65 15 O 44 29 66 95 135 12~M10x20 M8x70 12 =~ M55x2 30 15
TK-C646 125 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 = M55x2 25 13
TK-B846 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 = M55x2 30 15
TK-A853 145 185 170 165 140 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-B853 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 = M60x2 30 15
TK-A1068 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 16  M75x2 35 15
TK-A1075 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 | 16 = M85x2 35 15

TK-A1078 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 16  M87x2 35 15

01 02 RS
Model NI N2 N3 P Q Q@ @3 T U VWL W2 X1 X2 YL Y2  Z
H8 | H8 g7  H7

TK-A528 M39x15 25 8 35 28 79 85 30 RCl/4 37 62 70 98 6 62 110 49 M6x6 83 M5x6 5
TK-A533 M39x15 25 8 35 33 79 85 30 RCl/4 37 62 70 98 6 62 110 49 M6x6 83 M5x6 5
TK-C643 M52x15 29 9 45 43 87 85 36 RC3/8 50 76 85 116 95 74 120 64 M6x10 98 M5x6 5
TK-A646 M52x15 29 9 50 46 87 85 36 RC3/8 50 76 8 116 95 74 120 64 M6x10 98 M5x6 5
TK-B646 M52x1.5 29 9 50 46 97 85 36 RC3/8 50 76 8 116 95 74 120 64 M6x10 98 M5x6 5
TK-C646  M52x15 29 9 50 46 87 85 36 RC3/8 50 76 85 116 95 74 120 64 M6éx10 98 M5x6 5
TK-B846  M58x15 30 8 50 46 97 85 36 RC3/8 56 85 9 128 115 79 130 73 Meéxl2 110 Méx6 5
TK-A853 M58x15 30 8 55 53 97 85 36 RC3/8 56 85 9 128 115 79 130 73 Meéxl2 110 M6x6 5
TK-B853 M58x1.5 30 8 55 53 97 85 36 RC3/8 56 8 9 128 115 79 130 73 Mexl2 110 Méx6 5
TK-A1068 M84x2 34 9 70 68 110 12 40 RC1/2 81 108 121 164 10 98 160 98 Meéxl2 155 M6x8 5
TK-A1075 M84x2 34 9 80 75 110 12 40 RCL/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 5

TK-A1078 M84x2 34 9 82 78 110 12 40 RCL/2 81 108 121 164 10 98 160 98 M6xl2 155 M6x8 5

Z=
i
[
@
L
il

*EXKERITEEREEFZSHEMHEEE - *Coolant Collector and Confirmation Device Please See Accessories pages.
AuTOGRIP 64



’TK ARG AU ch 22 W M BRET () BiERR R

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

R RAGIGEER R - S RESWRIMNZ/3 -

PRI L B SRS R R TR RS -

LR HEREE 2 -

Super short form, light weight large Through-Hole, just as 2/3
of typical model length.

Built-in safety check valves and pressure relief valves.

® (Canscrew it from the rear end of the cylinder when mounting.

I ANAR M BN S 4448 - (B )
Linear sensor can be attached.(optional)

=z O =

B ERERBFES Patent numbers:
&% : PATNO.M491534(Taiwan)
APE : PATNO.ZL201420584274.5(China)

. L
W1 3~Mounting Hole 6~X2 25 f 6~L1

LN

@ZU-0.1
o1
(o]
OE
@D
@Cc
7B

2x2-Q3
Pressure Port
#EmA

-

RC1" @ G1
Drain Port #M+L 3
233 Al P K
RBIBIE SRR i
Subject to technical changes
i AR1& SPECIFICATIONS
itk JEZEEBEff. piston area 1712 EoOEH EaERES I E R RE
Model # i (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure  Moment of inertia =~ Weight  Total oil leakage
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
7o TK-A1511 3364 315.2 30 3000 3.5(35) 0.38 57.9 7.0
H TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
B
% TK-2114 373.2 336.1 35 2500 3.0(30) 0.54 58.2 8.0
L MR R~} DIMENSIONS
il A E Gl G2
Model e B C D F . . H J K L L1 L2 M1 M2 M3 N1
h7 max. min. max. min.

LD.
TK-A1287 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 145 M95x2 35 15 M99x2

TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 145 M100x2 35 15 M99x2
TK-A1511 250 300 275 275 230 140 30 O |58 28 102 156 226 12~M16x36 M12x110 21 M120x2 45 15 M129x2
TK-A1512 250 300 275 275 230 140 30 O |58 28 102 156 226 12~M16x36 M12x110 21 M130x2 45 15 M129x2
TK-2114 265 320 295 295 240 165 35 O | 60 25 115 173.5247.5 12~M16x32 M12x120 17.5 M155x2 45 20 M149x2

Model N2 N3 oL | 02 P Ql Q2 Q3 R > T u vV Wl W2 X1 X2 Y1 Y2 z

H8  H8 g7 H7

TK-A1287 38 9 90 87 1275 15 45 RC1/2 96 120 138 180 7 110 185 108 M6x10 165 M6x10 5
TK-A12901 38 9 95 91 1275 15 45 RC1/2 96 120 138 180 7 110 185 108 M6x10 165 M6x10 5
TK-A1511 38 9 115 110 15375 17 50 RC1/2 126 150 170 227 7 134 | 210 138 M6x10 210 M6x9 6
TK-A1512 38 9 125 120 15375 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6x9 6
TK-2114 38 9 145 140 170 17 50 RC1/2 146 170 190 250 7 145 210 160 M6x10 230 M6x10 6

*EKBRITEBDEERZEEMMAER - *Coolant Collector and Confirmation Device Please See Accessories pages.
65 autocrip



’ TK BERPZEEHE (=) ZEEENEY

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

EHRREET - AAEBRE WL -

R L R B SRS K JER )0 R -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

aIf AR E AL R RS - (BB )

Linear sensor can be attached.(optional)

== O =n0

B ERNERZFIR Patent numbers:
&% . PATNO.M491534(Taiwan)
ARPBE : PATNO.ZL201420584274.5(China)

wi ex2 22 G P 6L
N1 7
yym—— L/S/ _
b —$— >,< ] —
z \ 9 |[N2 )
- . ] &
8L { * ﬂ“} T °Cleloloc8 5 Ljw|lo|lm
SIS 50 (|| Rl M3 Me® || 88
2x2~Q3 \
Pressure Port #3#7, * =3 x — U
g AM1
N TKL
I 4
4~Y2 z
L Vv H G1
RC1” X I A
Drain Port J#5#FL L G2 ‘ J
| | o33 (1k-2820030) | |t K
Dr
Bl
REBRGIERAETR] Tt
Subject to technical changes
i #7418 SPECIFICATIONS
itk SEZEETE Eff. piston area 712 e @B EaERERT I B8 wRRE
H#{(Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight = Total oil leakage Zz
Model 3
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg:m? kg lit. / min. ;;.i
TK-2416 4184 3754 35 2000 3.0 (30) 112 78.0 9.0 20
£
TK-2416L 4184 3754 51 2000 3.0 (30) 131 79.2 9.0 ;I’
TK-2820 526.2 472.6 51 1600 3.0 (30) 24 134.0 10.0
MBS R~ DIMENSIONS
A E Gl G2
Model - B C H . . H J K L M1 M2 M3 N1 N2
AELD. h7 max. min. max. min.

TK-2416 290 340 300 260 190 35 0 | 60 25 129 1855 275 M16x32 M180x3 45 20 M174x2 38
TK-2416L 290 340 300 260 190 51 O 76 25 145 2015 291 Ml1ex32 M180x3 45 20 M174x2 52
TK-2820 340 395 360 320 235 51 O | 76 25 152 2125 316 M20x40 M220x3 45 20 M218x2 52

Oo1 02 R S
Model P Q1 Q2 Q3 T u \Y W1 W2 X1 X2 Y1 Y2 z
H8 H8 g7 H7

TK-2416 170 166 1865 20 50 RC1/2 171 202 220 292 7 167 250 188 Méxll 260 Meéx12 5
TK-2416L 170 166 2025 20 50 RC1/2 171 202 220 292 7 167 250 188 M6xll 260 Meéx12 6
TK-2820 210 205 216 21 50 RCl/2 215 262 285 360 7 2025 300 240 Mexl2 320 @ Meéx12 6

*EKBRITEEDEERZSEEMMAHER - *Coolant Collector and Confirmation Device Please See Accessories pages.
AUTOGRIP 66



’ TS AFAEBIEE AR ] ARG

SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

RS BRI E T H B -
BAACWEBAKHRTEN IO 2 EBALHIBEIZAK -

PRI RO B SR AE R B TR ERRS -

LRI HERHEEZ -

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.

Front/Rear end mounting.

O] 08 040 5] @60 MAHEKEHHE -

I ANAR MERE L S A4 AE - (2B )

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, @60.

Linear sensor can be attached.(optional)

B EFERFI Patent numbers :
&% : PATNO.M491534(Taiwan) / ABE : PAT.NO.ZL201420584274.5(China)

w1 Q1

P L2 6Ll
2~ BRI AL — |
. 2.5 AETFTT——x
Mounting Hole 6-X2 S R =i —F= -
-4 Nl =
T il 1 wolNz
T B ] 415 gNa| | N2 | @ .
o T 3 = 2Z 0 } g g
1 i SIS 50 @
2x2~Q3 A - Ll
PSR 9
Pressure Port [
=
) >
4~Y2
[ [ Z.,k
EV=EN (X S X
Drain Port Ez vV gg H Gl
‘ggs‘ G2 1 J
AE& K
| |
7
REBRISISH A Dr
glilbje%itgli{inijﬁchanges A‘ ‘B L
A
S 1T AR 4% SPECIFICATIONS
B2 AlgR JEZEEE Eff. piston area 712 e EEg e EREN I = aiEE
% Model 88 (Extend) HIffl(Retract) Piston stroke Max. speed Max. pressure ~ Moment of inertia | Weight  Total oil leakage
z_l’ cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TS-539 724 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 155.5 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 1743 25 4800 4.5(45) 0.085 21.2 43
ShEY R <) DIMENSIONS
A E Gl G2
Model ANE B B1 C D F . . H J K L L1 L2 M1 M2 M3
h7 max. min. max. —min.

LD.
TS-539 107 143 141 125 125 110 52 15 O 425275 57 91 124 6~M10x20 M8x60 12 M45x1.5 25 12

TS-866 165 211 207 190 190 168 85 25 O 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 35 15
TS-1081 180 226 222 205 205 168 100 25 O 58 33 74 115 166 12~M10x20 M10x80 16 M90x2 | 35 15

01 02 R S
Model N1 N2 N3 (H8) (H8) P Q1 Q2 Q3 @) H7) T U vV Wl w2 X1 X2 Y1l Y2 z

TS-539 M44x15 26 8 42 39 8 85 30 RCl/4 42 69 72 103 10 625 100 54 M6x10 90 M5x12 5
TS-866 M74x1.5 37 8 72 66,5 105 12 | 45 RCl/2 72 100 111 154 12 95 140 88 M6x12 140 Mex10 5
TS-1081 M89X20 38 9 8 81 109 15 45 RCl/2 86 113 123 175 16 103 160 103 M6x12 160 M6X10 5

*EXKERTEEREEFZSHEMHEEE - *Coolant Collector and Confirmation Device. Please See Accessories pages.
67 AuTOGRIP



[
il
[
iy
il
e

TH Cp 2= 2 885 [BA ]
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

BERE K8 AAKEDESEL -
REZY IR B HEEE - O LEBEREEREEREGER - EREDNAR
B - MEERHERBNRFIEY -
Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious
accident.

oM INARMERE AL R 1% H8 - (EfBm )

Linear sensor can be attached.(optional)

P |
|
| h
sl ww oo a
& M3 T \\sz & & & &
1
W M1
L
i w 51
\ \ \ \
(TH-428:RC3/4") / = 3 G2, == H GY
RC1” Drain Port E% E%
SHAL L J
@33 | (TH-428:226.5) ‘ K
z
1571\1Eiii(ﬁiiﬂ’i?changes ;Bﬂ
KA #31& SPECIFICATIONS @
Eidlr JEZEETE Eff. piston area 718 RmaE B EREN I S BRRE [
el # il (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia . Weight = Total oil leakage il
Model
cm? cm? mm min?(rp.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
AhEYR < DIMENSIONS
A
Modl ~m@& 8 c D B ofg G GGG, K L M1 M2 M3
ID. (h7) max. = min.  max. min.
TH-428 90 130 120 100 80 40 10 0 35 25 45 1275 155 6-M8x15 M33x1.5 25 12

TH-A536 105 150 135 115 100 48 15 0 40 25 40 118 166 6-M10x20  M42x1.5 25 15

ol | 02 R
“8) | (Hg P Ql Q2 Q3 @ | S T U v w1 W2 X1 X2

Model N1 N2
TH-428 M34x1.5 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7

TH-A536  M44x15 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

*EXKERTEERDEEFZSBEMHEEE - *Coolant Collector and Confirmation Device Please See Accessories pages.
AUTOGRIP 68



’ TR BQ 5 Y o ZC 28 #3 5 BR f] BEERRER

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

S REER  ESKI -

NESANF FREBERE 22 REEEE
RéamA BB - AREX - HOHIRE -

BHLEREARNHETEME - THEHAEEE -

O eI BB TV 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

oI INAR M E AL 2 A - (R )

Linear sensor can be attached.(optional)

o

B EFE@FI Patent numbers :
&% : PATNO.M491534(Taiwan)
ARPE : PATNO.ZL201420584274.5(China)

Q
[
Y
-
N
T
—
[y

?

<

N
)

7 6 3 O?D:NNZ,_N37@“ Sy g g e
o = O Q Q Q
i W)E:! a8 | s | &
2x2~03 & — ;
Pressure Port
#d5L NE g d: Ih |
ur N\ ul 4-W2 ee—
| 4~W2 (!
b | L8] i
Drain Port
B J Z1
G2 K Gl
I
Alle iy
REBINEIEBLORT
Subject to technical changes
1T A34% SPECIFICATIONS
= EISR SEEMEE Eff. piston area 1772 EeEY EaEREN I B8 HmBRE
i
S Vistt Bl (Extend) H18l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight  Total oil leakage
odel
53 cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
| TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
ﬁ TR-646 105.0 93.9 15 7000 4.0(40) 0.015 95 3.0
TR-853 1353 125 20 6300 4.0(40) 0.032 115 39
TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
ShEY R <) DIMENSIONS
A E Gl G2
Model AE B C D F . . H J K L L1 L2 M1 M2 M3
h7 max.  min. max. min.

LD.
TR-539 107 143 125 125 110 52 15 O 34 19 4 97 133 6-M10x20 M8x60 12 M45x15 25 12

TR-646 128 165 147 147 130 65 15 O 34 19 35 97 135 12-M10x20 M8x60 115 M55x2 25 13
TR-853 145 185 165 170 130 70 20 O 47 27 45 1185 160 12~M10X20 M8x75 12 M6e0x2 30 15
TR-1075 170 212 190 190 160 95 25 O 52 27 45 1295 181 12~M10x20 M10x1.5 16 | M85x2 35 15

o1 02 R
Model NI N2 N3 P Ql Q 3 S T UL U2 VI V2wl w2 z
oce H8  Hs @ Q Q g7

TR-539 M44x15 8 25 42 39 925 65 26 RC1l/4 42 40 103 525 55 53 M5x8 90 M5x9 RC1/2
TR-646 M52x15 8 25 50 46 95 5 32 RC3/8 50 50 116 59 62 615 M5x9 98 M5x9 RC1/2
TR-853 M58x15 8 30 55 53 114 8 34 RC3/8 56 50 128 65 67 70 M5x10 110 M6x11 RC1/2
TR-1075 M84x2 9 33 80 75 1235 12 40 RC1/2 81 50 164 83 86 95 M5x10 155 Mexll RC3/4

*EXKERTEERDEEFSHEMHEEE - *Coolant Collector and Confirmation Device Please See Accessories pages.
69 autocrip

(O BN UL RO, B, |




’ RK [Py 500 | E 6] o 2B 408 83 5P [ER (T B

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

o RE . FiF KESRVEEMHEL -
o NEYIHBEHEEERERER -
o ZERUMERKEELY -
® Forshort form, light weight and high speed rotary cylinder.
® Built-in safety check valves and pressure relief valves.
® (Canscrew it from the rear end of the cylinder when mounting.
SRR ER N EBIERMEE DR ELSE -
The drain port should be independently connected to oil tank to
avoid back pressure.
L2
i
e
6~L1
~ A 1D, 737 || N1 ]
& B:St f7% || T [I—
T Lr[\7 N[
_ AB |Dr éJ | ,,,,7,74#,, SRS
9 /W ‘ Y
L[ vk
RC1/4" 7
Drain Port 5%, ‘ | e —
2~RC3/8" (RK-200:RC1/2") LQ
(RK-75:60) Pressure Port #5387, S
H G
2~RC1/2" .
Pressure Port #5584l o P J
NO) M
S AL J
-
Q
RC3/8" ﬁL
Drain Port S%HA, R
(REBIVEIEBEIER RK-250
Subject to technical changes -
i AR1& SPECIFICATIONS
B5E JEZEMHTE Eff. piston area 712 e aEH EefEREN I £
Model 88l (Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight zx
ode cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg-m? kg e
BR
RK-75 442 371 15 6000 4.0 (40) 0.01 29 ;E
RK-100 78.5 71.5 20 6000 4.0 (40) 0.03 44 [
RK-125 122.7 1131 25 6000 4.0 (40) 0.05 6.9 tl
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 3141 290.4 35 5500 4.0 (40) 0.28 154
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 45.2
MBS R~F DIMENSIONS
Modl A B C D1 D2 B F G G oy, g L u 2 M N N P Q R S
(h7) max. | min. (H8)
RK-75 75 15 107 90 90 65 30 45 30 57 148 M20x2.5 6-M816 M8x60 12 21 35 5 415 10 275 26

RK-100 100 20 132 115 100 80 30 45 25 72 163 M20x25 6-M10x20 Ms8x75 12 21 35 5 395 10 285 32
RK-125 125 25 160 140 130 110 35 50 25 82 172 M24x3.0 6-M12x20 Ms8x85 12 25 45 5 385 10 285 32
RK-150 150 30 190 170 130 110 45 55 25 95 184 M30x3.5 12-M12x24 M10x100 16 32 45 5 37 10 285 32
RK-200 200 35 245 220 145 120 55 70 35 115 201 M36x4.0 12-M16x30 M10x125 21 38 60 5 38 6 285 28
RK-250 245 60 307 275 220 160 65 85 | 25 165 255 M42x3.0 12-M20x35 M1éx175 28 45 65 12 33 18 6 -

autocrip 70



RK-N S 3000 B3 5 [BR ] B
ROTATING HYDRAULIC CYLINDER

o A . HiE - KSIVEEHET -
o LERRUBEIKHEEY -
® Forshort form, light weight and high speed rotary cylinder.
® (Canscrew it from the rear end of the cylinder when mounting.
SRS BCE S EIR LM ERE  DURREL B -
The drain port should be independently connected to oil tank to
avoid back pressure.
2
F —
go)_‘ 6~L1 T
Z e —
N ) @
= ~ A: 1.D. B N1
A B |Dr 3 m B:st g || T
/Al | W N —
T - - N %l 9 Ol o g
o I : e el B ESIES
Ml eait N K
RC1/4” !
Drain Port JEA7L ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5 L
(RK-75N:60) Pressure Port #5587 —
‘ 77.5(RK-250N:90) H G
J
REIIEERROMA
Subject to technical changes
iR+ SPECIFICATIONS
BISR JEEETE Eff piston area 172 EaEEH EaERAES I Es
# 8 (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) kg-m? kg
i RK-75N 442 37.1 15 6000 4.0(40) 0.01 2.8
-
i RK-100N 78.5 715 20 6000 4.0(40) 0.03 43
[E%
| RK-125N 122.7 1131 25 6000 4.0(40) 0.05 6.8
ﬁ RK-150N 1767 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 3141 2904 35 5500 4.0(40) 0.28 153
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 452
ShELR~F DIMENSIONS
E G G M
Model A B C DL D2 4o F oo mn B K L 11 2 g N NI P Q R S

RK-75N 75 15 107 90 90 65 30 45 30 57 1345 M20x25 6~M8x16 M8x60 12 21 35 5 28 10 275 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 21 35 26 | 10 28.5 32

RK-125N 125 25 160 140 130 110 35 50 25 82 1595 M24x3.0 6~M12x20  M8x85 12 25 45 26 | 10 28.5 32

[S2 BN, BN, |

RK-150N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5 12~M12x24 M10x100 16 32 45 26 | 10 285 32
RK-200N 200 35 245 220 145 120 55 70 35 115 1925 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285 28

RK-250N 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 6~M20x2.5 M16x175 28 45 65 12 37 18 6 -

71 AuTOGRIP



il
[
i3
il
ft

RH Cp 8 40 825 B ]
ROTATING HYDRAULIC CYLINDER

Lﬁﬁfﬁn% AR ERARAKSSRIEMR - E8K -
DEESRARET - FEASNNEMARR2REBE LA - MEEm &

L IERE -
® The rotary valve and cylinder body, all made of special light alloy, light-

weight.

® Through unique design, the rotary valve enables the inside bearing to

get sufficient lubricating and cooling and endure high-speed rotary for
longer service life.

SRS BCE S ERERREE DU R EL R
The drain port should be independently connected to oil tank to
avoid back pressure.

1
L ==y A B |Dr ) alo
wL
®
RC1/4”
Drain Port 38;H7L
2-P

13(RH-200:14)  pressure Port #4357

6
102 H G
J
Subject 0 tochca changes
iR 4% SPECIFICATIONS
EiEk SEZEE T Eff. piston area 718 B OEY e ERES I 2
Vodel B8 (Extend) HIf(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight :DE
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg-m? kg 7?
RH-65 31.0 279 15 6000 3.5(35) 0.01 29 i’é
RH-80 477 428 15 6000 3.5(35) 0.01 34 B
RH-100 754 70.5 20 5500 3.5(35) 0.04 49 i
RH-125 119.6 1125 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 204
MBS R ~F DIMENSIONS
Modl A B C D b F O O H ) K L dy N p Q R S
RH-65 65 15 98 80 60 22 45 30 73 175 M12x1.75x30 6~M8x16 14 RC3/8 « 30 15 45
RH-80 80 15 112 90 65 | 25 45 30 74 176  M16x2.0x30 6~M8x16 17 RC3/8 30 15 45

RH-100 100 20 135 100 80 25 45 25 885 1905 M16x2.0x30 6~M10x20 17 RC3/8 | 30 15 45

R

RH-125 125 25 160 130 110 30 50 25 955 1975 M20x2.5x35 6~M12x20 21 RC3/8 30 15 45

RH-200 200 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

AUTOGRIP 72



il
[
i
il
ft

RA S 700 83 75 [BR ]
ROTATING AIR CYLINDER

LERERAIRERARRESSHEMMN - E8K -
LEELSRRE - EFEBERESAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are
light-weight.
® Through unique design, the rotary valve can considerably reduce the
waste in compressing air and efficiently increase its utillization.

FERR  FREAMERHE -
When used, a little oil mist should be contained.

L
A: 1.D.RE
{Zﬁ*
] e
= T L ERE
o]
L et I
?g AIS 36.5 B
Silencer 2~F‘€01/4” N
77777777 HER Pressure Port
I — il 5
‘ 95 H G
| J
Subjec 10 techca changes
54248 SPECIFICATIONS
EISR SEEEME Eff. piston area 1772 EeEEg EaEAES I 58 ERERE
7o {8l (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure M?r:zft?; e Weight | Air Leakage( 6kgf/cm?)
/EEH Mode! cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg-m? kg cc/sec
;E RA-100 77.0 744 15 6000 0.8(8) 0.03 39 400
ﬁ RA-130 1312 1247 15 5000 0.8(8) 0.05 5.2 400
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 184 400
MY R < DIMENSIONS
Model A B C D (hE7) F mgx. m?n. H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 | 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 = 255 | 170 130 | 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 | 305 | 190 130 @ 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

73 AUTOGRIP



’ RS Py 500 | 81 17 A2 122 ) A 4 5 5 BR R B

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

o E . BiF . fTIEEFIAEEREL -

o HEINEMRE  TRHBESRS v HBRIIERFS -

o NEM IR HEE KRERSRER -

o LERUHEIREEL -

® For short form, high speed and stroke control.

®  With proximity sensor, the movement of the position is easy to adjust and
confirm when operating.

([ ]

Built-in safety check valves and pressure relief valves.
® (Can screw it from the rear end of the cylinder when mounting.

SRS B E S E R ERMEE DR EL SR -

TEBAEB OB AR RN RS - (F]Hm)

The drain port should be independently connected to oil tank to avoid
back pressure.

Stroke Detection Type can be customized to Linear Posisioning System.

T
N
L2
6~L1
2x2~M5x0.8
H=——== -
A LD. AN 5 r
Bist i) i~ | |
- s éI 8 § 8|8
% | Tt
! P ! RC1/4” _n
31[3_‘&* 3,18 Drain Port J8#F, &5
78 78 27(RS-200:29.5) 5 || L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port 48 HL J
RS-200 RS-75,100,125,150
(RBIVNEEBEOF
Subject to technical changes
F 54248 SPECIFICATIONS
BISE JEZEETE Eff. piston area 1712 = QB EeERERT I £
Model # R (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight :g"g
ode cm? cm? mm mini(r.p.m.) MPa(kgf/cm?) kg-m? kg ;;'i
RS-75 43.0 371 15 6000 4.0 (40) 0.01 34 ﬁ
£
RS-100 774 71.5 20 6000 4.0 (40) 0.04 4.9 ;’I’
RS-125 1216 1131 25 6000 4.0 (40) 0.05 74
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 2904 35 5500 4.0 (40) 0.29 15.9
AhEYR T DIMENSIONS
E G G M
Model A B C D1 D2 h7) B e H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 65 30 45 30 57 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35

RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x25 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 50 25 82 41 144 226 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 55 25 95 39 142 237 M30x3.5 12~M12x24 M10x100 16 32 45

RS-200 200 35 245 220 145 120 55 70 35 115 34 14252575 M36x40 12~M1ex30 M10x125 21 38 60

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
AuTOGRIP 74



’ RS-N (TEZFIREm e s

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A SE - TR EVRE N B -

RIETVOERRE - TIRREES - OIERVHERELIEE{EE -

LR HEREE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust
and confirm when operating.

® (Canscrew it from the rear end of the cylinder when mounting.

SRR ERNEBERMEE DR ELSE -
TREBAEB OB AREEA RS - (F]Hm)

The drain port should be independently connected to oil tank to
avoid back pressure.

Stroke Detection Type can be customized to Linear Posisioning Sys-
tem.

AN 6-L1 L2
o AB | Dr ﬁ_,
He==c0
i AID.RE 175 |
& Ti B st 178 ;;*
— _ /FWT::‘W?IU- | 8 8 @)
b \u‘gzgﬁa SESIESIRS
%ﬂjﬂf’ N_N_K
RC1/4” ﬁ _
Drain Port %584, =5
27| | 28
10 S NL
2~RC3/8"(RS-200N:RC1/2") | 13 S-200N:134.5) - H G
RS-200N Pressure Port #3587 J
RBBAEIERAOMR
Subject to technical changes
¥ ilT#34& SPECIFICATIONS
itk JEZEEME Eff. piston area 712 EaOEH SN e ) I 88
el 8 8(Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode
cm? cm? mm min-(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 283 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 283 30 6000 4.0(40) 0.01 33
7o
:—E RS-75N 43.0 37.1 15 6000 4.0(40) 0.01 33
/|
& RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
;g RS-100N 774 715 20 6000 4.0(40) 0.04 4.8
ﬁ_Ir RS-125N 121.6 1131 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SNEY <) DIMENSIONS
E G G M
Model A B C D1 D2 h7) F o | mi H J K L L1 L2 (H8) N

RS-6520N 65 20 97 80 80 60 25 45 25 62 193 Ml1léx2.0 6~M8x16 M6x70 145 17 30
RS-6530N 65 30 97 80 80 60 25 45 15 62 203 M1éx2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 107 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N 75 30 107 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 35
RS-100N 100 20 132 115 100 80 30 45 25 72 203 M20x25 @ 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x30 @ 6~M12x20 M8x85 12 25 45
RS-150N 150 30 190 170 130 110 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 | 16 32 45
RS-200N 200 35 245 220 145 120 55 75 35 115 2495 M36x4.0 12~M16x30 M10x125 = 21 38 60

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
75 AuTOGRIP



A R GpiEsemaE swan

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

B - JEKEEEMEGE - o] KERIRHEATIHIK -
T LR B SR AR R R )R BR S -

To allow coolant to be feed from the rear end of the distributor through
the rotating union
® Built-in safety check valves and pressure relief valves.

EE'QEE?LPEF&%“JZ&%T%@EE% LR R ELES B

KBRS RIBR - FEE -

The drain port should be independently connected to oil tank to
avoid back pressure.

The rotary cylinder should not run without liquid through coolant

port.
6~L1 rL_Z‘
- - —
[
RC1/4" o -
Coolant Port i£7K7, — g\ IS?EE ’§'
fT : St L=
<> N [ — T llslsly als o
© | / H?M_;g, SIRIR
™ | [
m T Y oK
RC1/8" ‘ ! _h
Coolant Drain Port 87K, p—
< 20 H1 S
13,13 RCL4" \10 5 NL
E Drain Port 58513 Ho H G
60 Ci~
1 I~ J
(
A
- 2~RC3/8"(RL-200:RC1/2"
C-Dr AH B| Dr Pressure é’ort “amAL )
PV Limit value 14400 MPa-r/m
PV BRHIE
(REBRIBIELHER]
Subject to technical changes
1T #31% SPECIFICATIONS
EISR JEZEMHEME Eff piston area 1712 EeEEg EaEREN EKEB = RES I 52
e 8 18(Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure CO%ZZF;?&ZS?SO“ Moment of inertia ~ Weight .
@I
cm? cm? mm min-i(rp.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg S
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 31 %
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 4.6 ;ii}
L
RL-125 121.2 1131 25 6000 4.0(40) 3.5(35) 0.06 7.1
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
SNEY <) DIMENSIONS
Model A B C D1 D2 (hE7) F Gmax. Gmin. H H1 H2 J K L L1 L2 (I"\IAS) N
RL-75 75 15 107 90 90 65 30 45 30 57 42 137 194 M20x2.5 6~M8x16 M8x60 | 12 21 35

RL-100 100 20 132 115 100 80 30 45 25 72 42 137 209 M20x25 6~M10x20 M8x75 12 21 35

RL-125 125 25 160 140 130 110 35 50 25 82 41 136 218 M24x3.0 6~M12x20 M8x85 | 12 25 45

RL-150 150 30 190 170 130 110 45 55 25 95 39 134 230 M30x3.5 12~M12x24 M10x100 16 32 45

RL-200 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x4.0 12~M16x30 M10x125 21 38 60

AUTOGRIP 76



M RN EREmEED w

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

o BiF JEKEEEMEG - JARBRMAAIHIK -
o ZEFUHERHEEY -
® To allow coolant to be feed from the rear end of the distributor through

the rotating union.
® (Canscrew it from the rear end of the cylinder when mounting.

SRR ERNEBIERMEE  LURRELSE -
EXKEERREER  FEE -

The drain port should be independently connected to oil tank to
avoid back pressure.

The rotary cylinder should not run without liquid through coolant
port.

6~L1 »’L_Z‘«
RC1/4”
Coolant Port 7K%, ALD. N 17 g I
B:St. 7% || ..
i@ e
g T ) — (1 I st w N | T
T —hE QW Nl o
2 4 ET]] L UBbEEES
@ s ﬁ’il 1‘:1 71‘\ N N \\5
RC1/8“ [ | il I} il o L
Coolant Drain Port J87KHL jE—
- 20 28 S
RC1/4” 5 L
L 18 Drain Port J8H7. \ﬂ =
60 3.5 H G
C, J
( 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port  #HFL
C-D H \‘
PV Limit value 14400 MPa.ym A B | Dr

PV [RHIE

{REBRRABIERORER]
Subject to technical changes

1T #31% SPECIFICATIONS
FISR JEZEMHEME Eff piston area 1712 EeEEg EaEREN FKEB R = AR I s
Coolant connection

i

N Vodel Bl (Extend) Hffl(Retract) Piston stroke Max. speed Max. pressure Max pressure Moment of inertia = Weight
;E cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
Eé RL-75N 42.6 371 15 6000 4.0 (40) 3.5(35) 0.01 3.0
% RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 4.5
i RL-125N 121.2 1131 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 3125 2904 35 5500 4.0 (40) 3.5(35) 0.29 15.5
AhEYR < DIMENSIONS
Model A B C D1 D2 (hE7) F Gmax. Gmin. H J K L L1 L2 (I-'\I/é) N

RL-75N 75 15 107 90 90 65 30 45 30 57 180 M20x25 6-M8x16 M8x60 12 21 35
RL-100N 100 20 132 115 100 80 30 @ 45 25 72 195 < M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 25 160 140 130 110 35 50 25 82 205 M24x3.0 6-M12x20 M8x85 12 25 45
RL-150N 150 30 190 170 130 110 45 55 25 95 218 M30x35 12-M12x24  M10x100 16 32 | 45

RL-200N 200 35 245 220 145 120 55 70 35 115 240 M36x40 @ 12-M16x30 M10x125 21 38 60

77 AUTOGRIP



RL-AN yF 7 AU 3o e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

o FiF IREEEMEL - JERBKHREER -

o ZEFUHERHEEY -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® (Canscrew it from the rear end of the cylinder when mounting.

AR - FEAMENHTE -

When used, a little oil mist should be contained.

6~L1 4ﬁ«
RC1/4”
Air Port E&4L AILD. R[] ) I
—TT B: St. 1772 T$r—'$
ey | e STl o =
O 1 S a ol
(©) 5 B SIS
” —L@_,, e L =) LN K
RCUA™ =T
\g%/ Drain Port SE5H7L 57 28 =1
1 13 2~RC3/8"(RL-A200N:RC1/2") \ 10 5 Nt
Pressure Port #3HFL 1095 H G
60 ; :
| A
J
-
A B | Dr
REBIEIEBLOHR
Subject to technical changes
i #31E SPECIFICATIONS
EISR JEZEETE Eff piston area 1772 EeEEg EeEAES ARBESEREN I B8 o
A N @I
8l (Extend) H1ffl(Retract) Piston stroke Max. speed Max. pressure ?;Irconnecnon Moment of inertia ~ Weight S
Model ax. pressure =
cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg ;E
RL- A75N 426 371 15 6000 4.0(40) 0.8(8) 0.01 3.0 [
RL- A100N 77.0 715 20 6000 4.0(40) 0.8(8) 0.04 45 il
RL- A125N 121.2 1131 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 3125 2904 35 5500 4.0(40) 0.8(8) 0.29 155
MBS R ~F DIMENSIONS
E G G M
Model A B C D1 D2 h7) F e | whi H J K L L1 L2 (H8) N

RL-A75N 75 15 107 90 90 65 30 45 30 57 166 M20x25 6~M8x 16 M8x60 12 21 35
RL-A100N 100 20 132 115 100 80 30 45 25 72 181 M20x25 6~M10x20 M8x75 12 21 35
RL-A125N 125 25 160 140 130 110 35 50 25 | 82 191 M24x3.0 6~M12x20 M8x85 12 25 45
RL-A150N 150 30 190 170 130 110 45 55 25 95 204 M30x3.5 @ 12~M12x24 MI10x100 16 32 45
RL-A200N 200 35 245 220 145 120 55 70 35 115 225 M36x40 12~M16x30 M10x125 21 38 60

AUTOGRIP 78



’ RC 3 2 33 GB S 432 B 30 S ER 4T BTSN

HYDRAULIC CYLINDER WITH ROTATING JOINT

. $§H%LLﬁﬁﬂ

o TUSMEERENLBELEREE ERRERERIKPOLEKHFEK -
° WLLJJ:F%@%TAH% °

o OIHERCITIEFRAS AR M RURIZRETTIRIEN -

® Medium and solid hydraulic cylinder with channel.

[ J

Can choose an external rotary joint with either single or double paths.

® It meets the demand for coolant through spindle and airtight pressure detect
function.

® Has a buil-in check valve for safety.

® Stroke control via proximity switch or linear positioning system.

MERERIMNEERENEREOEEERERM -
The proximity switch and single or double paths rotating joint are optional.

6~L1 L2
20
i) 3 =%
=8 5
S A: .D.AE
lzj R B - — B: St. 1712
ressure port K
#HFLAB é o I
N
el I [ =
3 o) [
SR (RS \\ S8 888
8 —— = (
| —
oL _D) ,L M1
U :
Dr
23.5 ‘
Q||lP
H
G2 J Gl
RBIBIEIERAOHER
Subject to technical changes br
AR 1% SPECIFICATIONS
fith JEZEHEME Eff piston area 1112 e EeERES I 5=
# i (Extend) FiIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) kg-m? kg
7o
:E RC-85 43.8 48.1 20 5000 3.5(35) 0.01 6.8
;g RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
| RC-125 109.8 108.5 25 5000 3.5(35) 0.03 111
ﬁ RC-145 152.2 143.9 30 5000 3.5(35) 0.03 146
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 355
ShES R <) DIMENSIONS
Model A B Cl c2 D E (h7) F G1lmax. G1lmin. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 1585 M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164  M30x1.5
RC-145 145 30 187 183 165 110 50 55 25 38 8 89.5 169.5 M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 515 16.5 120 2225 M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T1 T2
RC-85 6~M8x75 125 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 125 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

79 AUTOGRIP



HYDRAULIC CYLINDER WITH ROTATING JOINT

o BEEEMIEMBALERLLN -
® Rotating joint and Proximity switch with bracket type.

’ RC 3 8 452 GE SN B 10 e S [BR AL BRI

F1 BE - EBE F2 BlE - #BE
With double paths rotating joint(Fixed type)

With single path rotating joint (Fixed type)

M1 BE  ERE M2 BE  ERE
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

B ARMEAREIANSZ 2R s RN SIR

linear Sensor with bracket Proximity switch with bracket

Z=
i
[
@
L
il

* iR PO RIS SRS - * The proximity switch and rotary joiint are optional.
* OSBRI NS - * Choose and attach the appropriate type.

*EARENBER SR EB R - * Please contact AUTOGRIP for more detailed drawing.

autocrip 80



M R EEEERemmmam ) —

COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - KERGREE MR -

IR R B S - R R TIE ST R -
ZEREHAEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SR AL ECE 5 BB B B A J/)Uﬂi%f—‘ijb [B2

TEBAHEB OB AR RN LGRS - (5] uu)

The drain port should be independently connected to oil tank to
avoid back pressure.

Stroke Detection Type can be customized to Linear Posisioning Sys-

tem.
2~RC3/8" =2 -
Pressure Port A,B - _
BT AB HE— AlD.AE) N a
B:|st. 1772 L—
[ S
I Lo ynmani u| w
g @ NI mEE] SJ s & 8 8
| 15 S
H
i | |a25 - =3
S
[ J G
Drf AB
REBIE BB
Subject to technical changes
x= AT SPECIFICATIONS
;g fith] JEZHETE Eff piston area 17%2 EeEEg EaERES I 582
pc] 88l (Extend) Hiffl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
i Model
1 cm? cm? mm mini(r.p.m.) MPa(kgf/cm?) kg-m? kg
RE-110 92.7 879 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 1304 1231 30 6000 4.0(40) 0.03 9.1
ShELR~F DIMENSIONS
C G G M
Model A B h7) D B F e ey H J K L L1 (H8) N
RE-110 110 20 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 | 168 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 30 | 168 150 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 40

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
81 autocriP



SRES P EEERERG () BREE
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

A RE

SR - KEHSAPERRG - FhESERARIAER -

IR R B S - R R TIE ST R -

LRI HERHEEZ -

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® (Can screw it from the rear end of the cylinder when mounting.

SRS R E S ER LM EE DU ELER -

TEBAHEB OB AR RN RS - (F]HHm)

The drain port should be independently connected to oil tank to
avoid back pressure.

Stroke Detection Type can be customized to Linear Posisioning Sys-
tem.

L2
=N, - — )
=4 \ J
Ve
5 h _
_ K
A:1.D. A
B: St| 1712
A s N| =
© ERIECELER
\ 1
N| M
2~RC1/2" N h2~L
Pressure Port A,B
“omFL A, -
(RE-150:2~RC3/8™)
- H G
RC3/8" J
Drain Port JEAFL
(RE-150:RC1/4™) f
Dr | AB
Subject techmica <hanges e
Fi iR 1& SPECIFICATIONS ;si'i
RIS JEZHETE Eff piston area 17%2 BeEEg EaERES I = ;E
gl 88l (Extend) Hiffl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =
Mode
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg:m? kg il
RE-150 1744 160.8 30 5500 4.0 (40) 0.06 149
RE-200K 2924 2749 35 4000 4.0 (40) 0.19 291
RE-200L 2924 2654 50 4000 5.0 (50) 0.21 304
RE-250 465.2 438.2 60 2000 5.0 (50) 043 47.2
ShES R ~F DIMENSIONS
E G G
Model A B (h7) — ey H J K L L1 L2 (H8) M1 P Q
RE-150 150 30 205 180 130 110 60 30 99 1775 M30x3.5 M12x24 | M12x105 185 32 10 50 125 114
RE-200K 195 35 257 225 145 120 73 38 120 239 M36x40 M16x30 | M16x130 27 38 12 65 15 150
RE-200L 195 50 257 225 170 125 80 30 135 254 M42x3.0 M16x30 | M16x145 27 45 12 65 15 150
RE-250 245 60 307 275 220 160 85 25 165 280 M42x3.0 M20x35 | M16x175 28 45 12 65 15 150

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 82




=
i
[
@
L
il

RS

A RE-A

R EEEH B (—)
COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

SRS

B BERSEIEEEART - TEREREAZES -
NET LR BESEEE - RER R TREHIER -

LR HEEKHEE 2 -

For short form, light weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through the
rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

R ERNEFIERMEE LB ELESE -

AR - FEAMENHTE -

TREBAEB OSSR EALRFAEE - (F]Hm)

The drain port should be independently connected to oil tank to avoid
back pressure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Posisioning System.

2~RC3/8"

Pressure Port A,B

%ML AB

REBIRABIELRORER]
Subject to technical changes

K ifi#R4& SPECIFICATIONS

Bt JEZEETR Eff piston area

12

it =
T Ih——1 ALD. mE | N K
B: St. 1772 /
< L A —
- { . | [ | Elu_ w al o
8 \ [ erQ| Q| al o
8
%ﬂg 15
i
8.5 1
- | H —
12.5
H L1 L
i J G
Dr | AB
BEEEY BEEREN | IRIESEREN I 5

Air connection

Vodel # i (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia ~ Weight
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 1231 30 6000 4.0(40) 0.8(8) 0.03 9.1
AhEYR~T DIMENSIONS

Model A B (hC7) D E F — mGin. H J K L L1 (|-'\|/é) N
RE-A110 110 20 145 128 42 29 40 66 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 145 42 29 39 695 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 30 168 150 50 33 30 795 158 M24x3.0 6~M10x85 17 27 43

* 3 #278R9 : DC 10-30V 100mA NPN -
83 AuTtocRrIP

*Proximity sensor : DC 10-30V 100mA NPN.



’ RE-A te e R S BT B M ER G () B

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

B BERSEIEEEART - TEREREAZES -
NET LR BESEEE - RER R TREHIER -

LR HEEKHEE 2 -

For short form, light weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through the
rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® (Canscrew it from the rear end of the cylinder when mounting.

SRR BCE S EIRERMERE DRSS EL SR -

FERE  HEAMENME -

TREBAEB OB AREEN RS - (F]Hm)

The drain port should be independently connected to oil tank to avoid
back pressure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Posisioning System.

oxo-Msxg Ot J-_Z,‘
m [
N\ B—— == :
siadpn 5
‘ i I S —_—H _
R — TR
= A 1.D. RS TELLLIJN
f g| 1 ll g paineE ] 35l
S ot B St| 712 ©18 85|a|®
e T ™A
5 e
2~RC1/2" n = u
Pressure Port A,B p 12~L
“h7l, AB P |12~
(RE-A150:2~RC3/8") R _
RC3/8" Air | H G
Drain Port ;A7 —5s ‘
(RE-A150:RC1/4”) J
RC1/4"
Air Port JER AL Ml
(RE-A150:RC1/8") Dr | AB

{REBRABIEAORER]
Subject to technical changes

Fe i #24% SPECIFICATIONS
B5R JEEEME Eff piston area 712 REABYH ReEREN ERERSEREN I ES

Air connection

]

Z=
i
[
@
L
il

Model # il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Vi Moment of inertia ~ Weight
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A150 1744 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 2924 274.9 35 4000 4.0(40) 0.8(8) 0.19 291
RE-A200L 2924 2654 50 4000 5.0(50) 0.8(8) 0.21 304
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 043 47.2
ShEL R ~F DIMENSIONS
Model A B C DL D2 S F O & 4 K L 11 2 M MLON PQ

RE-A150 150 30 205 180 130 110 45 60 30 99 1775 M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-A200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-A200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 Mléx145 27 45 12 65 15 150

RE-A250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 84



WS 5 B F KR RG] (— ) BREE

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A Re-L

o S HSELETKEEMEL - ILREIKEATIHIK -
o ANRFIMBEHKE  REMRITREHIERARER -
o ZERUMERKEE -
® For short form, light weight and high speed rotary cylinder. To allow
coolant to be feed from the rear end of the distributor through the
rotating union.
® Built-in safety check valves, pressure relief valves and proximity sensor.
® (Canscrew it from the rear end of the cylinder when mounting.
SRR ERNEBERMEE DR ELSE -
KBRS EER - BEE -
TRBAEB BN RREEURRES - (F8Mm)
The drain port should be independently connected to oil tank to avoid
back pressure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Posisioning System.
2~RC3/8" [ c
Pressure Port A,B T Pr
#omfl AB v L rﬂi
[ T |
C-Dr =1 ] =
Dr| AB A _N_k
— /
3 ALD. R Tz
= l_ln | A RE ﬂ,EJmmgo
5| |10|W B:st 72 -k | 8190/ g|8
|
nl Hﬁh 15 -8
RC1/8" ‘ A D
Coolant Drain Port ‘ 4 e i g
KL H L1 L
235 |125 ‘ ~—
RCLia® 5 RC1/4” . ©
Collant Port E7KFL Drain Port #3870,
x
H Subject 10 echniclchanges
B
B i #R1E& SPECIFICATIONS
# BI5E JEEETE Eff piston area 718 e B e EREN KA ERBEREN I S
il } Coolant connection R .
Vodel 18l (Extend) HifHl(Retract) Piston stroke Max. speed Max. pressure Max, pressure Moment of inertia ~ Weight
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 91
RE-L130 128.9 1231 30 6000 4.0(40) 1.5(15) 0.03 9.5
HhEYR~F DIMENSIONS
Model A B (hc7) D E F mgx me H J K L L1 (|—’\|/z|3) N
RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38
RE-L130 130 30 168 150 50 33 60 30 79.5 1815 M24x3.0 6~M10x85 17 27 43

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 autocRrIP



’ RE-| MEERaE K nMimE (— ) —

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

o FiF KEESET/KEEMEG - lERREHRATHIK  HrBEGER
RUNER -
R RSB S - R R TI2 RS ERE -
LRI o HERHEE 2 -
For short form, light weight and high speed rotary cylinder. To allow
coolant to be feed from the rear end of the distributor through the rotating
union, suitable for vertical lathe.
Built-in safety check valves, pressure relief valves and proximity sensor.

® (Can screw it from the rear end of the cylinder when mounting.

SRS B E S E R ERMEE DR EL SR -

AKEM A RN FEE -
TEBAEB OB AR RN RS - (F]Hm)

The drain port should be independently connected to oil tank to avoid
back pressure.

The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Posisioning System.

2x2~M5x8 GLU\ <L—2—
il =N o — T ]
2~RC1/2" r‘z"if | gk | 5 |
T i
445 , o[ r— i
(RE-L150:2~RC3/8) =—— K
? A:I.D. & =
g B ——— 8,648 /5/¢
Q| || Z B: St 112 | SEINE
RC3/8" 12.5 %‘ | T N ”LJM
Collant Port 37K, S ﬁﬁ == —
— ] 12~L
e —
25 J G-
RC3/8"
Drain Port 8387, C H G
(RE-L150:RC1/4™) Y J
RC1/8" .
) s C-Dr 1
Coolant Drain Port 327K, Drl AB

REBRABIELAOER]
Subject to technical changes

Fe i #524% SPECIFICATIONS

itk JEZEEE Eff piston area 112 BB =afEREN KSR S E AR I s
Coolant connection

i

Z=
i
[
@
L
il

Vodel #{8 (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Max_pressure Moment of inertia ~ Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-L150 1744 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 2924 2749 35 4000 4.0(40) 1.5(15) 0.19 294
RE-L200L 2924 2654 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
HNEYR~F DIMENSIONS
Model A B C D1 D2 (hE7) F mcz:‘m mGin. H J K L L1 L2 (I—’\|/§|3) M1 N P Q

RE-L150 150 30 205 180 130 110 45 60 30 99 201 M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x40 M16x30 M16x130 27 38 12 65 15 150
RE-L200L 1195 50 257 225 170 125 65 80 30 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
AuToGRIP 86



=
i
[
@
L
il

A rD

P46 | I P €6 45 A0 208 8550 BR ]
DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

o RE . KE . EFIVEENEL -
o ANEYIMBEHKEREIRER -
® Forshort form, light weight, double rod rotary cylinder.
® Built-in safety check valves and pressure relief valves.
RS ECE RS EIRERMERE DR EE SR -
The drain port should be independently connected to oil tank to
avoid back pressure.
,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A:1.D. AR q
: - M42x1.5
B: 1.D. AL 35h _
£ M20x2.5
] — n
N~
== ABLDr ﬂﬁ 3 d—g s 9e
|G Q \M Qr Q : - -
3 s = § % °
= RC1/4" W ! 35
1313 Drain Port 7%733}'4 2 40.5 5 M
0 —1
] 2-RC3/8"
60 Pressure Port #5584l 90 C F
D E
REBRABIELROER
Subject to technical changes
iR 4& SPECIFICATIONS
EZE EAEES. piston area
Btk 712 RSB B EAETN I 58
B4 (Extend) HIfil(Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) kg-m? kg
RD-120 122.7 126.1 116.1 1131 20 5000 3.0(30) 0.14 113
RD-125 1227 126.1 116.1 1131 25 5000 3.0(30) 0.15 11.5
MBS R~F DIMENSIONS
Model A B C D E max. E min. F max F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

87 AuTOGRIP



A RD-N

£54% 2170 52 B ]

DOUBLE ROD ROTATI

NG CYLINDER

g

R

5 - 8 {RELmEY AL -

For short form, light weight, double rod rotary cylinder.
ML E R ERERMEE DR ELEE -

The drain port should be independently connected to oil tank to
avoid back pressure.

Cylinder A ?ylinderB 6~M12x1.75x24
. 1
A 1D. WE {ﬁé N42x1 5
B: I.D. A& ‘ 35*;’
i ™ ‘ I M20x2.5
| o
@ %j} A BLDF ﬂ o — o o '.E ol o
1 — © / O < | ~
== 5 o S I
% 10| L%J‘[ Q
L] RC1/4" L I 35
Drain Port EH7FL -
27, 28 5.1
13113 0 —=
[ 2~RC3/8” R
Pressure Port #5H7L 77 C F
60
E
RIS IEARORT)
Subject to technical changes
T #i 1% SPECIFICATIONS
EZEETAESf. piston area
Sk 1712 EeEY EaEREN I E3-
B (Extend) HiI118l(Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min?(rp.m.) MPa(kgf/cm?) kg:m? kg
RD-120N 1227 1261 1161 1131 20 5000 3.0(30) 0.14 11.2
RD-125N 1227 1261 1161 1131 25 5000 3.0(30) 0.15 114
MBI R <F DIMENSIONS
Model A B C D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 35 10

AuTOGRIP 88

Z=
i
[
@
L
il




89

Y 4.

JH B2 30

A SHEERY

HYDRAULIC ROTARY VALVE

o HHET{FR FIUaEZ MBI REESRE -
o OHEFNEPLATIARRE - BEEEBHM oK HEE . BAERMA -
° Ii-ﬂ?%—tﬁf‘ B 5 22T P AR B 1F -
o [EBTIEEE . o] pIIEHIFIZENE -
® Rotary valve is used for clamping cylinder on rotary table.
® Through unique design, it can make the rotary housing be rotated light
force and is free from oil leaking.
® [Typeisasingle circuit which controls the clamping.
® I Type is a double circuit which separately controls the clamping.
RV BU(R R MA BoE 0 BB ERMAE - DU EmE B
The drain port of RV type should be independently connected to oil tank
to avoid back pressure.
4~M8 2x4~RC1/4"
Screw hole Distributing port
243 pabiiviiEiN 4~M8x11

%;M%

0134
@40 h7
|
[ T 1
T
!

«4@
=

\ i

WY

i m i

NN

PR

|

RC1/4”
Drain Port S%HF,

I
,E];,
5 12‘ 405 | 25 18 2(4)y-RCH4"
o @3
136 Pressure Port #3584l I I
REBRIBIE LR
Subject to technical changes
i fli#3 1% SPECIFICATIONS
\ gk DRY BEEREN = \
o Max. pressure Weight ‘
‘ Model Distributing MPa(kgf/cm?) kgs ‘
RV-31H 41q (aF]H) 4.0(40) 74
RV OJRHEE - (Note:RV can be custom-made.)
o0 [Bf 2 B A\ ZX FE oo B F
RV-A ZE B EEE 5 7 EEL
AIR ROTARY VALVE
4~M8 2x4~RC1/4”
Screw hole Dlstnbutlng port
12T bk
M| —7
L i =
of o7 T
T 5 O— @ 8
I YO )
e & | "
ﬁ ﬁ 1=
. — 2(4)~RCL/4"
T Pressure Port #57L
5 12‘ 37.5 25 18
125 I I
REBIRABIE B HOHER
Subject to technical changes
B ii#i4& SPECIFICATIONS
RISk DmEl SN e ) =
o Max. pressure Weight
Model Distributing MPatkgf/cm?) kgs
RV-A31H 4@ (IF]H) 0.8(8) 4.8

2t RV-A T2 =% - (Note:RV-A can be custom-made.)

AUTOGRIP



’ RJ-80 ilmEumEs
COOLANT ROTATING JOINT

SR - SERNRALARDEEE -
RENLEKEERBESE RIBEEERKY - MERRLE -
Coolant joint for high speed, high pressure. Usable for oil and water-soluble
coolant.

® Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.

AKEMEIR RS BN - FEE -
The joint should not run without liquid through coolant port.

M16x1.5 LH 25

9 (or 5/8-18UNF - LH)
O 5%
Q
c@@ ) =ik . O
I 18— 28
RC1/8"(Di / o ‘ j \J
©) >~ / ;| | 19
45° T . 30 1 ‘ 12 |5/ 15
28 RC1/4”(IN) 1 ‘ 65
122
IREBIRIEIE LAY Subject to technical changes
i #+E SPECIFICATIONS
itk PVPRHIME MPa- r/m B =15 F B JIMPa(kgf/cm?) Nt (5B 50 kgf/cm?) SEREEE(rp.m.) E2(kg)
Model PV Limit value MPa:r/m Max. pressure MPa(kgf/cm?) Delivery amount (at 50 kgf/cm?) Max. speed (r.p.m.) Weight (kg)
RJ-80 14400 6.0(60) 28 |/min 8000 0.5

M RI-92  EmEmEEA KRS 8

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

SNURERRN - EEEI -

SEY  SENRLNREEER -

AEIEKEERBES S RIFZMRERRY - MEFRMERE -
EBERWNERREEE  RIKEERREE - ELEKEAREZEMRER -

Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble

coolant.

® Seal bushing inside is made of cemented carbide and ceramics,which provide
higher wear-resistance.

® The seal will depart automatically if no liquid passes during,operation, and will

not be dmaged due to dry touching.

B/\BIENE 7] 4kgf/cm? -
Min. pressure is 4kgf/cm2.

M16x1.5LHZAF

@}

(IRt : .

RC1/4(IN) 9 24.2 RC1/8(Dr) 9185
98.5

]}Jme.es g6
TF
SOSPR -

\\:./J

45
|
|
|
|
f
\

7

]
[

IREBFIBIE AR Subject to technical changes

F2 i #24% SPECIFICATIONS

HlgR PVPREIME MPa-r/m  E&ERE MPakgf/cm?) | MEHE (ERES 50 kgf/cm?)  REEAEEH(p.m) S/NOBEIET MPakgf/cm?)  Z2 (kg)
PV Limit value Max. pressure Delivery amount ‘ Min. pressure g
izt MPa: r/m MPa(kgf/cm?) ‘ (at 50 kgf/cm?) v peed (pim) MPa(kgf/cm?) il i )
RJ-92 17500 7.0(70) 28 1/min 10000 0.4(4) 0.46

autocrip 90



SJ ZEELEN (—)
STANDARD SOFT BLANK JAW

S-13

5-6 s-7 s-8 s2

T =] 2 |
7l ] |
i T T |
[ _ ] __ J o \
T ! Serration Df——=
so| || \__BreEgE 54
|
S-12
S R <) DIMENSIONS (RERIEEAIRER Subject to technical changes
itk bz i R —MEE
S-1 | S-2 S3| S4 |S5|/S6|S7 S8 |S-9|S10|S-11 | S-12 |S-13 . . . 3 Jaw Weight
MODEL Serration Pitch Matching Chuck @
SJ-04 52 023 2310 5 10|14 28 | 914 13 M8 3 1.5x60° 3H-204, 3P-04 0.5

SJ-05 62 | 25 30 10 |5 10| 14 38 9 14 20 M8 35 1.5x60° 3H-205, 3L-205, 3P-05, 3M-05 0.8

SJ-06 73 31 36 12 5|15 20 38 11 17 24 M™MI10 14 1.5%x60° 3H-206, 3L-206, 3P-06, 3M-06 15

SJ-08 95 35 37 | 14 |5 24 25 46 13 19 22 Ml2 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 24

SJ-10 110 | 40 42 16 5 30 30 50 13 19 27 MI12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 37

3H-12, 3H-212, 3L-212,

SJ-12H | 130 50 50 | 21 5 40 30 60 17 25 30 Mle 23 1.5x60° 3V-12 3P-12, 3M-12 6.3
. 3H-12, 3H-212, 3L-212,
SJ-12P 130 50 50 18 5|40 30 60 16 23 30 M14 23 1.5x60 3V-12 3P-12, 3M-12 6.5
R 3H-15, 3H-215, 3H-18, 3L-15,
SJ16H 165 62 | 62 22 8 37 43 | 8 21 32 37 [M20 - 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 12.6
. R 3H-15, 3H-215, 3H-18, 3L-15,
SI-6P 165 62 62 255 6 37 43 85 21 32 37 M20 - 15x60° 7T CCRIITRIUT 125
3H-221, 3H-224, 3H-232,
SJ-21 180 64 70 25 9 40 60 80 21 32 45 M20 - 3.0x60° 3P-221, 3P-224, 3V-21, 3V-24, 15.8
3V-32
*SJ-12H 7% 12" RERHMECH - (12"Chucks are originally equipped with SJ-12H.)
*SJ-15P % 15" FRBALMECH - (15"Chucks are originally equipped with SJ-15P)
3U H&§E =7 £ % AE T1 STANDARD SOFT JAW FOR 3U CHUCK
E L L
F -
~ P
g <| [ “HY
< l ] O | LY - ?
SE S N ——
& =7 LN
SRl >
H ]
o " 120
for 3U-203
9}‘&”)3?” DIMENSIONS REBRBIELAER] Subject to technical changes
-
= A B c D E F G H J K L
MODEL
3U-203 55 11 9.5 66 12 c3 7 3 26 7 15
3U-204 6.6 11 11 84 17 C4 11 3 32 9.5 20
3U-205 9 135 14 108 20 (@ 12 3 415 13 24
E!ji
B?TJ 3U-206 11 15 17 129 30 Cc6 20 3 50 17 30
& 3U-208 13 17 20 156 34 Ccé 22 3 63 20.5 35
=t 3U-210 15 20 22 187 39 (€9 24 4 74 23 40
u 3U-212 15 18 22 234 44 C6 29 4 72 23 40

91 AuToGRIP



SJ ZEEM ()
STANDARD SOFT BLANK JAW

2D/3D gE 7 ZEX#EA T Standard Soft Jaw for 2D/3D chuck
$ N
K

D D

for 04"~06" for 08"~15"
IREBRIEIELRIER]
Subject to technical changes
AhEY R ~F DIMENSIONS
Bl
A B C D E F G H J K L M N
MODEL
3D-04 22 13 25 52 17.5 11 19 8 19 - 25 8 5.5
3D-05 27 15 25 56 20 13 23 8 23 - 30 8 5.5
3D-06 34 21 3 70 23 155 27 10 27 - 35 10 6
3D-08 445 29 3.5 84 19 13 31 12 18 26 40 16 7
3D-10 495 32 35 100 22 15 38 15 22 32 50 18 7
3D-12 54.5 36 3.5 120 26 18 42 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 60 20 40 40 70 24 10
O oh
3E KB Z1ZEEA T Standard Soft Jaw for 3E chuck
A
G
IQBI
|| ‘
I R B
E]: / !‘ N
_ T .
ol F i X X -
e o
I - o _
I
E] |
1EHE A AR 1E#E A TIBHY
TYPE A TYPE B
IREBRIEIELRIER]
Subject to technical changes
HhEY R ~F DIMENSIONS
Bills
0 A B C D E F G H J K L L1
MODEL
3E.05 AR 20 11 6.6 16.5 10 cs 25 22 29 345 39 -
BE 20 11 6.6 15 25.5 c5 25 30 29 425 39 69
3E.06 AR 23 11 7 19 13 cs 31 27.5 44 46 54 -
BE 23 11 6.6 18 36 c5 31 37.5 44 56 54 92 =
AR 30 14 9 25 15 c6 35 36 50 56 62 - fy
3E-08 .
BE 30 14 9 24 41 c6 35 56 50 76 62 112 o
3E-10 AR 35 17.5 11 26.5 17.5 c5 40 40 60 64.5 70 - =
B# 35 17.5 11 26 475 c5 40 71.5 60 96 70 129 1th

AUTOGRIP 92



SJ ZELN (=)
STANDARD SOFT BLANK JAW

3R a7 IZ#EA T\ Standard Soft Jaw for 3R chuck

(T :}
NN o

IREBIRAB SRR
Subject to technical changes

4MEYR < DIMENSIONS

S

MODEL

A B C D E F G H J K L M N P Q R S

3R-08 295 | 13 35 82 20 14 27 12 55 30 5 14 26 90 2 40 16

3R-10 305 | 15 35 | 102 | 23 16 37 15 65 30 7 21 32 90 2 40 18

3W g8 7 Z#E AT Standard Soft Jaw for 3W chuck

@ ©
@ @°¥ ” ” |-
+
4T ©
M N 'V’L—N"
D D
2E L 2E L
| | | | | |
< | | | |
k| <@ | | | |
i | 1 |
‘ ! L I !
T ol 1 f T ot il
o o FX P o olH I3
IEREA AR L TBEY
TYPE A TYPE B
REBAIBIEUAER]  Subject to technical changes
AN R ~F DIMENSIONS
Bills 3
A B C D E F G H J K L M N P Q R
MODEL
AR 60 44 | 35 8 20 13 | 35 1268 30 120 57 16 | 38 794 7 -
3W-08
B & 60 48 | 35 8 17 11 | 35 1268 30 | 120 57 19 32 794 7 125
AR 64 495 | 35 100 20 13 | 40 1903 30 @ 120 70 178 | 444 127 7 -
3W-10
- B & 64 50 | 35 100 17 11 @ 40 1903 30 120 70 22 | 36 127 7 17
fy AR 64 495 | 35 100 20 13 | 40 1903 30 @ 120 70 178 | 444 127 7 -
" 3W-12
. B & 64 50 | 35 100 17 11 = 40 1903 30 | 120 70 | 22 36 127 7 17

=

\
/t

3

“3W RFIBTAHEECSS MM, RIBLAHEHRESRANAERN, STREE.

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

93 AUTOGRIP



’ SJ I?A%D%RIDT\S(gFITEBBANK JAW

3MF B8 71 Z#E4A T Standard Soft Jaw for 3MF chuck

| K J
D
OE M
i |
m IF i
< [
[[T | & ]
— L]
© H LN L N &
G
REBIRAE AR
Subject to technical changes
MBS R~) DIMENSIONS
Eith =MEE (kg)
Wenel A B C D E F G H J K L M N P 3 Jaw Weight
3MF-20 70 48 6 160 25 17 80 19.03 | 76.2 419 Ml16 50 12.7 115 104
o o
AP 3&ga 7 XA T\ Standard Soft Jaw for AP chuck
| S-1 |
S6  S-7 | S-8 S
L | —
Ay i S410
I I
T T ol | T1
odhosssood H——
ol - Serration ‘ S-4
s-12 /| S9 PrenEne
REBINEE IR
Subject to technical changes
MBS RI~) DIMENSIONS
e S-1 S-2 S-3 S-4 | S-5 S-6  S-7 S-8 S99 S-10 S-11 | S-12 PR AR =M ()
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-145 165 62 62 255 9 37 43 8 | 21 | 32 38 | M20 3.0x60° AP-145, AP-185 122
SJ-185 165 62 62 255 9 37 | 43 | 8 | 21 | 32 38 | M20 3.0x60° AP-145, AP-185 122
SJ-230 180 64 70 255 9 40 | 60 80 | 21 | 32 | 45  M20 3.0x60° AP-230, AP-275 16.1
SJ-275 180 64 70 255 9 40 | 60 80 | 21 | 32 | 45  M20 3.0x60° AP-230, AP-275 l6.1 =
SJ-320 210 75 80 | 30 9 40 | 60 | 110 | 26 | 38 55 | M24 3.0x60° AP-320, AP-375 247 Eﬁ
BA

I

\
/!

=

AuToGrIP 94



AR (—
’ HJ STANDARDH&RDEIZIEDJAW

H-1 H-1
pa H-6 _ H-8 H-6 H-8
; w H-2
T j‘ } |
| — T
R -
@ H-10 | H-10 SIS
Tic w | z ‘ ‘\ | L[]
T I EWJ ol l‘ii‘ ‘ ; ‘ : m? pRITIES
iy S ‘ R —
12 /1 J b gy w ] el N\ T byl
Fig. 1 Fig.2
ShES R <) DIMENSIONS
Eitl] HrEaEnsE B A TR “MEE  2EE
3 Jaw
H-1 H-2 H-3 H4 H5 H6 H-7 H-8 H-9 H-10 H-11 H-12 H-13 : ‘
MODEL Se{,ﬁct;:’” Matching Chuck Weight Rgfgmcge
kg
HJ-05 53 23 2810 4 30 14 23 185|135 10 M8 6 1.5x60° 3H-204,3H-205 1 Fig.2
HJ-06 67 |31 36 |12 5 385 20 285 11 17 12 M10 10 1.5x60° 3H-206,3P-06 1.7 Fig.2
HJ-08 87 |35 51 14 5 32 25 18 13 | 19 12 M12 12 1.5x60° 3H-208,3P-08 2 Fig.1
HJ-10 102 40 54 16 5 39 30 23 13 19 13 M12 16 1.5x60° 3H-210,3P-10 3 Fig.1
3H-12,3H-212, 3L-212 .
*| - o U r r
HJ-12H| 103 50 52 21 5 625 30 405 17 | 25 17 M16 30 1.5x60 3V-12.3P-12, 3M-12 35 Fig.2
3H-12,3H-212, 3L-212 .
*| - o 4 r 1
HJ-12P| 103 50 52 18 5 625 30 405 15 | 22 17 M14 30 1.5x60 3V-12.3P-12, 3M-12 3.6 Fig.2
3H-15, 3H-215, 3H-18, 3L-15 .
*| - o I ’ g
HJ-15H| 149 62 8 22 8 63 |43 |34 21 | 32 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1
3H-15, 3H-215, 3H-18, 3L-15 .
*® - o I ’ g
HJ-15P| 149 | 62 | 86 |255| 6 | 63 | 43 | 34 | 21 | 32 | 20 |M20| 43 |15x60°| o\ Tiov oy rane o o an Sial 95 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1595 80 90 | 25 9 1045 50 55 21 32 40 [M20 55 3.0x60° 3P-221,3P-224,3V-21, 143 Fig.2
3V-24,3V-32
*HJ-12H -~ HJ-12P « HJ-15H - HJ-15P EFRRIFEER H-4 IR~ -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
i
3MF 12248 11
STANDARD HARDEN JAW FOR 3MF CHUCK
LA A
o -
H-7 H-7
H-1
H-6 H-8 H-2
|
[ [
—
N H110 1
T 2
® ‘ I I
T 2
5 EE 2| | HEEH
I T i
—— ) ===
H-15 H-9 H-4
= H-12 :H
M{J IREBMABIELAEF] Subject to technical changes
1§F 5V 2} DIMENSIONS
5t
= sk 3 A 508 =MEE kg
H H-1 | H-2 H-3  H4 | H5 H-6 H7 H8 H9 H-10 H-11  H-12 | H-13 H-14 H-15 4 :
#h Model Matching Chuck | 3 Jaw Weight
3MF-20 135 50 76 | 127 9 70 | 381 65 17 26 40 Mle 40 32 19.03 3MF-20 6.7

95 AuTOGRIP



ZRAERE (—
’ HJ STANDARD H,gRDEIzIED JAW
AP 1Z#Ef& T STANDARD HARDEN JAW FOR AP CHUCK

k@ e %

Clamping range H-7 | H-7
| H-2
= aimim
% SEEE | 0| @
e | T T
E‘\ 1
- ‘.:‘:
g
REBIRBIEAYHER) Subject to technical changes
YR~ DIMENSIONS
BI5E Hreasfie EAREE =NE=E kg
H-1  H-2 | H3 H-4 H5 H-6 | H-7 Al S
Model Serration Pitch Matching Chuck 3 Jaw Weight kg
HJ-145 191 55 | 73 [ 255 9 92 | 38 28-120 420 3.0x60° AP-145 125
HJ-145 191 55 | 73 |255| 9 92 38 28-155 460 3.0x60° AP-185 125
HJ-145 191 55 | 73 [ 255 9 92 | 38 60-235 535 3.0x60° AP-230 125
HJ-145 191 | 55 | 73 |255| 9 92 | 38 | 105-280 580 3.0x60° AP-275 125
HJ-320 243 75 82 30 9 | 110 50 | 100-295 658 3.0x60° AP-320 246
HJ-320 243 75 82 30 9 | 110 50 | 175-375 738 3.0x60° AP-375 24.6

o
%
]

\
/

I

\
/!

=

AuTOGRIP 96



g? °
s
= N ¥
(e /AN
w = (\ (\ o
- 7 A T8 Lo re
T5 [T 2-T8 T4
‘ \_A T4 T5 T6 :'l)_ -
] LA
‘ T 17 [N —
‘ J 1 L'ﬁl ® \ B HiRE
: 1 o : ] : i
| | ! f f !
T1 ‘ T2 Tt T2
TN1 TN2
TN3-221
e = a1
Sl i AN s
e [y \ [y
2
@ (S5 aE N
X1 ‘ﬂ —L TN4-221 T8
QT T4
‘ \ _ O _ T4 T4
[ 1 - |
i e il ~ T
NEE a2 L "l [ I F
VB \%° K ) L I |5 &
|oTs| T2 s AT b
oT5 T2 1 .
(REBIRIBIE LT
Subject to technical changes TN3 TN4 TN5
§ME R~ DIMENSIONS -
B BAKE =RE8
T1 T2 T3 T4 T5 T6 T7 T8 T9 | T10 @ T11 3 Pcs Weight
Model Matching Chuck
kg
TN1-04 26 14 15 10 14 6 95 M8 5 - - | H-204,H-205, P-04, P-05, L-205, M-05, SP-304 0.06
TNI06 | 36 17 185 12 20 8 11 M0 6 - - o200 P051206,11:06,M05 3N-06,APS2, RAPSOS, )5
H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
TN1-08 465 20 205 14 25 105 12 M12 10 - - peoie’cl o 0.27
H-10, H-210, P-10, L-210,1L-10, M-10, 3N-10, 4T-10,
TN1-10 | 51 | 22 |215) 16 | 30 | 11 | 13 |M12) 11 | - | - | Jont onlotaeno 0.36
*TN1-12 555 295 28 21 30 12 167 M16 13 - | -  H-12,P-12,1-12,M-12 0.63
TN2-12 555 295 28 21 30 12 167 M14 13 18 45 H-12,P-12,1-12,M-12 0.63
. H-15, H-18, H-18B, P-15, P-215, P-218, L-15, M-215,
TN115 80 35 39 255 43 17 20 M20 14 - - LTl 1.53
H-15, H-18, H-18B, P-15, P-215, P-218, L-15, M-215,
TN215 | 80 | 35 | 39 |255| 43 | 17 | 20 |M20| 14 | 22| 6 | ottt 15
*TN1-212 56 295 235 21 30 12 12 M16 10 - - | H-212,1-212,V-12,4T-15,AP-115 0.63
TN2-212 | 56 295 235 21 30 12 12 M14 10 18 4 | H-212,1-212,V-12,4T-15 AP-115 0.63
*TN1-215 80 35 34 255 43 17 19 M20 14 - -  H-215,1-215 SP-316 1.32
TN2215 80 35 34 255 43 17 19 M20 14 22 6 @ H-215,1-215,SP-316 1.29
TN3-21 | 46 375 45 25 26 - 26 M20 - - | - P-221 P-224,M-221, M-224,V-21,V-24,V-32, 1.84
TN3221 45 36 38 25 28 - 22 M20 - - - | H-221,H-224,H-232, SP-320, SP-324 0.69
E‘—ﬁ TN4221 45 36 38 25 28 - 22 M20 19 - | - | H-221,H-224,H-232, SP-320, SP-324 0.63
s TN5-185 32 35 30 255 - - 19 M20 - - - | AP-145 AP-185, AP-230, AP-275 0.15
B
= TN5-320 36 42 39 30 - - 24 M24 - - | - | AP-320,AP-375 0.24

ft

*TN1-12 & TN1-212 % 12" FRBEHRRECH - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
*TN1-15 & TN1-215 % 15" FRER RS - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

97 AUTOGRIP



’ FL NEEN N
CHUCK ADAPTORS

Counter Bore Counter Bore Counter Bore
U L STEET U BB TIERT, U $B445TFETL
=
O = { J/ O =y, qu 4‘;
7 7305(l = 7°7'30 .
7°7'30"{Z>i * ]
N = al o N7 TD o N3 alol <
88 11§ & 88i®® 88 SIRSIES]
E Tap hole
E1 Screw hole E1 Tap hole aaane 4
N = L BBE4 T, E1 L 98447,
(RBRIFIEIELURIER L W.?%%@?rt
Subject to technical changes
' ’ FL1 FL2 FL3
HMEY R ~F DIMENSIONS E—
y B3t —
odel A C D D1 D2 | E|EL| L | U A V\/(elz(lg)ht
g
FL3-04A24 110 85 70.6 63.513 82.6 8 | 28 M10 M10 3H-204, 2H-204 1.12
FL3-04A25 140 85 706 82563 104.8 55 32 M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 110 826  63.513 | 96 - |15 |[M10 M6 3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
FL3-05A25 | 135 110 826 82563 1048 6 30 M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 - 1401048 82563 116 - M10| M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
FL3-06A26 165 140 104.8 106375 1334 6 35 M10 M12 21-206 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06, 312

3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06

3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,

4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3)-08, 2J-08,
FL2-0BA25 | - 1701334 82563 1048 - 23 M12MI10 3p 08 3y-08 30-08 27

*3L-208, *2L-208,
2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,

EL1-08A26 - 1170 1334 106.375 150 @ - 17 M12 Me | 3E-08,3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 155
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
3L-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10, 4T-12,
FL2-10A26 = - 220 1714 106375 1334 - | 25 Ml6 M12 3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2)-10, 3R-10, 3Q-10, 5.02
3W-10, 3W-12
2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L-12, 3P-12, 2P-12,
FL1-10A28 = - |220 1714 139719 190 - 18 M16 M8 3M-12, 2M-12, 4T-10, 4T-12, 3E-10, 3D-10, 2D-10, 3N-10, 273
3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL2-15A.8 = - 300 235 139.719 1714 - | 33 M20 M16 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 12.52
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL1-15A211 - 300 235 196.869 260 | - | 22 M20 M10 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 6.03
FL2-21A28 = - |380 330.2 139.719 1714 - 33 M24 M16 3H-215,3P-221, 3P-224 22.05
40 3H-215
FL2-21A211 - 380 330.2 196.869 235 | - M24 M20 16.28 =
*27 *3P-221, *3P-224 Bt
FL1-21A215 - 380 330.2| 285.775 330.2) - 27 M24 M12 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6 #
5t
FL2-40A215 - |520 463.6 285775 330.2 - 40 M24 M24 3H-224 43.26 o
FL1-40A220 - |520 463.6 412.775 4636 - 27 M24 M12| 3H-224,3H-232 13.55 u

o SRIMRRTEEL E ARG, MIREMAE. (Models with "*" mark are produced only by order.
AuTtocrip 98



’CTICT'S EXKSHRTREIEE
COOLANT COLLECTOR WITH STROKE CONTROL

o TIMfMTREREEMRMBMNEE(ERK) -
® The proximity switch and linear Sensor are optional.

1TTETERDEEE - (#EEC ) The proximity switch is optional.

BE BEAE B RS
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I %% Terminal Connections

+V OP1 oV
#% BROWN = BLACK & BLUE
BERMRELERNEE .
linear Sensor installation drawing
ks o il e +DC10~30V
)
OUTPUT OP1
hd Ay
LOAD
7 - o OV ° OVDC
CT-S
h.h
& 1hr
I
4 1
| . e
w| | =
F 4]
R T T T
‘ e B
o prl 10 ——
<
— CT-04/05:
== \pTam o
@33 15 S R — Y
(CT-04/05:926.5) c = =
REBRIBIE LR CT-24/28: @60
Subject to technial changes ( ) %ﬂ(% %ﬂ(%@*ﬁ ﬁ 1%
Coolant Collector Coolant Collector with Detecting Ring
SN R~ DIMENSIONS
E2Weight (kg) HEREEE
Model A B C D E F G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 11 | TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 11 | TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 11 | TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 | 120 645 94 12 16 18 o TCAGHGTICBOd6 TCRde,
CT-08/CT-08S 110 138 80 39 130 71 105 13 1.8 | TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 88 43 160 945 | 145 1.9 26 mi\é;)gs,mmws, UL
- CT-12/CT-12S 158 | 185 88 43 160 | 945 = 145 1.9 26 | TK-A1287, TK-A1291
Iy CT-15/CT-15S 206 235 100 50 210 | 121 190 3.1 43 | TK-A1511, TK-A1512
g CT-21/CT-21S 226 | 255 | 100 50 210 | 131 210 33 46 | TK-2114
% CT-24/CT-24S 250 = 270 100 50 230 | 154 @ 248 35 5.5 | TK-2416, TK-2416L
f
CT-28/CT-28S 310 | 330 100 50 260 | 181 | 305 43 72 | TK-2820

99 auToGRIP



EXKEHRTREEIEREE
COOLANT COLLECTOR WITH STROKE CONTROL

A cT-sB/cT-SBS

Ol INT R R AR B AR MR A S B (ER) -
MARBEKE#EEGA0MO60(EE m) -
D60HFKE R R CT-S08B ~ CT-S10B -

The proximity switch and linear Sensor are optional.

Drain port @40 and @60 are optional product.
Drain port @60 only use to CT-S08B,CT-S10B.

TIEMREE - (E ) The proximity switch is optional.

BE BERE B HRE
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN
I+ 3#1% Terminal Connections
. +V oP1 ov
BUBHNEELRETRE # BROWN @ BLACK & BLUE
linear Sensor installation drawing ™ -
+ +v +DC10~30V
Bl
OUTPUT op1
4 ° &
LOAD
- - pel ® OVDC
CT-SB CT-SBS
& [%) f
12 I VA
2G1 RS
@40 | T
@ 40 HEKEHR ot e
Drain port
RERY w ==t a
[ I
\ \ ]? =
X g = P et
L] w =S s
| e S .
o6z 26 D
260 233 (l,
QGOS?HK%‘%EEE
rain port - o A o
BB EKE SEXKEEBEIR
(FBRROnly use to . . .
CT-508B/CT-510B) Coolant Collector Coolant Collector with Detecting Ring
RBIEIEBLORER
Subject to technical changes
SNEY <) DIMENSIONS
S 2 Weight (kg) A E L
Model A B C D E F F1 F2 G Gl G2 H J
CT-SB | CT-SBS Matching cyl.
CT-S05B/CT-S05BS 97 120 /1683333 96 496 56 - 25 32 - 62 86 11 16 TS-539, TR-539 -
CT-S08B/CT-S08BS 133 1160 | 82 40 130 496 56 63 25 32 52 82 130 09 14 TS-866 Eﬁ
CT-S10B/CT-S10BS 160 | 188 | 88 43 148 496 56 63 | 25 | 32 52 96 148 116 29 TS-1081 iz
=

autocrip 100

=




FV UKt EEEAE
STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

Model:FV-01
2~M6
Screw hole 20%0.2 ©
[ \ ‘ |
NN L] e
NN Y T
| G N1 _Q
| # hiidiAndE
A1 C1 B1 | IFQ(\ ﬂ;f“’ A1 C1 'B1
AT C B 45+0.2 ‘
RC1/8" 70
Airtight detection port
KREBAL
A C B
Circuit drawing Model:FV-03
EigE
2~M6h | 600.2
Screw hole
) S 3 =
Qola0O— R
A ey 8
R | 1\ ©
1 ! ! N
i Al CI~_gg [BL
Eﬂ 5 2@8) 681(;.2@
105
RC1/4"
Airtight detection port
KREBHAA

FREBFR IS AR
Subject to technical changes

o
%
£

\
/A

I

\
/t

3

101 autocriP



hZERR RS
’ DRAW TUBE THE:IC:ALCU:I'_:A'I\'?ORNECBFB'_RAW TUBE LENGTH

Piston Cylinder Adaptor Chuck Adaptor
HEEETARE 2 HRPREFER

c _
M1 = K max Cylinder Draw Pipe —
. I B HIE
= L — FELL SN — /AR

81 T 1 i [ )
UENLITE it
L

A"
G1 max
th 2241142 5% B Detail of Draw Tube
L=A+G2max.+H-G1max.+M2+M3

REBIDAEEBE R

Subject to technical changes

$ 54248 SPECIFICATIONS

TRFRARAE DEATRAE Gl G2 01 K E
H M3 | M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 2312 35| 28 M100x2 35 95 :ggig M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 | 12 45 | 33 M130x2 45 | 125 :83;2 M130x2 5 A+81+12
3H18 Al TK-AIS12 30 33 12 45 33 M3 45 125 Joo0 MI30K2 | S A+81+12
FEFRFRAE LEARAE Gl G2 01 K E
H M3 | M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.

3H-204 | A4 TK-A528 12 145 10 | 25 315 M38x1.5 20 | 35 :8855 M38x1.5 5 A+59+10
3H205 A4 TKAS33 12 17 10 25 16 M3&L5 25 35 000 M4sAS 5 A+46+10
3H-206 | A5 TK-A646 15 | 14 10 @ 25 28 M55x2 20 50 :88?5 M60x2 5 A+52+10
3H-208 | A6 TK-A853 20 165 12 | 30 335 M60x2 20 | 55 :882 M75x2 5 A+60+12
3H-210 | A8 TK-A1075 25 21 12 | 35 285 M85x2 25 | 80 :882 M95x2 5 A+59.5+12
3H-212 A1l TK-A1512 30 23 | 12 45 | 32 M130x2 30 | 125 :88‘813 M115x2 5 A+70+12
3H-215 | A8 TK-2114 35 1 33 17 45 44 M155x2 40 | 145 :8823 M115x2 5 A+87+17
3H-215 A1l TK-2114 35 | 33 17 45 51 M155x2 40 | 145 :88;; M155x3 5 A+93+17
3H-215 A15 TK-2114 35 33 | 17 45 | 38 M155x2 40 | 145 :8833 M155x3 5 A+81+17
3H-18B  A15 TK-2416 35 35 | 17 45 | 45 M180x3 40 | 170 :8823 M175x3 5 A+90+17
3H-221 | A15 TK-2416 35 34 17 45 42 M180x3 40 | 170 :884812 M190x3 5 A+86+17
3H-224 | A20 TK-2820 51 35 | 17 45 | 42 M220x3 40 | 210 :8332 M225x3 5 A+71+17
3H-232 | A20 TK-2820 51 37 17 | 45 51 M220x3 45 | 230 :88;2 M295x3 5 A+82+17

#F2HA4AH B IR REFTER 3H - 3H-2 B 5 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)

o
%
]

\
/

I

\
/!

=

Autocrip 102



PEHIEEE T E
’ DRAW BAR TH EECALCU:'L:A'I\'?ORN I:(l)F_)I;_RAW BAR LENGTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
WEGERER HIg /3@5?@%*&
L
K1 K2 —— =\ .4 i
" T ?
= i====/s
4 < —+H
C B Ja '/
L Cylinder [
JEEEE J
N
G1 max. (3P-04,3P-05) | (G2)min.
1
thE $1#25% B Detail of Draw Bar G2 min. g%gck
AR
L=A-G1max.-G2min.-4+C A
(REBFEIEBAORER
Subject to technical changes
¥ 1ilT#34% SPECIFICATIONS
pYFich el Gk Gl G2
B C D K1 K2 L
Chuck type Cylinder type max. min.
3P-04 RK-75(N)/RA-130 30 30/20 @ 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 @ 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 = 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 = 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 = 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
5t 2P X Z MR REETER 3P 2 - (Note:To calculate the draw-bar length of 2P as 3P)
FEFERI T ek Gk Gl G2
B C D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 81.5 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

7 2M B 2 AR REFTER 3M 2R - (Note:To calculate the draw-bar length of 2M as 3M.)

o
%
£

\
/A

I

\
/t

3

103 autocriP



NOTE

autocrip 104



NOTE

105 autocrip



NOTE

autocrip 106



AUI 'GP

www.autogrip.com.tw

AEEERRE, FRRHERBEEZEN, IEEERTH1TEN,
We reserve the right to modify the specifictions without prior notice.

B4,

== 2o ) 3| F= AN I\ —
1E BRI AR S
AUTOGRIP MACHINERY CO,, LTD.
513006 #{CFAIH OVABERAEE R —ER 220 5%
No. 229, Sec. 1, Mingsheng Rd.,, Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719
F +886-4-823-5719
E sales@autogrip.com.tw
www.autogrip.com.tw



	AUTOGRIP_Cover_202208001_1
	Foreword_20220922
	01動力夾頭
	02特殊動力夾頭
	03橡膠筒夾
	04立置式夾頭
	05手動夾頭
	06展刀搪溝頭
	07同步夾具
	08空油壓迴轉缸
	09迴轉分流閥迴轉接頭
	AUTOGRIP_Cover_202208001_2



